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Maharashtra Non Gazzeted Services Examination

(Group B and Group C)
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Maharashtra Non Gazzeted Services Combined Preliminary
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Gr B & C Combined Preliminary Examination - 100 Points
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History of Modern India especially of Maharashtra (15)
Europeans & Anglo - British Wars
British Administration - Role of GGs & viceroys
Constitutional and reform Acts, laws during British Rule
Sociorelegious reforms
Education & Press
Economic Impact of British rule
Rise of nationalism & political organisations
Militant Nationalism
Congress Party - Founders, Sessions, Resolutions
Freedom movement - Congress, Swadeshi, Noncoopeartion, Civil Disobedience, Quit India
Farmers agitation and agricultural reforms
Labour movements & Trade Unions
Muslim League & partition
Independence & related issues
Samyukt Maharashtra Movement

e § 9 7T & YEURISRITS! SUGth HeHug : srfegaw / 4



For Private Circulation Only

() YIS (TERTETAT ST A9 IRIRR)
% G, STIIKIte [T, §aTHIH, ST&TieT-X@ieT, TERTERIG SIA-Td ThR, USt=dT, Wi fids, oTeR, =7,
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Geography with special study of Geography of Maharashtra (15)
16) Earth - Solar System
17) Latitude and longitude - Standard & Local Time
18) Earthquakes & Volcanoes, Rocks, Geographical Features
19) World divisions - Mountains,
20) Climate - Atmosphere, Winds & Ocean Currents
21) Rainfall
22) Rivers - dams & projects
23) Physical geography - Mountains, Planes, Plateau, Desert, Coastal areas, Islands
24) Forestry - Vegetation & Environment
25) Soil types in Maharashtra
26) Major crops - Agriculture
27) Cities
28) Economic Geography - Minerals and Energy Resources, Transport & Tourism
29) Industries
30) Political Geography - Population, Languages, Tribes and Races, Locations & Boundaries
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% YR ISTLSHT YO 3T, X1 SaRATIH (TRAA) , U1 A9+ (F9TRI)
39) <fouE |, |id, A, i
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33) HeMdT ge/UBAIR, Sidl, Thel
39) HTT ORI, STRINT ST Heed
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Civics (10)

Constituent Assembly, Sources, Committees, Symbols

Preamble, Salient & Basic features, articles

FRs, DPs, FDs

Amendments,Commissions and Boards

Centre - State relations, New States

Judiciary & Indian Union

State Government and Administration - Executive, Legislature
Evolution of LSG, 73rd & 74th Amendment

Grampanchayat, Taluka Panchayat, Zilla Parishad & Rural development
District Administration
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Economy - Indian Economy & Government Economy (15)
National Income - GDP, GVA,
Inflation - causes, effects, control, measures
Agriculture - Rural Development & Co-operative sector
Industry - Infrastructure and Services Sector
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Economic reforms - Sectoral growth, MDG, SDG, Macro Economics
Foreign Trade - Volume, direction & structure

Banking - Credit and Monitory policies

Population - Demographic cycle, Population Policies

Poverty - Concepts, Measurement and estimates of poverty, Alleviation programs
Employment Generation programs -

Development Programs - with respect to women, children, senior citzens
Monetary and Fiscal Policies - Taxes

Budget

Public Expenditure

Accounts & Audit

(4) 9= fasm=
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General Science (15)
Dynamics, Heat, Waves - Light, Sound, EM spectrum
Electricity, Magnetism,
Nuclear science, Astronomy & Space science

Periodic Table - metals & nonmetals
Chemical reactions - acids, bases, compounds
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Organic chemistry - hydrocarbons, insecticides, Fuels, Gases, Fertilisers
Classification of animals and examples

Anatomy and Physiology wrt animal body

Useful and Harmful animals -Animal Husbandry, Dairy, Poultry

Classification of plants and examples

Anatomy and Physiology wrt plants

Useful and Harmful plants - Horticulture and floriculture

Human body system - CNS, CVS, GIT, Musculoskeletal, endocrine, Excretory
Health & Diseases - vectors, agents, diagnosis , treatmet & programs

Food and Nutrition -Macro, micro, minerals, vitamins
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Current Affairs (15)

* Political events

World Organization, International Relations, Human Rights Events, Defense Events

National Political Events - Elections, Administration, Judicial Results, Commissions, Laws and
Amendments, Agitations

* Economic and financial events

Global economic developments, foreign trade, industry and infrastructure developments
Budget & Public Finance, Banking & Finance, Agriculture & Rural Development, Poverty &
Unemployment

* Current events wrt Science & Technology

Energy Technology and Nuclear Projects, ICT, Space Science

Scientific institutes and researchers, biotechnology, pathology

* Social and educational events

Social security initiatives and inclusiveness

Events in education and health sector, job creation and skill development

Geographical and Environmental Events - Lights, Political Geography, Environmental Councils,
Conservation, Laws, Disaster Management

Appointment, appointment and person in the spotlight

Prizes, awards and honors

Sports Events - Sports Competitions, Athletes Performance, Awards & Honors, Light Players &
Coaches

Cultural and Tourism Events - music and dance, movies, travel, institutions and monuments
Literary Events - Books and Writers in Prakashjota, Marathi Sahitya Sammelan and other activi-
ties

General Knowledge - Important days and years, first of all, the biggest / smallest, historical
events
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Mental Ability test and Arithmetic (15)
General Mental Ability (7)

Sequence and series

Coding-decoding, Analogy, Comparisons, Classifications
Machine input & Symbols

Syllogism, Judgements, Drawing inference, Statements - Arguments and Conclusion
Sitting arrangement

Blood relations, Ranking Test, Comparison

Qs on figures

1. Construction of squares and triangles

i1. Series

ii1. Completion of incomplete pattern

1v. Analogy, Group of Identical Figures

v. Classification, Odd figures or Odd man out

vi. Mirror-image, Water-image

vii. Paper folding, Paper cutting, Dot situation

viii. Spotting out the embedded figures

ix. Cubes and dice

x. Figure matrix

Arithmatics (8)

Number system - HCF and LCM, Square roots and cube roots, Surd and indices
Addition, Substarction, Multiplication, Division and Simplification, Decimal Fractions
Percentage, Partnership & investment, Average , Probability, Permutation Combination
Ratio and Proportion, Mixtures &Alligation, Chain Rule

Time and Distance, Trains, Boat and Stream, Time and Work, Pipe & Cistern

Profit and Losses, Sale & purchase, Discount, Simple and Compound Interest
Mensuration & Geometry - Areas, Volume and Surface Areas

100) Problems on Clock, Calendars, Ages, Directions, Locations and Positions, Venn diagrams
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4) i YURUN - &1 a16, THSIol, Hehl SHIAHTH

g) foft UR - s rE™, feem anfor = T

©) I - T qRaaT, hfse Mfor At uifersdt

¢) NN — AN Tgh, ARG ENRT

Q) TR - HereumT, TR AT, SRS Ao Hrfe
90) IR A SrRiga

99) fIwTT BRIHH - AfEET, Hel, SIS ARRS AT AeHia
9)  37TfRfens SnTfor farii €ROY - R AERTe

93) rfideT

98) Wi @

9y)  oaT 3TfOT ARATIRIEToT

q) I ST - SHiealg, Shsidt

q)  Siiegiv anfor ShSidt
) Wif&ad I=om - faqr Heher
3)  URAH fgaRR 8T BT

q) Shegtq Jfor shstdt

9) YRS IERT IO AIRICUd Widte f[au™ R &
a) Fatg e SMUUIRT IR =TT HH! Aehel UTH gl
b) ¥ AT ggdian i YUY BRI Scq=ral SR 3TTehsT HTH g,
C) DT SFRIIATIAT AT IV IIERT ITATAT STRA TehST HTH gl
RGB! DI fIU /= aRIER 32T ?
9) (a),(b) AN (c) SRR 3T ?) (a) 3T (b) SRR M
3) (a) 3T () SRR 3T 8) Heh (a) TR 3.

1)  Consider the following statements about national income accounting in India.
a) We get an underestimate of national income due to subsistence agriculture.
b) We get an overestimate of national income due to presence of barter system.
¢) We get an overestimate of national income due to operation of black economy.
Which of the above statement/s are true ?

1) (a), (b) and (c) are correct 2) (a) and (b) are correct
3) (a) and (c) are correct 4) Only (a) is correct
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AT SIS, ST THIBR YATEIAT TCHRATS!, DIVl GITT AT 31 7

q) (1) gc <o, (I1) awq 3mfor Jar, (1) B=aRT

R) (I) gea <, (11) a 3mfor e, (1) @4

3) (1) awg amfor e, (1) s, (1) @9

8) (I) e <, (I1) a9rT, (I11) =

In a simple economy, for a component of the circular flow of income, which alternative is correct?
1) (I) Factor payments, (IT) Goods & Services, (III) Depreciation

2) (I) Factor payments, (IT) Goods and services, (III) Spending

3) (I) Goods & Services, (II) Depreciation, (IIT) Spending

4) (I) Factor payments, (II) Depreciation, (III) Spending

IR T T CeTchid IedTe ST geh Tan TS Qi Scdied ITie WRe & U
......... g fomior g,

9) TeIE ST ITTE PR R) UcIE PR I SFGH

3) ITUTE TR IO IS g) 3G AT ot

The difference between Gross Domestic Product at market price and Gross Domestic Product at
factor cost arises mainly because of ..........

1) Direct and indirect taxes 2) Direct taxes and subsidies

3) Indirect taxes and subsidies 4) Subsidies and loans

geISUchT IV STERVT/SIER B QTR IeUIG HISTHITET AT el 2

a) PR ARG arRGedT SR Jog b) ST/ dTRSGeAT Gcepidl fdchl He.

C) EAIARUT QIb. d) HreE I TaER ST a3 ol
I g foyaer

) B () ?) (a),(b) &Mr (c)  3) (a).(b), (c) MMM (d) ®) (b) 3T (d)
Which of the following examples can not be a part of Gross Domestic Product Accounting ?
a) The value of the tyres used to build a car. b) The transaction value of second hand books.
¢) Transfer payments. d) Brokerage paid to real estate agent.
Answer Options :

1) Only (a) 2) (), (b) and (c) 3) (), (b), (c) and (d) 4) (b) and (d)

TGHUT SR Iedred GDP AT Tehur R (GNP) IeUTed IMes heh WMo iUl Pioredl e
yfafifaa g

9) GDP 37for GNP 3T gg) Fehed=T Uehd 3.

) GDP 7 <Tdte SIS Gcdhi-l RSN dhobe! TTHT AISTe! ST,

3) GDP A&y 2Tl 3T Tehi=! RS hoddh UTHT STt ST

%) GNP IT Heid Hisdd! BIRT JSST STl

A difference between Gross Domestic Product (GDP) and Gross National Product GNP) is
reflected by which of the following statements ?

1) GDP and GNP are one and the same concepts

2) GNP includes receipts from Abroad made to the Country’s factors of production

3) GDP includes receipts from Abroad made to the Country’s factors of production

4) GNP excludes the capital depreciation
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¢ oM Ursae (NNP) $haex Piee I7 F/aM Gl 3Nesxdel ST
q) I I Q) WERT I 3) Jufchd I ¥) Jfcher Ieare

Net National Product (NNP) at factor cost is also known as :
1) National income  2) National product 3) Personal income  4) Personal product

e QATHICT WISHT [Aaues JMOT Heaes Serieria WIoRf Tdauh aTdiel hRdb 3T :

9) NDP 31for Il Ico= Aefid ok Q) TERI
3) IFaifBd segext Igdd ¥) Higdelt ¥elhdl W)

The difference between the gross domestic private investment and the net domestic private
investment is the :

1) difference between NDP and national income

2) depreciation

3) unsolicited inventory changes

4) addition to capital stock

TERT Ieu AISTOATE Ggd PIoTe AATa ?

q) I UG R) U Ugd 3) T ged 8) WD TG
Which one 1s NOT a method to calculate national income?

1) Product method 2) Income method

3) Expenditure method 4) Difference method

YA Hed ... HH 3.

9) 1+ (NNP/GNP) ) GNP—NNP 3) 1 — (NNP/GNP) ¢%)NNP/GNP
Depreciation equals to:
1)1+ (NNP/GNP) 2) GNP —NNP 3) 1 — (NNP/GNP) 4) NNP /GNP

R Freaes Tedh Io=mmed (NFIA) & TEIfIE 37
) FHa=IE s WRUTS

IT) HTeHRIT ST SETSTehclcy fHedes Seue]

1) Rt fardt so=rdl Heae IRGT Sdetell TS

I S
q) qreer (1) 3T (1D) ?) aregl (1) 3mfor (11D)
3) g (1) 3mfor (I10) ¢) 539 (1), (IT) 3mfor (110)

The Net factor income from abroad (NFIA) includes :

I) Net compensation of employees

IT) Net income from property and entrepreneurship

IIT) Net retained earnings of resident companies abroad

Answer Options :

1) Both (I) and (II) 2) Both (I) and (III)

3) Both (II) and (IIT) 4) All (I), (I1), and (IIT)

TE § g T & JAURISRITS! SuGeh UeHg : sifeawr / 93
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Q) Hifegd T=om
R [T Hehford 3NN TG Flgrm 30T ARegh! Farered (DCIS) gR - Fafado
TBTRIT etl S, DCIS Jeamerd I g
q) 4o Q) kgt 3) letebrall 8) =g

Trade statistics are compiled and published regularly by the directorate of Commercial Intelligence
and Statistics (DCIS). DCIS headquarteris at :
1) Mumbai 2) Delhi 3) Kolkata 4) Chennai

CSO T a1f¥es Tap1eM IERT Wi ARIH (NAS) R ... T A el 3fieEet M

q) IR BTG R) fagest e 3) et g 8) ST BTG
National Account Statistics (NAS), an annual publication of CSO is also known as :

1) White paper 2) Yellow paper 3) Pink paper 4) Purple paper
NSSO < IR fI9mT 317ed :

a) eur f33Ae ST [aed, b) s IR, ¢) ST TR 37for, d) ...
it S :

9) foxr faroersor ) 3nfiep faeetyor 3) RIS faeersor ¥) g fagermur

The NSSO has four divisions :

a) Survey Design and Research, b) Field Operations, c) Data processing, and d) ......

Answer Options :

1) Finance Analysis ~ 2) Economic Analysis 3) Planning Analysis ~ 4) Consumer Analysis

U 30T Sty ugre’ g ¢ HIGHT el Wh 3T

q) UYUT IMHSAR! ) T IMHSART 3) I IMpsaRt  8) I JMMhSaN
‘Milk and milk products’ is one of the 8 broad groups of :

1) livestock statistics 2) agricultural statistics

3) economic statistics 4) forest statistics

QAR AT AT ST ATgR ModT bl STar

9) ICAR-CIFE, 458 ?) ICAR-FRIC, s5%

3) ICAR-CIFRI, Targrct 8) ICAR-CMFRI, e
Data on the landing of marine fish are collected by the :

1) ICAR-CIFE, Mumbai 2) ICAR-FRIC, Bengaluru
3) ICAR-CIFRI, Guwahati 4) ICAR-CMFRI, Cochin

DI fehaT STIBIATIAR SCra FTep=uT v gt |efer img 2

9) TUITCHED A=l ) gRYTERE iR

3) PICEHAIAR SIehRUT ¥) Himfores affepsor

The classification of data by space or spatial belongs to which option?

1) Qualitative classification 2) Quantitative classification
3) Chronological classification 4) Geographical classification

e § 9 T1C & USRS Sugeh UG : fea=r / 9y
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TGRSR AR SAMUTRT 3L

9) TureRT R) T 3) o g) ST
Temporal classification is based on :

1) quality 2) quantity 3) time 4) Space

TeCRCS TR fageledr JMcHaT A 3R 3TTE

9) USUs, SSUs, and PSUs ?) SSUs, USUs, and PSUs
3) PSUs, SSUs, and USUs 8) SSUs, PSUs, and USUs
The order of selected units in multistage sampling is :

1) USUs, SSUs, and PSUs 2) SSUs, USUs, and PSUs
3) PSUs, SSUs, and USUs 4) SSUs, PSUs, and USUs

"TRAH 9T gD Sicgl Al FCIIRAYT dTex gsdl degl T Fasul’ & Wiefierre! 9T dgd 37g

q) PICT FRT Q) Tl FEfeRT

3) TR T ¥) UgaelR T

‘Choosing every 12" customer as they exit the store’ is the sampling method for :
1) quota sampling 2) clustering sampling

3) stratified sampling 4) Systematic sampling

ST MBI FRUITT UG KIS DI T Fehra 3Mg 7
1) Uifiies FeMer & I AT ged 3.
I1) JoRacH, hieed U 37T THRIThT I7 UM GGt 3.

I1T) \demor, FRter, STiere Henud 3for g2 SeT Fdber a1 URHIUETD fohdl UIcHd Tgel! 31

Aehdld.
Tt SR
q) % (1) 2). alwat (1), S7for (I1I)
3) A= (IT) 37T (110 8) grgrent (), (I1), febar (IIT) T8t

For the method of collecting the data, which option is INCORRECT?
I) Experimental research is primarily a quantitative method.
IT) Interviews, focus groups, and ethnographies are qualitative methods.

III) Surveys, observations, archival research and secondary data collection can be quantitative or

qualitative methods.
Answer Options :
1) Only (I) 2) Both (I) and (IIT)
3) Both (IT) and (I1I) 4) Neither (I), (II), nor (III)
PIUCT TR TEH AIoTal G¢h ATal ?
q) yHfFRUE et Q) EIH Wb
3) TWHT TS3IAR ¥) FRIffd greranet
Which option is NOT a component of time series?
1) Secular trend 2) Seasonal variation
3) Cyclical fluctuation 4) Regular movement

e T g 1C & JAURISRITS! Sugeh FIE : Srfegawr / 9g
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3) YR sRfcrawdst ity s
GURUI FoReT gl auid Siedl aerar &R amfe ... TR I,
) 3.5 ) 4.5 3) 0.5 ) 1.8
The rate of growth of GDP was per cent per annum during the ten years since reforms.
1)3.6 2)5.6 3)7.6 4)79
2093-93 ALY AT &S FAMLD ANCH .............. RIRNICECIES
9) YRd ) MR 3) SUM 8) I
2012-13 Highest contribution in service sector is of .............. country.
1) India 2) America 3) Japan 4) China

2099-92 T fPAIIAR, AR GDP 78 ARG &g Savdl 51 3Te:;

q) 9T &F > IS > A AT Feft Q) SN > AT &3 > e 30T Hoft

3) T &F > HAH ST Fo > I ) TN > Hed 3T Heft > <t &
According to 2011-12 prices, the sector-wise descending order in contribution to Indian GDPis:
1) Service Sector > Industry > Allied and Agriculture

2) Industry > Service Sector > Allied and Agriculture

3) service Sector > Allied and Agriculture > Industry

4) Industry > Allied and Agriculture > Service Sector

SHITT STRfeawerea s, WRA I ........... e

q) frRR Q) U 3) A 8) e
In order of the economy of the world, the position of India is :

1) third 2) fifth 3) seventh 4) tenth

R) HEFTE - HRUI, gRom, e
TR fd 9 IoTRYS
HENTTS - YR, BRI, RO
HENTS - fA=or, Sur™
Tl Jrfe — AT 9 IAYRAST

q) TR fhHd g TSRS

'ISTAIEIS SR’ IT Ferdl bra<dl Ad WIBIGHD! DU 37 g 2

9) @ 3T JiTsgdTeies Scared Imefiss R Q) AT W MUl Iusey Icured IMefss IR
3) TepUT AU SO Tepur YREST IMefes iR 8) Thul ANV AT Jucsed] Iedle ATclles ek
According to Keynes "Inflationary Gap" means which of the following statements ?

1) Gap between expenditure and future output

2) Gap between anticipated expenditure and available output

3) Gap between aggregate demand and aggregate supply

4) Gap between aggregate demand and available output

TE g g TIC & JAURISNITS! SUgeh HeTRg : fegaer / 9
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TeficTidh! DI ISTRICHE SIILAT ITERUT 318 ?

9) febrrell IeureTrT WUl AT &d Gelad ATerd.

R) Tl areara ST UTEsdh O WG aRd el Hd ¥ WGl % A TR,
3) ANTU TR ST P BIHIRMT IGLRID gard ARTe.

8) QTG TH TR STex U PRYT el o IcUeA_ITs! SeRUS |1usd g,

Which of the following is an example of market failure?

1) Prices do not reflect the full social costs of production.

2) Prices rise so that consumers cannot afford to buy all the goods that they used to purchase.
3) Demand falls so that firms have to make workers redundant.

4) A firm goes out of business because it cannot find a market for its products.

TEFTRYTCTehT AIGTHRID DIV o HIcThlhg a¥el DRIId ITd fI9eiyur axuame! igul v ?
q) WIR G ?) TS T 3) AT g 8) ISR e

The Municipal Corporation registers which value of property for analysing the municipal taxes to
be collected from the owner?

1) Scrap value 2) Book value 3) Assessed value 4) Market value

3RS, TR ST Ao @R IR o 31TE

9) o EeeigR PR ol T

R) J&I FIEeh Heget MR SR dheledl SRl dTfiey faRumd g helel Jod

3) w1 Tlepelt fohar STeT qRICITE SR 89 T HIeRid &R o

g) Riegr IRTEAGR FUiRa detel 7o

If a property is sold or allotted by Government or a local authority on the basis of a predetermined

price, the true market value of the subject matter property is :

1) the value determined by the said bodies

2) the value mentioned in Annual Statements of Rates issued by the Chief Controlling Revenue
Authority

3) the true valuation of that property by having recourse to local enquiry or extraneous evidence
4) the value determined by the District Court

RaTeT ¥ (WA AT Segeluiie) PRIGT, 09 3T 'IHHE BR Ad” U ... HTeleTl K.

q) WRCIGR 3T fharm R) YeKieh AT IICT PRV

3) fieer Ml WREleR ) facex 3mfor arey

‘Agreement for sale’ means an agreement entered into between .................. under the Real Estate
(Regulation and Development) Act, 2016.

1) buyer and seller 2) promoter and the allottee

3) builder and purchaser 4) builder and allottee

TE g g TIC & JAURISNITS! SUgeh HeRig : ifedaer / a¢
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Q) UENTS - UPR, PRU, IR

3) HERTE - fAEmr, Su
T IR FRE SAUATRRAT AR SfipRAGeIT YRV S0 Closll JTAISIRAT G e areiia
PHUTT PRI FATGT Peted] A Wil PHIomT FHEeT 81 Al ?
9) forr 3) Friior wRa 3) e R ¥) fore il
Who among the following is not included in the committee set up to reduce avoidable expenditure

in line with the policy adopted by the government to control inflation?
1) Finance Secretary ~ 2) Planning Secretary 3) Chief Secretary 4) Finance Minister

SrfceaRdiel el Tet gt (WIFale) IRAUIRATST WRT Refeg 5 PIord URoT € ?

q) TR Yer YR R) TN TR FHHI PROARS YR

3) Hacih U JRAGATd YRYT %) e YT &R

What policy does the Reserve Bank of India implement to curb the growing trend in the inflation?
1) Cheap Money Policy 2) Interest rate reduction policy

3) Policy for the heavy supply of money 4) Dear money policy

TETEIT &FATcllel dieh MU febdl e IRTRICH STaim 89 AR dhetell el FgURT ...

q) ST e R) ERYS Hl 8) HFEA 8) TUIfrep Wl
Allowance sanctioned in consideration of expensive living conditions or diseased conditions in a
particular areais ........

1) Leave Pay 2) House Rent Allowance

4) Honorarium 4) Locality Allowance

ST I feham JoTm =T fResa ATet 312l MIhi. hHaT=ITedT feft ST ... &Y Tgurel fatg
g

q) < Q) HIR¥H 3) afies ) AT AT
Subsistence allowance is an amount of ....... paid to a Government servant who is not in receipt of
pay or leave pay.

1) Daily 2) Monthly 3) Yearly 4) None of these

"SIIfcRp UTeeh &8 fod 037 oY o 31T e ?

9) UTEh gep UUH ?) PIUTCATE! TRI T A0l

3) HheR fSRics wrRAFT ¥) 9Mead IUHhEAIS

What is the theme of World Consumer Rights Day 20227

1) Consumer rights first 2) Leaving no one behind

3) Fair Digital Finance 4) Sustainable Consumerism

STRIPII T AT STEH! FTeleT ST 11 Ugrdeted] RIDIY BHATATET QU AT FgfRidar

.............. I TR,
q) i R R) WRurg Fgfaes
3) Sied fdar g g g) 3FfeuT Fgfiead

TE 9 9 7T & GEIRIENIS! Sugeh HeE : e / 9%
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The pension given to a government employee who is injured or injured while in government
serviceiscalled................

1) Sickness Pension 2) Compensatory Pension

3) Wound or Injury Pension 4) Compassionate Pension

R ATRIDRI PN <F V=T Jeg, 71 AT IueH fHiesuard! smte waifer FerfRucimed faddt aime ?

9) 0 & R) 9y A4 3) 98 & ¥) 90 &
What is the current maximum limit of death and service gratuity to a state government employee?
1) 20 lakhs 2) 15 lakhs 3) 14 lakhs 4) 10 lakhs

) AHUALT 3RfeTRE — YT 9 Te-gRaaT

RGTSIBYDT DU fIa= “Serht U1 A1 ek gl R ?

q) I Weh ARG I ST ATes, JaraT AL Bl

Q) 2 IS AT IRPRA IR P I,

3) g SrfceRedies YT 3RIT N 31 ST XRdia frefid a9ei omR.
) 3refcgeediics YormaT &1 T AT 31 S ATURT depi-1 fHiur PeT 3Te.

Which of the following describes the concept of ‘high powered money’ ?
1) It only includes cash and current deposits"

2) Itis a currency issued by the government of a country

3) It is that part of the money which is backed by supporting reserves

4) It is that part of money supply which is created by the commercial banks

BB DIV AU RIS 3AE 7.

a) IO AU g U Ui SRl 3.

b) HeIHIIHT AU ¢ U SH PRI 3.

Tl S

MEVEREN ?) (b) RIR

3) (a) 3T (b) SRR MTed 8) ERIBUD! PIUCIE! IRISR ATE!

Which of the following statement is correct ?

a) The measure of value is the primary function of money.

b) The measure of value is the secondary function of money.

Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct

e I FEIMH RIga

a) U] RS Sea@dT YOG YT Jedmed VR 95 ¥UE vl

b) sfegs Reprefear ‘et TSR a1 qraemed a1 RIGiAIsT AXedrHe ©U WH 7.
ggift S :

q) AU (a) RIS 3 917 UM (b) JHI 3MMR. ) AU (b) RIS 3 A UM (a) THH 37TR.
3) TEl UM (a) 3T (b) RIS 3Te. 8) Q= UM (a) 3T (b) gH M.

e § 9 7 & JEURISRITS! SUgh Fewg : sifeaawen / 0
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Quantity theory of money :

a) explains changes in the value of money in terms of changes in the quantity of money.
b) got its quantity form in the book ‘The Purchasing Power of Money’ by David Ricardo.
Answer Options :

1) Statement (a) is correct but (b) is false 2) Statement (b) is correct but (a) is false
3) Both (a) and (b) are correct statements 4) Both (a) and (b) are false statements

TSI BUD! DIV FHIGRU TS T RAgiaredr kg Rigd gemr HfdH g axd ?

9) M=K R Q) M=PT/VT 3) Y=M,V(er) 8) M=PY

Which of the following equations represents cash-balance approach to the quantity theory of
money ?

1)M=K R 2)M=PT/VT 3)Y=M,V (er) 4) M=PY

3) Tt - ARHvT fAERT ST WEdR &
SIfaeET TR, <t SeuTeH g IcuTadhdl
Hit gaqRaeT, HHt SEn
it faseett g fagqur=
I 9 UG
TcRIIGAT, el lelT= g afeichr
RireeT g SRR QST
AT faehT
HEPR &

q) ST 9reR, it ST 9 TSl

2029 T PN FEASIAR IRAR Feaes BES & ........... fofosae gaex Aiefis 3Tmg.
9) K.Y Q) 93%.8 3) 930.00 8) 902.09
Reports on Agriculture in 2021 mentioned India’s Net SOWN area is million Hectares.
1) 2394 2) 1394 3) 130.00 4) 102.7

...... AT HRATH ... ISR YR DU MUeIT BRR QA Joard hatl.

9) 9¢RY, ISTAH ) 9R09, HERTY 3) 9820, IoRIT ®) A%, R
In the ‘Pepsi’ company started contract farming in India from the state.
1) 1895, Rajasthan 2) 1901, Maharashtra  3) 1920, Gujarat 4) 1927, Rajasthan

............ ST T IR UfepT TISTal YR JRAHTS (ISR L PRUAT 37T,

9) IR HgaRl 094 ?) 9% BYAR 9% 3) Y IMRC V99 ¥) K AHART 094
Soil Health Card was introduced on at Suratgad (Rajasthan).
1) 198 February 2015 2) 19 February 2016  3) 15 August 2017 4) 26 January 2015

TE § g T & JAURISRITS! Sugeh Uewg : srfegawr / 9
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PV Tget Y, GoeHefie ‘gRAhidl’ g Pl THhR ATel, TISTIT SABAT HEdTd AT IS
Teflel qd—3Taeaehdl eI ST o g8el

a) STHIM T3 ehRuT STTfOT AHTCA NI

b) AT At ST ST @ Aot 8.

C) JTHIOT e 3Tfor

d) grfior fegcfienor

g IR :

q) FHT RS Q) TH. TH. WO 3) gTHRAT X1@ 8) T T R

Who stated that, the ‘Green Revolution’ in Punjab is not a miracle. It happened only because the
following pre-requisiter for its success existed in the mid-sixties :

a) Land consolidation and levelling

b) Owner cultivation resulting in a long-term stake in land

¢) Rural Communication and

d) Rural electrification

Answer Options :

1) Norman Borlaug ~ 2) M.S. Swaminathan  3) HanumanthaRao  4) Lal Bahadur Shastri

TSB! PO Al AT BRIC 3d ?

a) Ao SeaTehar ared. b) GRTERY F@ FHTT FHor

i SR

9) (a) SIS 3R ?) (b) SRR 378

3) (a) 301 (b) R AR ¥) IRIGUDT DIVl el

Which of the following are benefits of organic farming ?

a) Increases agricultural productivity b) Creating environmental balance
Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above

WSISUD! DI AU RIeR 38 ?
a) HERTEICS ol & FRIeR SR Sfacey 3TTe.
b) AR Wigde & TERIFAS i SeUCHAT HHI IRTITT BRI 3R,

WﬁﬂW:
9) (a) TR 313 ?) (b) IR 3R
3) (a) 3T (b) SRR 3T ¥) TRIGUDT PIUTE SRS ATa!

Which of the following statement is correct ?

a) Agriculture in Maharashtra is highly depending on nature.

b) Inadequate capital is the reason of less agricultural productivity in Maharashtra.
Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct

TE g g TIC & JAURISRITS! SUgeh HeRig : ifedaer / R
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TRl Badiich TRt 2Acht HehadTa! Aehed=T HgRTE AT ST ST dobrl IfpRat! 37Te. HehedTd
AL I -

a) YIS <aTg Ufi§eds 3MfOT aTdTeRYT Sadids U fadia o,

b) ATATERYT ST Ted JTMOT GRITTAT AT R,

¢) TR faeprl M1, FEiel TRamdTRa ged FRISHMOR TfRdcard SUUATeR 18 o v,

d) FERTETE SCUHURD PNl G AT GIAead R,

e) SCUNURD <!, AdIRT IcdIeeh HUCHT/HuT, FIIAERIT T MO AH FHGRITE SUR <0,

Tl S

q) (a) 31T (b) ?) (b) 31T (c) 3) TNt |d 8) (d)

The project on climate Resilient Agriculture was conceptualised by the Government of Maharashtra

and the World Bank. The project aims at -

a) Developing a drought-proofing and climate resilient strategy for agriculture.

b) Coping with climate variabilities and climate change.

c¢) Focusing on village level development plan emerging after comprehensive data-driven micro
planning.

d) Ensuring profitability of small holder farming systems in Maharashtra.

e) Supporting small farmers, FPOs, farmer producer companies, SHGS and village community.

Answer Options :
1) (a) and (b) 2) (b) and (¢) 3) All of the above 4) (d)

refid faum foaRm &
a) 209€-91 HEY IO SUTCHT TgMIET STRT gl
b) 09— T JATITT SUTCHAT SIS IUET TR @I,

RSB Piur /o e /3 A 3/ 3Mea ?
9) Pds (a) SRR 3N ?) Ba (b) RIS 32
3) (a) 3for (b) SRR MR 8) (a) ST (b) Ib 3T

Consider the following statements :

a) In 2016-17 productivity of Rice was more than Wheat.

b) In 2016-17 productivity of oil seeds was more than pulses.
Which of the statement/s given above is/are correct ?

1) Only (a) is correct 2) Only (b) is correct

3) (a) and (b) are correct 4) (a) and (b) are incorrect
ST o

el shicit Pt IS

a) gavl shicht i) e ST

b) foasst wich i) A9y I

¢) e spicht iii) JefSam™ ST

a) gRa i iv) o

TE § g T & JAURISRITS! Sugeh UeTg : sifeawr / 33
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tl'ﬂﬁ’fGT—l;\’:

@ M () @@
D Gv) () (i) (il
2) (1) @Gi) @Gv) @)
3) (Gv) (i) (i) (1)
4) (iii) @Gv) @G @G)

Match the following :

Agricultural Revolution Agricultural Production
a) Golden Revolution 1) Crops Production

b) Yellow Revolution 11) Fish Production

¢) Blue Revolution 111) Oil seeds Production
d) Green Revolution 1v) Horticulture

Answer Options :
@ (b () @
D Gv) @G) @) (i)
2) () (@) @v) @)
3) (Gv) (i) (1) (1)
4) (i) @(v) (@1) (1)
&G APRA S0 ol T ...... TSt hetl.

a) 3D TGl GeiddT PRUIRIS] TR0l Suctee] o,
b) feRITugTE ScuTe MUY foeRuT FRUIRAST Fergd Ffaem faadia o,

¢) Rl EERATST STt RaaT Ul

d) AT T Qe fSugTar gRaaT o,

Tt SR

9) (a) 3MMOT (c) B famm sREsR 31Rd. ) W (d) g fIum sRIsR 3.

3) (a) 3 (b) & UM R e ) (c) 3T (d) & fIum R 3.

The Central Government has set up a seed Bank

a) to make available seeds for meeting contingent requirement

b) to develop infrastructure for producing and distributing seeds

¢) to provide loan to purchase seeds

d) to provide the new varieties of seeds to the farmers

Answer options :

1) (a) and (c¢) these statements are correct 2) Only (d) the statement is correct

3) (a) and (b) these statements are correct 4) (c) and (d) these statements are correct

RATT AT AT JURUIT HRUATBRAT gRA Shicidl Joard HRuI ATel! :

a) IRAR TSUTRT TPl b) formll HHaRT

¢) 9 IeUTGehdl d) b 3for SR foeer

g SR :

9) (a) M7 (b) TIRT AT TR Q) (c) 3mfor (d) Tl Ay 31

3) (b), (c) 30T (d) WA AT 3T 8) (a), (b) AN (d) TTT T T,

e § 9 7T & YEURISRITS! SUgh HeHug : sifegawen / 3
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The ‘Green Revolution” was launched in India as to improve in the fields of :

a) Frequent famines b) Lack of finance

c¢) High productivity d) To alleviate hunger and poverty
Answer Options :

1) (a) and (c) alternatives are correct 2) (¢) and (d) alternatives are correct

3) (b), (¢) and (d) alternatives are correct 4) (a), (b) and (d) alternatives are correct

QRIS PR v gRaspiclt oft Fafer A ?

a) T Pt YRor b) Bt FHBRUT TS

¢) 3MYFiep Pt T d) feamor - -urf das

i SR :

q) h (a) MMM (b) ) e (b) 3) B () ST (4)  8) Heh (d)
Which one of the following is not related to the ‘Green Revolution’ ?

a) New Agricultural strategy b) Agroforestry technology

¢) Modern Agricultural technology d) Seed-fertiliser-water technology
Answer Options :

1) Only (a) and (b) 2) Only (b) 3) Only (c¢)and (d) 4) Only (d)

TeAThT DIUT /T STeUD TR ot ERGURT- YRV Hedfedr qrMd M /d 2

a) STHIM JOHR AlhredT gl Tehdacall Bl SMIOT S WM / Tieueea™ QUar Mg UT g,

b) st @frerg Tiedr R 3.

¢) IERGURURT Ufgell Tt |atd elidelell gl 9 ALavfi J=ne &8ss el

d) AT A7 fRE=AT oI, BRI 8IS USIep SHHI ARTISRTe! SO0 SATfOT STt SAT0r HaT Hae,
Sifvdt 3. B el

Tt S :

%) (a), (b), (c) 3T (d) ) (b) 3) © 8) (a)

Which of the following is/are stumbling block/s in land reforms in India for policy makers ?

a) Land was concentrated in the hands of a few and leasing out land was a common practice

b) Land records are in a good shape

c¢) First phase of land reforms was longest and could abolish intermediaries

d) The second and third phases shifted attention to bringing layland under cultivation and water

and soil conservation, DPAP etc.
Answer Options :

1) (a), (b), () and (d) 2) (b) 3) (¢) 4) (a)

CIRIRCRIRRECINE R

a) P TUAT 094-9¢ TIR TERTY I TR et & 9.38 gaeR .

b) FERTEIT 09%-20 T hAUIGH fUBRATSIS &5 9%.20 BRI gdex aKl.
iU P U /f[u™ RsR mR/T 7

9) (a) Hh R) (b) wh

3) ARl (a) 3MIMOT (b) SRISR 3T 8) T8l (a) SO (b) SRISR AT

TE § g T & JAURISRITS! Sugeh UeHg : sifeawr / QY
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Consider the following statements :

a) According to Agriculture census 2015-16 Maharashtra state has 1.34 hectares average
operational land holding.

b) In the year 2019-20 Maharashtra has 19.20 lakhs hectares under Horticulture.

Which of the statement given above is/are correct ?

1) (a) only 2) (b) only

3) Both (a) and (b) are correct 4) Neither (a) nor (b) are incorrect
GTefleTidh! PIorar S TR & ATl ?

q) aitenfis & Q) Nt & 3) BResT o 8) ARG &
Which of the following is NOT a land use zone?

1) Industrial zone 2) Agriculture zone 3) Heritage zone 4) Commercial zone

YRAUTH, G SATMOT GFdRa ragT 2093 AR, ATEST(+ch DRUMKIIS! WISR(T hu=I ST S HaTid
detl ST gl STHIA HUTGH PRUATYT ... IR Peard! fPAM CehaR! SMAWID IR,

9) 40% ) 0% 3) V4% 8) ¢0%

According to Land Acquisition, Rehabilitation and Resettlement Act 2013, when land is acquired
for private companies for public purposes consent of a ...... minimum percentage of affected

families is required before acquiring land.
1) 50% 2) 60% 3) 75% 4) 80%

Ao JPAMHRITS MMM URGhcdT JAfUBR UG, YFad MU YFad PRIGl, 093 37T,
ICAURD ATDY TG oo Ueh— 3T gexRId ST febar SmTIc! SIS SRAUIRT Qe
9) T gaeR ?) T BT 3) UT IR 8) TET 8IeR

Under the Right to Fair Compensation and Transparency Land Acquisition, Rehabilitation and
Resettlement Act, 2013, marginal farmer means a cultivator with an un irrigated land holding up
[£0 RO or irrigated land holding up to one-half hectare.

1) two hectares 2) one hectare 3) five hectares 4) ten hectares

ST T, YA SATO1 GHeRF DRI, 2093 Hellel =R JhAFHRUTS AT URG2Thea SRIBRITAR,
TRRIPROTATG! ST FUTCd dheft ST degl, Ueddh STHIT HIeTh el HehedR HaTell fohcll gawa STfor
g’ g foel STTltet ?

q) P 9 gaeR SHA

R) AU dhetedT SR THIUNT fIepfid STR-=ar 0%

3) Fuifed detedn ST yHNg fAenRia AT 92.4%

¥) FuIfed PheledT STH=AT YA 4% fpRia sHiF

According to the Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation
and Resettlement Act, 2013, when a land is acquired for urbanisation purposes, how much
rehabilitation and resettlement entitlements would be given to each land-owning project-affected
family?

1) Minimum 1 hectare of land

2) 20% of the developed land in proportion to the land acquired

3) 12.5 % of the developed land in proportion to the land acquired

4) 25% of the developed land in proportion to the land acquired

TE g g T1C & JaURISNITS! SUgeh HeRig : ifedaer / g
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3) Tt yagRaeT, it SERT
Wt ot srefemerdt e st Aiget Mg ?
" Qe TE) AUt ferssquaTed AT e ShRugTea fohdiHed ST e o BT <o J1r it Jreferrei
9) TR )Y 3) feare 8) gas

Who stated the following definition of agricultural economics ?
" Agricultural Economics is the study of relationship arising from the wealth-getting and wealth
1) Taylor 2) Gray 3) Hibbard 4) Haurd

TGN 3TMaegd Heiia xel (resistance purchase) 3icRia alrTedfeal FowEed Wietfletdd!
PO U™ T ML 2

9) AT AT ST GG foTll snasdehar ATar.

Q) arareaf qumier 9¢ @ 30 Iy

3) ATl AgPR! ARET AHNG Sl

) mureff Paes AfhT TR IRTET 3T DUl by TRl

Which of the following is true regarding criteria for the beneficiaries of the resistance purchase
of fishery requisites ?

1) Institutional Finance 1s not essential while availing the scheme.

2) Age limit of beneficiaries is 18 to 30 years.

3) Beneficiary should be a member of co-operative society

4) There 1s not criteria such as beneficiary should be active fisherman only

Gretiel fur fIeRa =

a) AR P TifADIPROTT T FHIGS dTclell AT QUARNTC! B8t ATBIARUr IuMe |
2098-9Y AL G PRI 3TTe.

b) Pl AR IUSTHIT Sicict el T AT Hfreror ST Wi faren SUIRAS! 15T FRBRAT Hd
feft ST,

IRt S
q) PaD (a) AT MR R) Qg (a) 3T (b) TR S
3) Paw (b) AT 38 8) Qg (a) M7 (b) SR AT

Consider the following statements :

a) To promote an inclusive growth of farm mechanization in India, a Sub-Mission on Agricultural
Mechanization was launched in the year 2014-15.

b) Under the Sub-Mission on Agricultural Mechanization, assistance is given to state Governments
for providing training and demonstration of agricultural machinery.

Answer Options :

1) Only (a) is correct 2) Both (a) and (b) are correct

3) Only (b) is correct 4) Both (a) and (b) are incorrect

e § 9 7€ & YEURISRITS! SUYh Fwg : sifeaawen / Q0
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foRfAMT offeT HeR shel T SIHTd TR JHT SUAey Ho SUIRAIS! gIeR [ NThg @Tetietient
PV FIEBH el S 2

) AR FidT SIRUIRITST 5 b) AT GHauITd TwichIE
c) TUS 9 d) Sfaesd =<

e) fvarar goarh T~ f) cRielc sl

g) IRMERT Aprea Afegiers IemUia Wsh HigT rhul h) gniceles @

R SR :

9) a, ¢, d Bch ) b,c,e, g Hh 3)a,b,c,d,e,f,g,h %) f, g hHh

Under the Scheme, providing infrastructure facilities on Fishing Landing Centres Crash
Programme which of the following construction works are being carried out by Harbour division?

a) Ramps for landing the fishing boats b) Fish drying platforms
¢) Open sheds d) Approach roads

e) Drinking water facility f) Toilet blocks

g) Removal of rocks in navigational channels of fishing boats h) Guiding poles
Options :

1)a,c,donly 2)b,c,e, gonly 3)a,b,c,d,e,f,g,h  4)f, g, honly

TiepRe 3iWeft G T AAIITIRIER URUMT SRR ggref 1 9¢Y TAR Wlefiedehl PIu dleaeiia
% 3 i TR TR 2

q) 9 THART T 39 AR R) 9 U d 39 A

3) 9 IR T 39 MRS g) 9 IR T 30 LR

According to Narcotic Drug and Psychotropic Substances Rules, 1985, which of the following
period is called ‘Crop Year for opium ?

1) 1 January to 31 December 2) 1 April to 31 March

3) 1 September to 31 August 4) 1 October to 30 September
3) Tt fauett 9 fague

WTeflet fum faRid =1 -

a) 2020-39 3R FERIFIA 3¢ PuI Icu=l TR AR T 93 SR AT FATIT AT 3.
b) STHAR 202 WT 9500 € YU WA et

i SR :
1) Only (a) is incorrect 2) Both (a) and (b) are incorrect
3) Only (b) is incorrect 4) Both (a) and (b) are correct

Consider the following statements :

a) Upto 2020-21, 387 Agricultural Produce Market Committees and 723 Sub-Market Committees
have been established in Maharashtra.

b) Number of direct Marketing Licenses issued upto January, 2020 were 1400.

Answer Options :

9) Beh (a) Ib IR R) Q= () AT (b) T 3T
3) %eh (b) b 3R 8) QeI (a) M7 (b) AT 3

TE § 9 7T & YEURIERITS! SuGwh FRUE : IRfEawT / ¢
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g WiE fooidt 31is® (HSD) &R ¢ Maiuardiareiicih! Hivrdm ey gt ?

q) ARERY ST qietd Stdive @il sramar

Q) AR § Breraefid TRERT SR JRERT Al T TSaT A1y HuaRT U ATard.

3) FIIT U AUt dhetedT dIcT

8) R qREaT A ooR Feted 3l durhga fesierd} @ral dheft sTsat

Following is not criteria to get rebate on High Speed Diesel oil (HSD).

1) Fishing boat owner should be BPL

2) The fishing boats fishing in the fishing ban period are not eligible to avail benefits of this
scheme

3) Boats shall be registered as fishing boat

4) Diesel shall be purchased only in the diesel pump approved by Civil Supply Department

9193 TEY AT STetetl WieiieTdeh! DU SRR HereT Afe I} Heaer/ It Feftra ame 2
q) g 3fREIC U8 thaed! 3ih Aife JagerRer Femic

R) TS hewd 3t 3IRNiIe Sffihear JegHe

3) eI RIS INHAIRRKT SRARITIT BR AR h HIfFHT

¥) S sfclics BiH 3T P~ BR 3MRI+p BIfFHT

Which of the following International Organization was established in 1972 for organic farming
organisation ?

1) The Institute and Faculty of Organic Actuaries Management

2) International Federation of Organic Agriculture Movement

3) International Forward Osmosis Association for Organic Farming

4) International Integrated Form of Agreement for Organic Farming

8) GYNITHS 9 AT
HiMfeTeh Fohd AU PRI <o e UG 3.
q) IEHIEG R) IS 3) 9 8) arfod
Geographical Indications Registry Office is situated at .........
1) Ahmedabad 2) Chennai 3) Mumbai 4) Panipat

"SR Fole’ FgUlel JAidel SN

a) I il b) &aeT it ¢) fuasdt wich d) gRa spict
TRt SR

9) (a) 3MT (b) TIFT I 3R Q) (c) 3mfor (d) Tl Ay 3.

3) act (b) & W IR AR 8) e (d) & T A .

‘Operation Flood’ is also known as :

a) Grey Revolution b) White Revolution  ¢) Yellow Revolution d) Green Revolution
Answer Options

1) (a) and (b) alternatives are correct 2) (¢) and (d) alternatives are correct

3) Only (b) alternative is correct 4) Only (d) alternative is correct

TE g g T & JAURISRITS! Sugeh UeTHg : sifegawr / 9%
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4) AT, Bl g arfaht

et BIurd UM sRIsR 38 ?

a) U] GHEfics JISHURLT hodle FaRIRIDhS ARPR A2y S& qdf 3.
b) R Ugaifiies TSR holel FaRIThs ARPR A2y &7 o 3e.
T ST :

I iy e
9) (a) TR 3T8 ?) (b) IR 3R
3) (a) 2T (b) SRR MM ¥) IRIAUDT Pl SRR ATet

Which of the following statement is correct ?

a) Since the fifth five year plan, the government is paying special attention to Horticulture.

b) Since the sixth five year plan, the government is paying special attention to the Horticulture.
Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct

GIeledeh! PV JATfeaRit Nealed ' RAaRT Aras HicdTe Aol IEfAUT Ad Mg ?

a) oI b) Tt ¢) Tf3res d) MR

AT S :

q) (a), (b) 3T (c)  2) (@), (b)3MO ()  3) (a), (c) AMI(d) %) WieTh |

Which of the following Tribal districts are implementing the "Promotion of Kitchen Garden

Scheme" ?

a) Pune b) Sangli ¢) Nashik d) Amravati
Answer Options :
1) (a), (b) and (¢) 2)(a), (b) and (d) 3)(a), (c)and (d) 4) All of the above

ArIeIeAT UTUdTd HeIUTer ehRUAR HIR0T et 31Rdcard 3ol ?

9) 4 FLCR, 090 ?) ¢ LR, 090

3) 9¢ FLR 090 g) ¢ FLIR 090

When the policy on Fish Farming in Impounded Waters, came into existence ?
1) 5 Septemebr, 2010 2) 8 September, 2010

3) 18 September, 20104) 28 September, 2010

PIUIT ST Slodd AU Ueed 38 7

q) Brg=r Q) Rihm 3) iRy ) TR
Beels fishery is dominated in the State of .......
1) Tripura 2) Sikkim 3) Mizoram 4) Meghalaya

ST FRER ... eI SR STRT fcTei WRT UehsUaTd 37Tel 3Tel.

a) I b) amferm c) e d) amfdeet
fecieaT yaigideh! v st IRy 38 ?
9) a )b 3)c 8)d

TE g g TIC & JAURISRITS! SUgeh HeRg : ifegaer / 30
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The maximum inland fish catches are reported from .......... continent on global level.
a) Europe b) Asia ¢) Australia d) Africa
Which of the given option is correct ?

I)a 2)b 3)c 4)d

FRIUTS ST AIaTe 9T Jfaem sfor et Feft (FIDF) JomNme! iefictud! Dot Aisel
oAl 38 ?

9) PRI Jeure Rt faems urftresor (MPEDA)

) I A fap™T Hes (NFDB)

3) dee 3eee i ftherist e (CIFE)

¥) PIRC PR FATRST (CAA)

Which of the following is the nodal agency for Fisheries and Aquaculture Infrastructure and
Development Fund (FIDF) Scheme ?

1) Marine Product Export Development Authority (MPEDA)

2) National Fisheries Development Board (NFDB)

3) Central Institute of Fisheries Education (CIFE)

4) Coastal Aquaculture Authority (CAA)

TUTTHAT RIS AT &1 Gh B AISHT 3RIT I Geled Qe Taiies 8T Med - () ..o
3T (b) ..........

9) (a) PeIT TS T (b) T o

?) (a) IS ASHT NN (b) TRASR o1

3) NCDC IISHT 3foT (b) I Ais1

8) IR &5 AT (CS) 3TfT (b) dhg WA o (CSS)

The Pradhan Mantri Matsya Sampada Yojana is an Umbrella Scheme with two separate component
namely (a) .....cceeveneee and (b) ..........

1) (a) Central Scheme and (b) State Scheme

2) (a) Central Scheme and (b) NCDC Scheme

3) NCDC Scheme and (b) State Scheme

4) Central Sector Scheme (CS) and (b) Centrally Sponsored Scheme (CSS)

gefiedat o faRga Tl Fefta =g ?

q) TG 30T AT P FGcit

?) foremftrmd fisrT wvgseft

3) MRAT-SMRICIR Preft et

8) WREEKE HRell- BT JATard A WeheT 2t

Which of the following does not belong to extensive aquaculture ?
1) Carp culture in lakes and reservoirs

2) Cage culture of tilapia

3) Tide-fed shrimp farming

4) Mud crab farming in tidal ponds in mangroves

e T 9 71C & JAURISRITS! Sugeh g : Srfegawr / 39
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............. & T SMBRI, HHl Wt T HER JRERT 3g ST FATHG Iraciiak Iy st
SISISRCIUECISESRSIRINE

q) frafe F=Ue= ) PRAMR JRIUTAT

3) sielfie TR ) TRTIH PG A

.................. is small scale, low cost and labour intensive fishery in which the catch is sold and
consumed locally.

1) Subsistence fishery 2) Artisanal fishery

3) Industrial fishery 4) None of the above

HERTY FIIRI JFRA, 9%€0 g HERTY ISTcl el ARSI Yot PRUARIS! i =gurd
¥E el 1 el

a) ARET b) 3rSIH c) Hae d) fere
g IR :
9) a, b, c Hh ) b, c,d Fh 3) a, c,d Hh ¥) Rt T4

The Maharashtra Fisheries Act, 1960 can be explained as an Acto to provide following of fisheries
in the State of Maharashtra.

a) Protection b) Upgradation ¢) Conservation d) Development
Options :
1)a, b, conly 2) b, c,donly 3) a, ¢, donly 4) all of the above

PR 3feplbear JFATRS I faem anfor wrf e,

a) fF IR YT AT BrEd STUh™ 31T RIS PR §=ar.

b) TRt ACRITHe AT GATaRUMER BIUTRT YRUTH IRGUATATS! bR HIUTeT Sh_UM=are! vt
R

) DR APlhedR B! Aicuft P,

d) PIUATE fFIRT 9T B PIeur fohar Ureul [/ 3TTER el

Tt SR
9) a 31 b I R 3MRd ) Feh a fAu™ R e
3) a, b 37for d ™ SRR 3Rd ¥) Nl T U= sRER 3med

Choose the correct statement and functions of Coastal Aquaculture Authority.

a) To make regulations for the construction and operations of aquaculture farms within the coastal
areas.

b) To inspect coastal aquaculture famrs with a view to as cetaining their environment impact
caused by coastal aquaculture.

c¢) To register coastal aquaculture farms.

d) To perform/order removal or demolition of any coastal aquaculture farm.

Answer Options :

1) a and b statements are correct 2) only a statement is correct

3) a, b and d statements are correct 4) all of the above statements are correct

e T g 71C & JAURISRITS! Sugeh FeE : Srfegaw / 33
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TERTETA IR R RicaImed =T gTodTdiet AIuTer fadRT Tt T 3fEE (3feF) Sauamrd
PROITT 37Tl

9) frTRuSAT fAmr™rTS

?) TRt Rfearear FURORATS!

3) B HATYR ATIRuANATS

¥) WA IOt hlooet FaEARITS STRI STR =T U0t STHIS aToRor

Brackish water fish farmer development agency in four coastal district in Maharashtra were
established in keeping objective (aim) as .....

1) For development of coast

2) For betterment of coastal district

3) To utilise resources a Harbours

4) To utilise maximum brackish water land for brackish water prawn culture

TR} HeRIaTeT TTfRrepRur ST, 200Y =T B 98 TAR, SR DIUKiel Schl AIGUITRER fhRugeRIe

ARIAAT PR A TR AT ... i aTeaeied Jed TS BRERIT! {18 gsat. ay fhar <8 St
B, T G TBA. ..o fehar qal.

9) T ¥ ; B.2,00,000 ) U 9¥; 20,000 3.

3) 9 @Y; 3. 90,000 g) &9 a¥; 9,00,000 .

As per Section 14 of Coastal Aquaculture Authority Act, 2005, if any person carrying on coastal
aquaculture without registration he shall be punishable with imprisonment for a term which may

extended to.............. years or with fine which may extend to Rs. ............. or both.
1) One years; Rs.2,00,000 2) Five years; Rs.20,000
3) Two years; Rs.10,000 4) Three years; Rs.1,00,000

GTelieTdehl DIV 716 BRUIR ISTeRUl IS /Ta ?

9) URT 9 ) T 3) R e ¥) & g
Which of the following is/are not an example of encirculing net ?
1) Lampara net 2) Purse seine 3) Ring net 4) All of these

........... SR 7 el SredhauR STed SRIAIT 91 SF Se—STedt URaiedT sl ey ogm
ST JMBRI 3MTciiel Sied (fole) Heruur grdet i

q) gfe Q) °md 3) ¥) i

................. nets are triple-walled entangling type of net where interior netting (lint) of smaller

mesh size is inserted loosely between two wide-mesh streched outer walls.
1) Shooting 2) Trammel 3) Rampani 4) Dol

........... g @] SMBRI S Mg S e fohar S ekt deereft foham doamean wegwmft siieat S,
9) fiiet e Q) g A 3) W AN ) forre Ae

............. 1s a cone-shaped net which is towed by one or two boats, on the bottom or mid-water.
1) Gill net 2) Trawl net 3) Purse seine 4) Lift net

e 9 9 7T & GEAIRIEIS! Sugeh He-Rlg : i / 33
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GR gR SIRI detedT JUTRT ARleei® TeigaR Q. 93 7ig. 9’84 NCDC Tie-37-Us 3iaid IRrad
R ShToFe=aT STUHMRITST ADP fI9RTFET. HERTE AR ARHRT Fe siftfias, a¢a ALfied Raaia
Ter = RUTIT TR TIC CRATETed bl HIfRdl! SUITIT R IR, Jeh IRTara faaR & 1,

a) T U™ R 3 b) N ™ SRR ATE

¢) IR fquM 9T RIS 3R d) et G sierd: b Mg
g IR :

9) I a TRIR 37 Q) W b R 3M

3) TR ¢ 37 d SRISR 3Med ) qRIeTdeh! PIUTTRl gafT AT el

As per corrected guidelines issued vide GR dtd. 13 Nov. 1995 of ADP Department for construction
of fishing craft proposed under NCDC Grant-in-aid. The proposal of the societies who does not
follow the provisions of Maharashtra Marine Fishing Regulation Act, 1981 and also provide false
information regarding group members. The said proposals should not be considered.

a) The above statement 1S correct b) The above statement is not correct

¢) The above statement is partially correct d) The above statement is partially incorrect

Answer Options :

1) Option a is correct 2) Option b is correct

3) Option ¢ and d are correct 4) None of the above option is correct
¢) RiTe 7 STeRigRoT Ao

coreter fagRt A, 9%%% ALY ... A8 fIef axuard et

9) SATER ISR ST Q) IR Areior SR BRI

3) AT EEN SR g BRishA ) SIS I FERISTTR AT

Million Wells Scheme was merged with the in 1999,

1) Jawahar Rozgar Yojana

2) National Rural Employment Programme
3) Rural Landless Employment Guarantee Programme
4) Swarnjayanti Gram Swarojgar Yojana

30 AR, 030 FT 830¢Y3 AT ANHHT GURIT STerald GRISUTT 3fet; .04, Sl 43308%%¢.8Y
A1 2023 WA ASR HRUITT 37Tel. Wietlefdeh! DUl F¥AT 9880 SAe 3RS Sleial Udhed
TERTERATG! ATHIUT YUiIYRacT d Feal BREPTRIIGT HoR Pefl ?

q) ARG AR R) STRTIcrp S (WB)

3) Tf¥RM fadeRT 5 (ADB) ) HIS HGeI

Till Sept. 30, 2020, 430853 rural people were provided with improved water sources; over
1230998.45 US $ were granted upto March, 2022. Which of the following Organisations
Sanctioned a project worth US $ 1440 Million for Maharashtra Rural water supply and sanitation
programme ?

Answer Options :

1) International Monetary Fund 2) World Bank

3) Asian Development Bank 4) Ford Foundation

TE § g T & JAURISRITS! SuGeh UeHg : sifegawr / 39
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STeRERTST ATl /e IRBA ... 31T

q) Wfgel Harfinsur, T TS, T A e

R) I Ul gRaaT, Afgell FeHlenvul, FRey FHIT Siie

3) 7 T, T e Fped, SR GRT AU R

g) ol STeult Tehed, g% UMl GRasT, IRderd! Syt

Main objectives of Jalswarajya Yojana are .......

1) Women Empowerment, River cleaning, Healthy Rural life

2) Pure Water Supply, Women Empowerment, Healthy Rural Life

3) River cleaning, River Connection Scheme, Water Supply through Tankers.
4) River Connection Scheme, Pure water Supply, Construction of Bore wells

) Irfior AT

TE Pt e Ao A9 I B e IeFT-I IR (RKVY-RAFTAAR) 3R0IMN ... qey
HIRIAT SUTd 3T,

9) g 09¢ Q) STHERT 209¢ 3) AlgaR 090 8) St 20909

In permission was a given to change the name of Rashtriya Krishi Vikas Yojana to RKVY-RAFTAAR.
1) November 2018 2) January 2018 3) November 2017 4) July 2017

"MRATT FEH Pl Rfegl dRIshH’ ... e IR RUATT 3TesT gl

q) IRYE R) 9R&9 3) IREE 8) 9899

In the ‘Intensive Agricultural District Programme’ was prepared in India.

1) 1956 2) 1961 3) 1966 4) 1971

"' QT URATG, HREst oad i (SPMRM) =1 I, TTHiur 9RTe fahedt mratar \eg 37 ?
9) 90-9Y M R) 94=R0 A 3) R0-3Y T 8) 20-30 T
For the purpose of Shyama Prasad Mukherji Rurban Mission (SPMRM), Rurban areas refer to a

cluster of how many villages?
1) 10-15 villages 2) 15-20 villages 3) 20-25 villages 4) 20-30 villages

"' QT RIS, gRET e e (SPMRM)'" SIUIRAT g HATGTIT SAR] el ?

9) TR APy HATCT R) TEFHIT ST 2 AR He™T

3) grior a9 8) STATh HATe™T

Shyama Prasad Mukherji Rurban Mission (SPMRM) was implemented by which Union Ministry?
1) Ministry of Urban Development 2) Ministry of Housing and Urban Affairs

3) Ministry of Rural Development 4) Ministry of Jal Shakti

TERTY RN ' 'FAE M ASHT” AT AT 19 JEITHHI0l Squard el 31T,

q) RIS ARG FTctet R) WS et

3) M= g8 Q) STBRIRY BT

The scheme ‘Smart Gram Yojana’ of Maharashtra Government has been renamed after:
1) Raosaheb Ramrao Patil 2) Savitribai Phule

3) Gopinath Munde 4) Balasaheb Thackeray

e T  71C & JAURISRITS! SuYeh g : Srfeawr / 3y
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...... T SR fegeft sifeeiar 99, 09y Ao YRAR Ta=HT I Fe et I Ao
SRR e,

q) arcal SRR aronrft R) s Surear

3) g = 8) HARID STATDIE TR0

The Prime Minister of India launched "Saansad Adarsh Gram Yojana" on October 11,2014, the
birth anniversary of ........

1) Atal Bihari Vajpayee 2) Deen-Dayal Upadhyaya

3) Narendra Modi 4) Loknayak Jayaprakash Narayan

P S ATPRT BT HACRIH TR0 TEATIBST geeid HIH AT (SIP) g et 38, &l
IISFT ... TR el S,

9) gaT FEBR R) gar &= 3) AEPR o 8) aRIcTueh! PrErel el
Recently, the Ministry of Agriculture and Farmers Welfare has launched a Scheme on Internship
Programme (SIP) for young professionals. The Scheme is known as .......

1) Yuva Sahakar 2) Yuva Mitra 3) Sahakar Mitra 4) None of the above
ET AMING ARl PRihT (TI.UH.0H.) & IR SRPREAT ... HATRITA% €I STTUTRT
PHADBRI HRIHH 3R,

) HHEITD IR ITOT Hefet =T R) FEDPR

3) Tt fir STt demor ) T faeRy

National Social Assistance Programme (NSAP) is a welfare programme of government of India,
administered by the ministry of ...............

1) Social Justice and empowerment 2) Cooperation

3) Agriculture and farmers welfare 4) Rural Development

at feght Jefier R HEt Heners AT AT UIeH ™ -0 AHe, 031 e Wietierdat

PO fIer™ sRIsR 3T /e ?

A) TATIFIT IR ST Gt HTeRITedT Siaid €00 MU Hail fomae Sl dgid (PMKSK) 3games
el

B) GaUMT T Halt R S SR AT — a1 49 - BieelIsR rd e,

C) YaueHHT & A1y gIiaRUNGR Jaa forar T fHeft (PM-KISAN) 3iaifd va€,000 dIciar

94 7 gHT Sl SIRT hel.
g SR :
9) Bh A Q) %h B 3) Bk A 3TfoT B ¥) ek B 3mfor C

Which of the following statements about PM Kisan Samman Sammelan, 2022, held at the Indian

Agricultural Research Institute in New Delhi is/are CORRECT?

A) The Prime Minister inaugurated 600 Pradhan Mantri Kisan Samruddhi Kendras (PMKSK)
under the Ministry of Chemicals & Fertilisers.

B) The Prime Minister launched Pradhan Mantri Bhartiya Jan Urvarak Pariyojana - One Nation
One Fertiliser.

C) The Prime Minister also released the 15th instalment amount of 716,000 crores under the
Pradhan Mantri Kisan Samman Nidhi (PM-KISAN) through Direct Benefit Transfer.

Answer Options :

1) Only A 2)Only B 3) Only Aand B 4)Only B and C
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died T TeEeT Wefletid! o U sRIsR 3 /31 ?

A) U T30 Pieret @ M BRiH (PMKKK) T 2032 788 U9 faRRId &7 Fag= (PM VIKAS)
IISHT 3R AP PRUATT 37Te.

B) Ul AISTHT HATRITE UTd QA el IS Ueha el d’dl el @St 3R &, USTTAD, gt
RIER, 7S e anfdy A HfRre.

gt SR :

9) Hh A Q) wh B 3) A aTfor B agl ) A fdar B Al

Which of the following statements about PM VIKAS Scheme is/are correct?

A) Pradhan Mantri Kaushal Ko Kaam Karyakram (PMKKK) was renamed as the Pradhan Mantri
Virasat Ka Samvardhan (PM VIKAS) Scheme in 2022.

B) The integrated scheme converges five erstwhile schemes of the Ministry viz. Seekho aur
Kamao, USTTAD, Hamari Dharohar, Nai Roshni and Nai Manzil.

Answer Options :
1) Only A 2)Only B 3)Both Aand B 4) Neither A or B

¢) WEBR &7
HEPRRET WSS TRAT PO gt MR ?
T 3nffer 3T AT PRUITATS FHI RS STAUIR. 31 b, e ST Jovgodld AgHRiT Biard
q) <&l To. Hedl ?) . g 3) Wt Uk, Rgdets | 8) qiouD! piofig @

Who has stated the following definition of co-operation ?

"A movement in which many people with similar needs voluntarily join together to achieve a
common economic objective is called co-operation’.

1) V.L. Mehta 2) H. Colvert 3) C.F. Strictfund 4) None of above

...... TR AePR! TR QY. 3T,

a) Frefih paaRar b) @ToRt Fxefeft Fqut

¢) urHior wrTciel Sama™ Saravad ed d) SRYch TG 30T ~Igfed

i ST :

) (a), (b) 3for (c)  R) (b), (c) 37T (d) 3) (@), (b) 3R (d)  8) (a), (b), (c) MM (d)
.............. are the weakness of the Indian Cooperative Movement.

a) Lack of funds b) Competition from private agencies

c¢) Helped for improving life in Rural area d) Defective Management and Leadership

Answer options :
1) (), (b) and (c) 2) (b), (c) and (d) 3) (a), (b) and (d) 4) (), (b), (c) and (d)

WS BUD! DIV AEPRIT JScrd el ?

q) YfTHd I G AURIGA Q) BpTE PRz

3) quRICrE A1-37fh A9 %) AEDHRIT freror

Which of the following is not the principle of cooperation ?

1) Open and voluntary membership 2) Democratic control

3) Member’s non-economic participation 4) Co-operative education
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"' TEPRT IR ST 3 S FgPR JIRAT A giigsr’” g e ... I S BN

q) IR M #es 9%¢Yy Q) 3Raes WRel Frfior uet urgoft 9y
3) il ST 209 ¥) TR afereh

"Cooperation has failed but cooperation must succeed" this statement was stated by
1) Planning Commission of India 1985 2) All India Rural Credit Survey 1954
3) NITI Aayog 2016 4) Narsimhan Committee

TTAfeh TSI AT AR AL AIcui™TeT ......... ... Hichd HPMR Aoy (fohanefiel HesivR)
3T B, WSS & 3Taedd dhy 3R

9) 90; 3. 90,000 Q) W ; B.34,000 3) 34; 3. 34,000 ¥) 90 ; 20,000 ¥

For registration of primary inland fisheries co-operative society the ........... active fishermen
members (fFaefiel 7<8MR) and Rs. .............. share capital is the essential criteria.

1) 10 ; Rs.10,000 2) 25 ; Rs.25,000 3) 35 ; Rs.35,000 4) 10 ; Rs.20,000

AR ST gD FRATDSH Thid HREF /Ples FTNST ATATUIRIIG! dIoT eepd fohel Faerd featt
ST ?

) @. 9.40 HfT diS Ffie ?) 3. 0.80 Hfd €ISl e

3) v.0.90 U ST e g) %.0.80 Hf IS Jfie

For running Ice factories/cold storage from co-operative societies from marine area, how much
concession is given in electricity charges ?

1) Rs.1.50 per electricity unit 2) Rs.0.90 per electricity unit

3) Rs.0.70 per electricity unit 4) Rs.0.40 per electricity unit

(8) SEIRT — URITY gfaren Snfor Far &

YRR SN - SIS  HId I, AlaST+1eh IJushd

THCHUHS - SYSENT, i wg e (Fawes)

3itenfies 4T - YR ter 3itenfie YT, AERTETR 3itenfie YR, SRS faxita Werd g 4R
s UYL gfaen faery

ATHIOT T ITENY U URAE, SBUEUT — X33, Aegl, Fevme T ot ATfawdier drisH

AR RIS - T8, UTUYRaaT T Ao AT, TR, fRrator anfawiie drism

QoI -WTdSife Seies YFNSRY, ThSI3T T ShRCTR SCRAUNC, SThIgaaNd TSI IRl

q) YRR ST - ST 9 A1 I, ATdSTi~1eh SUhd

HERTY IS SiTefiien FHg [IhRT AISHSIRIT eMaTds! PRIshAT! Hebed fehAd STRIT ST fapet i
PST M ?

9) . 9 IRG ) T, ANG 3) 3. 90 ARG ¥) aRIeTdh! Praral Aral
What is the maximum fixed project cost of soft intervention program under Maharashtra State

Industrial Cluster Development Programme Scheme ?
1) Rs. 1 lakh 2) Rs. 2 lakh 3) Rs. 10 lakh 4) None of the above
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RGTCIAUD! PIUTT TR FHTRT AR TITe ST 098 HE TTehiferd fSfeg FeULT awudTd ST 3TTg 2
q) HSRI, M, TGYR, ITHHEIG Q) TSRRIA, Mifcar, Aics, arfim

3) fEmel, Wyoft, IR, AR 8) TSeRIel, TR, STAEIG, aTflm

Which of the following Districts are included in PSI 2019 as aspirational Districts ?

1) Bhandara, Gondia, Chandrapur, Osmanabad 2) Gadchiroli, Gondia, Nanded, Washim

3) Hingoli, Parbhani, Chandrapur, Nandurbar ~ 4) Gadchiroli, Nandurbar, Osmanabad, Washim

........... I BT RIGTIR HERTY UGuUl (7301 HewsrT T ST,

9) ST (uUT Ufcrser AT fHaeer) SifdifigH, 9’08

Q) HERTY STofIeyU fcieerds Braar, 9€%

3) Io (J9) AfIfFRE, ajuw

8) HERTY &1 UguUT wfcsey i HrIT, 9¢os

Mabharashtra Pollution Control Board is established under the provision of Act.
1) Water (Prevention and Control of Pollution) Act, 1974

2) Maharashtra Prevention of Water Pollution Act, 1969

3) Water (Cess) Act, 1977

4) Maharashtra Prevention of Air Pollution Act, 1874

TRAT g T TRAYAT I8 ITAT SISl Sl

T[EAT TRATYAT T

a) SgTY 3T TR STRINT DaRER
b) <) 3T AT T II) © TSR %60
¢) AERTY 5T g I fahr Hgriso II0) TfdieT 9%41
d) HERTY UeuuT 130 He IV) 3fidelar 9%6
gt SN ;

FI 9§ & B
H) v I I I
2) m I IV I
3) I m I ™V
4 mM IV O I

Match the following of Institute and its establishment year.

Institute Establishment year
a) Khadi and Village Industries Commission I) 1962
b) Khadi and Village Industries Board IT) 7 September 1970
¢) Maharashtra State Small Industries Development Corporation III) April 1957
d) Maharashtra Pollution Control Board IV) October 1962

Answer Options :

a b ¢ d
H v I I I
2) I 1 vV 1
3) I 1 I v
4) W Iv @I I
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WG DU I g 3 2
a) HERTY ISITeA] FATTIRET SiTelfiies &3 Wl A Sl AT,
b) TERITRI GREIS Il QAT TREls ST IR 3T

I IR :
) (a) TP ) (b) TP
3) (a) 31T (b) TP AMed ) IIGUD! DIVl b ATal

Which of the following statement is incorrect ?

a) The industrial sector did not progress rapidly after the establishment of the Maharashtra state.
b) Maharashtra’s per-capita income is higher than the country’s per-capita income.

Answer options :

1) (a) is incorrect 2) (b) is incorrect

3) (a) and (b) are incorrect 4) None of the above are incorrect

MIDC BRI AMFSET el dRidles fdbdl aurr 3radl?

9) 3 R) y ¥

3) g a 8) SUid JSTTeld 3T8T SRict
What is the term of office of a nominated member of MIDC Corporation ?

1) 3 years 2) 5 years

3) 6years 4) Aslong as Governor wishes
Arefiet faem foamia & :

a) 39 fsAeR 20239 R gerTy e ARy Temes™ R 3ienfie a3 fFmior def.
b) <R 3ifEnfie exitdt 43 M) aenfis &3 3z
¢) R SN &tdht g T MENfie &3 7 92 M A 3R

RITUDT Piur /<t faem= /= T/ 3 /d ?
TRITUDT Piur /<t faem= /= T/ e /d?
q) Wh (a) 3T (c) A AT R) Weh (a) 3T (b) AT AT
3) Hth (a) AT 3R 8) Weh (b) AT (c) T 3T

Consider the following statements :

a) As on 318t December, 2021 Maharashtra Industrial Development Corporation has built 289
industrial areas.

b) Among 289 industrial areas of which 253 are large industrial areas.

¢) Among 289 industrial areas of which 24 are mini industrial areas and 12 are growth centres.

Which of the statement/s given above is/are correct ?

1) Only (a) and (c) are correct 2) Only (a) and (b) are correct

3) Only (a) is correct 4) Only (b) and (c) are correct

Fe fRIAT YRAS Heh AdSie SETaTdt IRdla 3RIe! Sl 89 ... IRE

q) Bl AT SRTMIGT Q) TIATS ATED SN RS

3) g 3T SreMeeT 8) 3T Jol

At present the industrial sectors of India reserved only for the public sector are
1) Arms and ammunition 2) Air transport and arms

3) Railway and ammunition 4) Atomic energy

e § 9 7 & JEURISRITS! SUYh Fwg : sfeaawen / 0
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gerfrg I (38 w1asf BRIeT) 9/%% HEd Tl et dhe a2

9) 993 R) 934 3) 94¢ g) TR TS

How many Sections are in the Trade Marks Act, 1999 ?

1) 112 2) 135 3) 158 4) None of these
TIesis AfUFRH, 2004 3T SIS 31Th 3Yced’ A I DIUAT HSAML fAog hodt g ?
9) HAY 92 (TASHS AT, 004) Q) B o¢ (WSS AT, 004)

3) BT 98 (THsHs Iffag, 004) ¥) HSH 0 (TWssIs ™, 2004)

Which Section of the Special Economic Zone Act, 2005 deals with the Constitution of the "Board
of Approval" ?

1) Section 12 of SEZ 2005 Act 2) Section 08 of SEZ 2005 Act

3) Section 14 of SEZ 2005 Act 4) Section 20 of SEZ 2005 Act

Uce ST fSeie rIqT, 9%99 <1 PIVRAT dheMiaiia 'Uee’ o R g hall M ?

) BT () ?) BT () 3) e (99) ) I Prergl ATar
Under which Section of Patent and Design Act, 1911 definition of ‘Patent’ is mentioned ?

1) Section 2(6) 2) Section 2(4) 3) Section 2(11) 4) None of the above
SEZ ®ISl, 004 T Phe™ 99 3R YRA DR ............ UGS FHHT GOl RietedT e
PIUATE! ST AP MY FaU[ g TRDR RIhl Fs e,

9) Iyafag ) WU ARIg 3) 3R AfRyg ¥) Irdehl ATal

According to the Section 11 of the SEZ Act, 2005 the Central Government may appoint any of its
officers not below the rank of to the Government of India as the "Development Commissioner".
1) Deputy Secretary ' 2) Principal Secretary 3) Under Secretary 4) None of these

fery anffer & HIIQT, 04 T BIVT HaHraTe Iy MiE & FRITUT HRUITET TRl TIR
PRI} Wk’ G Bl 3R ?

) BT ¢ ?) e ] 3) @ 99 ) P 3

Under which Section of The Special Economic Zone Act, 2005 "Procedure for making proposal
to establish Special Economic Zone" is mentioned 77

1) Section 8 2) Section 9 3) Section 11 4) Section 3
TERTY R gop Ififm, 209¢ off ASfia Wieies Siear S,

fad g
1) et TTferenuT a) 90
1) fIga goob FRIerepri frgeh b) ©
1) SHFTURS ST SEIYRID vl ¢) ¢
V) faga gepra UeH d agal d) &
gt SR

I on m v

1) a b ¢ d
2) a c b d
3) ¢ b d a
4) b d c a
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14)

9y4)

15)

Ig)

16)

Q)

17)

9¢)

18)

For Private Circulation Only

Match the following in relation to Maharashtra Electricity Duty Act, 2016.

Particulars Articles
I) Appellate Authority a) 10
IT) Appointment of Electricity Duty inspectors b) 7
IIT) Licensee etc. to keep books of accounts and submit returns c)8
IV) Payment and recovery of Electricity Duty d) 6

Answer Options :
I o m v

1) a b ¢ d
2) a c b d
3) ¢ b d a
4) b d c a

TERTY fagd goob SIAMTH, 09¢ T PeH 93 v IIRTUT AR TG QINRIGHCK ... T 3R,
Ihes IATIT eIl fIeRT STuRERt U 1.
q) 3. 4,000 ?) ®. 94,000 3) ®. 93,400 8) aRIctch! Pratel el

According to the Section 12 of Maharashtra Electricity Duty Act, 2016 as the penalty for offences
on conviction, the offender shall be liable to a fine which may be upto ......
1) Rs. 5,000 2) Rs. 15,000 3) Rs. 13,500 4) None of the above

TERTY Sifeilfier faer BrIer, 989 Aed fdbcll yapsur aimea 2

1) 9 2) R 3) v 8) eIl Pratel el
How many Chapters are there in Maharashtra Industrial Development Act, 1961 7
11 2)2 3)7 4) None of the above

TRSICR TARIDIT [THTTHT /BRI DIuiial WG SxudIgd!, A& SIS JAh AIad
PIGHe 3Nl AT fSAPIRIT fohcht Dot Wid Irer Mg ?

q) 94 & ) 9oy 3) 20 9§ 8) eIl Pratel el
What is the validity of the administrative approval issued by Competent Authority from the date

of issue, before making any procurement by Purchasing Offices/ Dept. ?
1) 15 years 2) 1 year 3) 20 years 4) None of the above

IRTPRI FAUNTIGR, Geam Mfered . Y SRa o Y DI Hid IpHeaT @ardr Ffder, Ffier A8 uRig
I fCATPTIRIT Go! MfeT AR PRUITATS! ARTDRT f[HTIIehg fhAT drosraet fanett fGar St 2
9) 9 3eae fhar HER fFIH 4 T o IR 3= o

Q) 2 3eas fhar MR fFIM 90 g o IR 3 i

3) 3 3MTeds fhar PMR b 94 e o SR 3=t o

¥) g 3fcds fohaT MR fba Q0 g & IR s o

What is the minimum period given for the submission of tender, from the date of publication of
tender notice by Government Dept. for Rs. 25 lakh to 5 crore tender in open tender system ?

1) 1 week or minimum 5 working days, whichever is more

2) 2 week or minimum 10 working days, whichever is more

3) 3 week or minimum 15 working days, whichever is more

4) 4 week or minimum 20 working days, whichever is more

TE g g T1C & JAURISRITS! SUgeh HeTRig : Tfedaer / ¥
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TERTY Sienfie e i, 9%¢9 T SV HeMMed HEHSIIST AU RIS Afdhd I,
S TE@E! UhaTh! U dRIG PRUITA] TRAGTES TG Dhes 38 ?
9) P 49 Q) B Yy 3) de™ 39 g) et Y
Which Section of Maharashtra Industrial Development Act, 1961 provides for recovery of sums

due to the corporation as arrears of land revenue ?
1) Section 51 2) Section 54 3) Section 31 4) Section 5

TRy SN famrT Ififem, 9¢eq Teftes DU HaaMed Temsa Aq, ISR 7 HHaRy
T g APHdD AHUAETET TG hes 3Mg ?

) BT Y42 R) D Y43 3) P &9 ) P &5

Under which Section of the MID Act, 1861 members, officers and employees of the corporation

are deemed to be public servants 7
1) Section 52 2) Section 53 3) Section 61 4) Section 66

3) THURIUHE — SN, i wig faem (FeeR)
&g AT JEH ST oY I HATRITAT i 23-3-2092 BT QAR Fderiedl Udier,
AAicufipa e SMOT oy FENTHIhT TG PREANAC! ...ovvve. IR Il SIUIT 3T 3TTed.
9) Y0 ?) 300 3) M0 ¥) W9
On the basis of concessional lines vide order dated 23-3-2012 of Ministry of Micro and Small
Enterprises of Central Government, the total item have been reserved for procurement through

registered Micro and Small Scale enterprises.
1) 250 2) 300 3) 277 4) 241

REE H oY I YJATD A ... FRUIT 3TTell e,

9) 4 G 2. Q) & A 5. 3) V.Y ARG 3. 8) ¢ g 2.
Investment limit of small scale industries was done in 1966.
1) 5 Lakhs Rs. 2) 6 Lakhs Rs. 3) 7.5 Lakhs Rs. 4) 8 Lakhs Rs.

q&H, g ST HezH IS IERT 7SS UGN ... RISt R/ STRRIT FRvard 31 gl
q) 9 STFERI 200¢, ?) Q0 A/ 000 3) 94 | 2000 8) R 3SR 00%
The National Board for Micro, Small and Medium Enterprises was established/notified for the

first time on
1) 1* January, 2006 2) 20 " March, 2007  3) 15™ May, 2007 4) 2n QOctober, 2006

TAQRIHE PIICT, 00§ T PN Herichia GeT MM o1y Sen gawar uRved o1 g dhodl
AR ?

) D 9& R) P qu 3) P 29 8) PH 9

Under which Section of MSME Act, 2006 ‘Composition of Micro and Small Enterprises

Facilitation Council’ is mentioned ?
1) Section 16 2) Section 17 3) Section 21 4) Section 12
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eH I g HEgH IUHATAT IS Hedrd! 8% T ... Afe=IHR B,

9) 03 ) 3 3) o% 8) 0%
The National Board of Micro and Small Medium Enterprises meets once every month in year.
1) 03 2)2.3 3) 04 4) 09

Tefiettidht PIor e /e sRIsR 3R/ ?

a) ST STIH, S g Aigel AT JeqSTehdal Aed d UIcATeT SUIRIS! ‘FeIc 319 3fean’ & e
g el

b) AZel JeISThcel HIHTE, DIeed T g Iemm=r (Fefich Iucreudr @l a1 g Tt qa
IISFT & e

i SR :

9) Th (a) R) % (b) 3) (a) ST (b) 8) oI et

Which of the following statement/s is/are correct ?

a) ‘Startup India’ scheme was launched to help and encourage entrepreneurship among Scheduled
castes, tribes and women.

b) The ‘Pradhan mantri Mudra Yojana’ was launched with the, aim of encouraging women
entrepreneurship, skill development and making funds available to industries.

Answer Options :

1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above

Wloftel faerideh! v /ot /=3 a9 e /d 2

a) HIeh-JeSih Agdl Uh oY SUhATE] TIRS! v 3Rl FeU[d HHAR! & faeprreat
TAHRIHD YRR FHIAT 9 3Rl

b) IR, AR, R 3. ARG HaT &=1d T2 AR S} YUl Geifard e

¢) AT HHTeH fIhRT BRI FIEIOl SRUGTT QF Yaiaededl Sed — Sdid JaeTaHTe Jiefcd!
o vg SR S s art frefiesdr ST difthes SSTERUT

TgRft SN :
9) Weh (a) TRT 3Te. ) Beh (b) 3T (c) AT 3Med
3) 59 (a), (b) T (c) T™T 3med %) (a) 3T (c) AT 3Med

Which of the following statements is/are correct ?

a) The owner-entrepreneur usually is the HRD Manager in a small enterprise so chances of positive
outcomes of developing employee competencies are high.

b) In service sector like hospitality, health, tourism etc. HRD is most neglected.

c¢) There are two pre-requisites of effective implementation of HRD Function - top management
commitment and HRD staff’s dynamism and personal example.

Answer Options :

1) Only (a) is correct 2) Only (6) and (c) are correct

3) All (a), (6) and (c) are correct 4) (a) and (c) are correct

7T e dhg—apot AHeTEd Giefledeh! PIUrd fIem sRIeR ATgl ?

q) T ISR QUAT AUTAT ST HiSaesrel! e 9g ot TV SRl ¢ Ceh TS fae! ST

Q) IT AroHidid, faRd detear €IS Hisdes WRahskaT dreaedt 4 oy 3mfor € Afd 3.

3) SATHIAN URAhS delell M UM SSIUIET ST & SaRd e JEeldic! ST dhatt ST,

¥) 5T HisdorAT HorredT XU fafgd dreaeid wRdthe aRvaTd ST AR TR Afhd IpHR T.A1.E.9.
9 Teh SSHIT TS JMBRS .
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Which of the following statement is not correct regarding District Industries Centre-Loan

scheme?

1) Under this scheme, the amount of seed money is given as a soft loan with 4% per annum
interest.

2) Under this scheme, the repayment period of the disbursed seed money is 5 years and 6 months.

3) The amount repaid by beneficiary is firstly credited as interest then the remaining amount as
Principal.

4) If the loan amount of seed money is not repaid within the prescribed period then penalty
interest is charged with 1% per annum on the due amount.

JuIRd 5T Hisas Ao AeHid @leflel U™ R =,

a) IT AT PHHTA Uehed fohAd . 40.00 .

b) dfe HisaeHRIT e g Do FeU RIS §% TSI QUTd Ad.

¢) §is Yigas Horrdt Pt FATST B, 8.0Y4 AR .

RITUDT U I RISk 31T/ 31=d ?

9) T (3) ?) T () M () 3) FH (b) 8) % (c)
Consider the following statements regarding the Revised Seed Money Scheme.

a) The maximum project cost of this scheme is Rs. 50.00 Lakh.

b) The seed money amount is given as soft loan at 6% interest per annum.

¢) Maximum limit of seed money loan is Rs. 4.75 Lakh.

Which of the above statement/s is/are correct ?
1) Only (a) 2) Only (b) and (¢) 3) Only (b) 4) Only (c)

MSMED &1e1, 200¢ Fe Hod R ()T Fxd IR &7 7ot o1 feasT &t RaseRIhgd

TREICR DIVCHE! IR fehdaT HaredT Fefiept e fCaaTuRye T HiFig Fihd el fCaTaRT ............
FIBEL T FE Jde fad gri.

) 93 ) Y 3) 9V 8) 9¢

The Section 2(b) of MSMED Act, 2006 states that ‘Appointed Day’ means the day following
immediately after the expiry of the period of days from the day of acceptance or the day of
deemed acceptance of any goods or any services by a buyer from a supplier.

13 2) 15 3) 17 4) 18

MSMED &RIE], 200¢ BT B 3(3) (Sit) 3R Je&d, oy M AegH Iuhe PR Heword HRd
WRERA .............. Afearar A SR

q) ¥ ). 3) ¢ 8) TR el
According to Section 3(3) (g) of MSMED Act, 2006 the National Board for Micro, Small and

Medium Enterprises consists of secretaries to the Government of India.
1)4 2)7 3)8 4) None of these

THUATHS BIIGT, 00§ T HIUAT HAHR], I FRBRAT FIHES! SHfaurea SR Ufhar g
hefl M8 ?
9) BT 94 R) P 90 3) M 3R 8) HSH 30

TE g g T & JAURISRITS! SuGeh UeTHg : Sifeawr / 8y
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Under which Section of MSME Act, 2006 procedure of power to make Rules by State Government
1s mentioned ?
1) Section 15 2) Section 10 3) Section 32 4) Section 30

IDR SIS, 9349 T HIURIT DM FGAR IRV o IReAT F9g il 3712 2

q) P 3(a) ?) @™ 3(ab) 3) @M 3(ac) ) aRIAuh! Preral ATar
Under which Section of IDR Act, 1951 definition of ‘Advisory Council’ is mentioned ?
1) Section 3(a) 2) Section 3(ab) 3) Section 3(ac) 4) None of the above

IDR @IS, 9%49 T PIUT Horicnid ' faemmt aRecd)’ arer g deft g ?

) D 3(b) R) P 3(a) 3) P 3(d) 8) P 3(e)
Under which Section of IDR Act, 1951 definition of ‘Development Council’ is mentioned ?
1) Section 3(b) 2) Section 3(a) 3) Section 3(d) 4) Section 3(e)

e (faepr omfor M) e1ffem, 9]49 HHfies S g et dRdg Jreal Siieal Sjear

Gaot] GG

a) Y 1) faems sitenfies Suspdi Ficof

b) ¢ 1) BT AGAR IR I T3 3o B

c) 90 IM0) fderT IRSEHT I aRUIR g, IRBRY IITBR
d) 2 IV) fawrr aReqa faeeT

IR SR :

(@ (b (© @
) O 1O I IO
2) m v o 1
3)) v I I 1
4) 1 o v 1
Match the following Section with its provision of Industries (Development and Regulation) Act,
1951.

Section Provision

a)S I) Registration of existing industrial undertakings

b) 8 IT) Establishment and constitution of Central Advisory Council and its function
c) 10 IIT) Power of Central Government to issue directions to Development Councils
d) 22 IV) Dissolution of Development Council

Answer Options :

(@ (b (© (@
) I o0 1 1
2) m v I I
3) v I I 1
4) 1 o v 1

S (e afor Fame) aftfe, 9j49 #elies @islesue! PIvR /v besd & gaar gRirerel
Hefera amg ?
a) 9¢ FA b) a¢ FB ¢) & (%) d) 3()

TE g g T1C & JAURISNITS! SUgeh HeRig : Tfedaer / ug,
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gt SR :

9) Teh a 30T b ) Beh ¢ 3) ®eh d ¥) IdhT ATal

Which of the following Section/s of industries (Development and Regulation) Act, 1951 deal
with the Second Schedule ?

a) I8 FA b) 18 FB c)64) d) 3(i)
Answer Options :
1) Onlyaandb 2) Only c 3)Only d 4) None of these

3) 3iENfie YR - YRd, TERER iEfie 4R, SEmacr kg 98

)

1)

Q)

2)

TERTETCS 3ienfies URor Snfd i Sfeves Widdl uaTd 3Nl 3Med. AFg SiveT SfesdT

Y -1 Y - 11
a) TIdRifhd 3iENfih Hgpes TATHIT ol i) 9%¢9 T SN YR
b) FRRIET goirdl U g TRImdT @Ror i) 9883 T T 3ifenfie eRor
¢) TRRISTRITS! A9 TRt =0y iii) 9%y T T SHENfie eRor
a) fafa g e it Je <O iv) 300¢ o 3itENfie eRoT

R SR

@ () (© (@
) @) (1) (@) @v)
2) (i) (v) (1) (1)
3) (i) (1) @Gv) @)
4) (i) (i) @Gv) (1)

Maharashtra State Industrial Policies and their objectives are given are below.Match the correct:

Unit - I Unit - I1
a) To establish five star industrial campuses 1) Industrial Policy 1981
b) To establish International exhibition centers 1) New Industrial Policy 1993
c) To take special efforts for self employment ii1) New Industrial Policy 1995
d) To given importance to export oriented business iv) Industrial Policy 2006

Answer options :

@@ () (o @)
1) @iy 1) @G @Gv)
2) (u) @v) (1) (i)
3) (i) (1) @Gv) (@)
4y (i) (i) @[v) (1)

YR fears@R g AeRt Hew (IBBI) et TG S ?

q) 9 IR 09§ ?) R IffFeR 09¢

3) 3 MR, 09¢% ) I Preral ATar
When was Insolvency and Bankruptcy Board of India (IBBI) established ?
1) 15 th October, 2016 2) 2 nd October, 2016

3) 3 rd September, 2016 4) None of the above

e § 9 7 & YEURISRITS! SUYh Fwg : sifeaawen / 8o
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TERTY 5T 3 AT Jaqueh AgMewmrl THuT HIGfih BRIeRI ... 31T

1) 4 ) © 3) R 8) T I

State Industrial and Investment Corporation of Maharashtra has total regional offices.

1)5 2)7 3)9 4) None of these

R ot faeft il srftrRu srede § @™ 9T L. quf ERUd USTeR JTEh.

9) &R ¥ ) gy 3) gv Y 8) wo ¥

The Chairperson of the National Company Law Appellate Tribunal shall hold office until he attains
the age of

1) 62 years 2) 65 years 3) 67 years 4) 70 years

RTINSt oY SENT gda e JTede ... R,

) IR RIgIBRY R) RicgitpRt

3) RIS, fNiegl SN ohg ¥) Iuft Ip FavUTIH
........ is the Chairman of District Small Sick Industries Rehabilitation Committee.

1) Additional Collector 2) Collector

3) General Manager, District Industries Centre 4) Lead Bank Manager

AReha Reieg ddhea Aniede AR, & fhal &g Sushd STSIRI SRAeA Fgedd ST TR..........

9) IUPHHRS ot G Tehl TieaT PRI 7 PR Aot Med fhar Anflel oRkar aufd Sushdrean Hede
eIl 30% AAQRIA TRy dicares fHaw Jedrd oc .

Q) SUHAT Pol @A SF Higd PRI T PRI HTeHaT g

3) SUHHR ot @I i Afg fohar 3iftes ah1es BRI T PROIRT HieHH T JTed fobdl AR oikdl auial
SUSHIT fedes Tl 40 % FAQudd oY dlcaies Mde HJedrd o .

8) TR B el

According to RBI guidelines, a micro or small enterprise may be said to have become sick if

1) Borrowal account of the enterprise remains NPA for one month or there is erosion in the net
worth of the unit due to accumulated losses to the extent of 30% of its net-worth during the
previous accounting year

2) Borrowal account of the enterprise remains NPA for two months

3) Borrowal account of the enterprise remains NPA for three months or more or there is erosion
in the net-worth of the unit due to accumulated losses to the extent of 50% of its net-worth
during the previous accounting year

4) None of the above

M ot faeft s sreuegreaT FaSITSt @reliettid PRt I JMaTd I ?
q) S I IR =T FgUd 9T aueh el 3ME

R) WM Riegr =mefter FgUd 9T 9y B el 31Te

3) M 9 ITSAR ATefie U 9 9y BRI B el 31E

8) SN RIS Jehics FeUd FeUd Ui a¥ PHRf dhed 3TTg

e § 9 7T & YEURISRITS! SuGth TTRUE : IRfawT / ¥¢
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Which of the following qualification is required for the selection to the post of the President of
National Company Law Tribunal ?

1) Who has worked as Judge of a High Court for five years

2) Who has worked as District Judge for five years

3) Who has worked as Judge of a High Court for three years

4) Who has worked as a advocate of a court for five years

493 HEFRRUTITRT SAIFEH, 9¢c¢ 3iaria URWING PR ‘@UR FHR IraT 37 3RIT 318 30T
1A PIUTTe! IR, eI fohaT

q) e Q) TR 3) W ) TRER

‘Trade refuse’ as defined under Mumbai Municipal Corporation Act, 1988 means and includes the
refuse of any trade, manufacture or ............

1) industry 2) business 3) house 4) locality

ferepT QoehTal X SFhH ... 30T ... fdeprE oeprea SR e, fariiardt Ffce fhar deurcres
TR

q) QI 9o, QF 9o Q) QT Ao, &S A 3. T BT, QF del 8. &M deel, T dedl
The rate of development charge for different nature or category of development of land and
buildings for industrial and commercial users shall be ...... and ...... of the rates of development
charges, respectively, specified for residential or institutional users.

1) One-and-a-half times, two times 2) Two times, one-and-a-half times

3) Three times, two times 4) Two times, three times

TERTERAT DIV SiTelfiie &raT FHEae Rgl-Hes Seedd PIRSRI HRUITd 3Tl 37T ?

a) M Yy b) feet sigR c) gL HEMn d) digT-fash=
IRt S|
Q) (a) 3T (b) ?) (b) 37T () 3) (b) 3for (d) 8) Th (c)

Which of the Maharashtra’s Industrial Regions are included in The Delhi-Mumbai Industrial
Corridor Project ?

a) MIHAN Project b) Dighi port

¢) Samrudhi Mahamarg d) Shendra-Bidkin

Answer Options :

1) (a) and (b) 2) (b) and (¢) 3) (b) and (d) 4) Only (c)
HERIERET 3M1ffes rguft 20293 TAR HERIYT IR Hepel DIvAl Niegiid Mg ?
a) PICEIR b) gor c) femett d) Yo

gfft SR :

q) (a), (c) 3T (d) ) (a) 3T (d) 3) (b), (d) 3o (a) ) TIAUST ¥

According to Economic Survey of Maharashtra 2021-22 in which districts of Maharashtra are
Textile Parks located ?

a) Kolhapur b) Pune ¢) Hingoli d) Dhule
Answer Options :
1) (a), (c) and (d) 2) (a) and (d) 3) (b), (d) and (a) 4) All of the above

e § 9 T & JEURISRITS! SUYth FeHug : sifegawer / ¥R
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sifenfiies eRor, 9]ye =t Ifexe ... RS

a) 3ifenfies g€t X TR PR, b) 3faTe ST fIBRT .
¢) Qerft & faRdR @, d) SresTfes &amaT foRdR o,
g IR :

q) Weh (a) T (b) Q) b (c) 3T (d)  3) Fh (b) 3T (d)  8) T (), (b) 3N (d)
Objectives of the industrial policy, 1956 were

a) To accelerate the rate of industrial growth  b) To develop heavy industries

¢) To expand private sector d) To expand public sector

Answer Options :
1) Only (a) and (b) 2) Only (c) and (d) 3) Only (b) and (d) 4) Only (a), (b) and (d)

YERIE a1 3iefies eRor 209% t IR WieflayHTor 3Med.

a) TIIRIRI UINep aTTeRvl AT ot Sifenfiies Jaufhiciios STETSE AT JAETfRIT 3aul.

b) &H, FY I ALIH ISR HIHET < ISR I 39 Uil Brm 3qul.

¢) Ufrep Hdferd qafeRviiagRaT msEd a FaHTaee ifeifie ad Hicdre <ol

RITUDT U fre= RISk 31T/ 31ed ?

9) ‘31" Heh ) ‘9’ wh 3) 31 IMfr & 8) Rl T4

The objectives of Maharashtra New Industrial Policy 2019 are as follows.

a) To retain leadership position in industrial investment by providing conducive business
environment.

b) To sustain high levels of employment generation primarily through MSME promotion.

¢) To promote regionally balanced environmentally sustainable and inclusive industrial growth.

Which of the statement given above is/are correct ?
1) ‘a’ only 2)'b’ only 3)aandc 4) All of the above

URDPFI Ariceie T@igeR, TLTC 3 guf 9 61 312 ?

q) aRaET &R I FoRr Q) s TR defep! et

3) I3 FRTERIST aTgdeh HoR! ) AICIePRCRI Iaeh e
According to URDPFI guidelines, what is the full form of TLTC?

1) Transport Level Technical Clearance 2) Technical Level Taluka Committee
3) Technical Level Transport Clearance 4) Taluka Level Technical Committee

e ST et ~arTeeRer fFRM, 209€ T PIUAT HATHEY HseR dl R g dhefl 318 ?
q) e (93) R) P (R) 3) @M (R0) 8) ERIeTUh! BIelel el
Under which Section of National Company Law Tribunal Rules, 2016 definition of filer’ is

mentioned ?
1) Section 2(13) 2) Section 2(9) 3) Section 2(20) 4) None of the above

IET ST [eft iR M, 209 7S BT HeHeR ‘sreerelt HrI T el JMRd ?
9) P Y ) P ¥ 3) P 9§ 8) P ¢
Under which Section of National Company Law Tribunal Rules, 2016 ‘Functions of the President’

are mentioned ?
1) Section 15 2) Section 4 3) Section 16 4) Section 18

e § 9 7T & YEURIESRITS! SUgh FHg : sifedawen / 4o
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T ot et =mnieRer (TRived) W, 209¢ q¢fie PIuT doHHeR Ufsshe T 3ifh Aifed””
9Ee faerg o 3 ?
9) NCLT a9, 209¢ o P ¢ 2) NCLT R/, 209¢ 9 e ¢9
3) NCLT 74, 209¢ o &M ]2 8) NCLT =M, 209¢ T Pad 3
Which Section of The National Company Law Tribunal (NCLT) Rules, 2016 deals with "Publication
of Notice" ?

1) Section 87 of NCLT Rules, 2016 2) Section 81 of NCLT Rules, 2016
3) Section 92 of NCLT Rules, 2016 4) Section 93 of NCLT Rules, 2016

TR ot feft =R M, 209 T PIURAT HEHTER, TSR SRIG R0 AT UfhIEEd
TG el AR ?

9) PHH ¥R ) P 3R 3) P 30 g) B 3§

Under which Section of National Company Law Tribunal Rules, 2016 procedure of ‘filing of

rejoinder’ is mentioned ?
1) Section 42 2) Section 39 3) Section 37 4) Section 36

P BRIGT, 093 BT 80 3R, ITET FHut feft ISR srfera=um srezer, A, AfIBRY 1for
SR PHANT 8 veenn T AYTAR BIH3iae 3ed 3R AFS STRe.

) HRA G Wfaerd Ppard ] R) KA 8 Hfgerd de Y

3) R G8 Wfecd Berd 9 8) YRAY S fecrd dem 8y

Officers and other employees of the National Company Law Appellate Tribunal shall be deemed
to be public servants within the meaning of

1) Section 94 of Indian Penal Code 2) Section 87 of Indian Penal Code

3) Section 21 of Indian Penal Code 4) Section 45 of Indian Penal Code

¥) aRaE, SuEeYr - B3N, Aedl, Sexnic g Folt BRI

_aRaed
AR Yoo e ey ¢ ... IR g el
q) 9 Ui Q020 ) 4 7 2020 3) 9 S 2020 8) & Tliel 2020
Indian Railways started Shramik Special Trains from .
1) April 1, 2020 2) May 1, 2020 3) June 1, 2020 4) April 6, 2020
feght A Xed & R ISR A
9) gui TRBRT FHEd ) AESIHP @il YriGR
3) qui ot foyedt 8) ot faceft e
Delhi Metro Rail is an example of a :
1) complete government funding 2) public private partnership
3) complete private funding 4) complete foreign funding

e § 9 T1C & QUSRS Sugth Heig : refeqaR / 4q
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et 2098 — 3ffFEER 020 ALY, 0 ANRATG Hhed quf $iTet ST ... T FHIALT B

a) § R SN Heped b) { TR IMYTHIARU Hehed
) § TR SISl Ueheq d) 8 PR e faer uehed
g IR :

) (a), (b) 3mfr (c) ) (b), (c) 3T (d) 3) (@), () 3T (d)  8) (a), (b) 3mfor (d)
Between July 2019 - October 2020, 20 Sagarmala Project was completed which comprise ......
a) 9 port industrialization projects b) 9 port modernization projects

¢) 7 port connectivity projects d) 4 coastal community development projects

Answer Options :
1) (a), (b) and (c) 2) (b), (c) and (d) 3) (a), (c) and (d) 4) (a), (b) and (d)

SICAGRISTRUA AT HOHSHTHaRT @ HR ARDBRY QI DRISHH MR S Wleilel MEleft Feferd ammed :
q) ITIeHH TR T HaT YR IMOT T T R

Q) ITgHH TRl ATEqeD (bR AT ATHIOT KT foiepr

3) S ER T AT GUROT ST -9t e

) 3NfApfid Rl SIHTeT 3T ITHivT Tereesar AaT

JNNURM and PMGSY are two Government of India programmes that deal with :

1) urban basic services improvement and rural road development, respectively

2) urban transport development and rural road development, respectively

3) urban basic services improvement and peri-urban basic services, respectively

4) underdeveloped road maintenance and rural sanitation services

CIGIGRERISRCCINCRAIIE

a) AP 994 (FSYS) TRV PIfde— % HEHRIRS Q- TaxHefier qafcia YRl Yed g eavell
g,

b) PIfde—9] HEMRIGES GF QI ATeD d9ed (FSgs) & YR gdls Hard el 2.

RIcTieht P/ e /= SRER 3 /T ?

It SR

It SR

9) Teh (a) SRIER 3R, ?) Feh (b) SRIER 3R.
3) ARl (a) AN (b) SRR AT g) IRIAUDT DI ATE!

Consider the following statements :

a) Transport Bubbles are temporary Railways Transport Arrangements within the country between
two cities due to COVID-19 pandemic.

b) Transport Bubbles are temporary Air Travel Arrangements between two countries due to COVID-

19 pandemic.
Which of the statement/s given above is/are correct ?
1) Only (a) is correct 2) Only (b) is correct
3) Both (a) and (b) are correct 4) None of the above

TE § 9 T1C & QUSRS Sugeh HITRIE : sfeae / 4R
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Qgreftet faum R &

a) BgaRl, 09¢ AL AERIY SBfaeeh cgedd UIATE YR, 209¢ SR HRudTd 3Tl

b) TERIYT 3B3fach cesdhel MATET HIRUT, 09¢ 3T AT FB3fach dTe- ST Tedh M1 TahT St
IUIG TTHIDhGH 3. (B0 DI IRATIT [daUhrd TR UTH STel.

Rieieh! Bivr /oY ™ /= s &g /d?
9) Pa (a) AT 3R Q) $d (b) RN 3T
3) Qel (a) 3T (b) 3 3R ¥) aRITUhT PIUE! ATt

Consider the following statements :

a) Maharashtra Electric Vehicle Promotion Policy, 2018 declared in February, 2018.

b) Under Maharashtra Electric Vehicle Promotion Policy 2018 proposals have been received
from seven electric vehicle manufacturing units and one battery manufacturing unit with
proposed investment of % 8420 crore.

Which of the statement/s given above is/are incorrect ?

1) Only (a) 1s correct 2) Only (b) is correct
3) Both (a) and (b) are incorrect 4) None of the above
WSISUDT TR BT /T Mool

37) STUM 3T HIGAT eI [HiFaT T ISR STclis Ufees SYNG-AIS aTg AeR 9hod 3.

) SIUG-HIS aTed Yod ghar &0 fopHT /qT, ST YTq erehdt 3TIfOr |TdoTi=ieh SR AR qo0 fhet. /
aN dH TS gl

i SR :

9) Weh ) Beh & 3) T T 9 qral ) eRIGUDT AT

Select the correct statement/s from the following.

A) Japan has introduced a minibus lookalike world’s first dual-mode vehicle in its town of Kaiyo.

B) The dual-mode vehicle can run at a speed of 60 km/h on rail tracks and can go as fast as around
100 km/h on public roads.

Answer Options :
1) Only A 2) Only B 3)Both Aand B 4) None of the above

IRV FeeTcliel R erd ST Wiefietids! Piureal F quf dhet

q) AT KT Fge R) 3T sRece it fast sirard

3) URART e Q) TIMS Moae HdM PR forfies
Construction of Siyom bridge in Arunachal Pradesh was completed by which of the following
organisations?

1) Border Roads Organisation

2) Indian Institution of Bridge Engineers

3) Indian Railways

4) National Projects Construction Corporation Limited

e T 9 71C & JAURISRITS! SuYth g : SrRfeawr / 43
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TSt RIfthr Sskar TRt Wicliel Jewy 3.

DU UM gebra 37TR /318 ?

a) TaegR fHasciel HeT e

b) g 3ifth NueigR S

¢) IsTrT uRuegR e Jeiitdt g,

d) SR A ST AT AIBUEN SR THeT DR b, ADPR ISR Yh PRI A1 e

i SR :

9) a, c Hh ?) b B 3) a, b, c Hh ¥) Id IRIER I

For establishment of National Shipping Board following are the members.

Which statement/s is/are incorrect ?

a) Six members elected by Parliament

b) Two by the House of People

¢) Two by the Council of States from among its members.

d) Other members not exceeding sixteen as the Central Government may think fit to appoint to
the Board

Answer Options :

1) a, conly 2) b only 3)a, b, conly 4) all are correct

9R€0 ALY PIPU [PIRUSIANIG SGxIed] [TBRITBING] Fgw@qUl TS IR FRUIMIGT TRA FRBRA
PpIore At R Beft gt 2
q) hePR A R) WRBINAT Al 3) IS At g) T 5T [l

In 1960, which Committee was appointed by the Government of India to draw up a Master Plan
for the development of ports on the Konkan Coast ?

1) Kelkar Committee 2) Sarkaria Committee

3) Rau Committee 4) Raja Chelliah Committee

DGIATRIT TQT AT AT ST Sele~T ge faodl 3fed, Tl g Siiel PIuKT o ST,

31) feght - g &9 31 el gfea ) TTeRd — %% W 3fE 9% oie

P) AT — fiicg e 31 5 ) ST ST BIeHR - ols 311 8”1 Ui
g SR :

9) 31,9, P, $ Q)A, &, P 3)3, 9 ) d, P

Following are the pairs of Indian Union Territories and their tourism tag lines, which one of them
are incorrectly matched ?

a) Delhi — The Hub of North India b) Ladakh — 99% Fun and 1% Land

¢) Lakshadweep — Give time a break d) Jammu and Kashmir — Land of High Passes
Answer Options :

1)a,b,c,d 2)a,b,c 3)a,b 4)b, c

HERISc Ufgetl WieT Siegl B ................. a7 Rieamd Aran ferel! o,

9) XA ) 3) Riygh 8) SIS

This district has been recognized as the first tourism district in Maharashtra.

1) Ratnagiri 2) Pune 3) Sindhudurg 4) Raigad

e § 9 7T & YEURISRITS! SUYth HHug : sifegawer / 4y
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AR ARBRT e JEATATTHET I¥ 209 HEY URATT JUMTAT Riehidd STaeouN ... % facaf
WieHH AERIETeT 9 feeft,

9) 39.94 Q) VR.W 3) W.OR ¥) 94.3%

According to the Tourism Report of the Government of India in the year 2012, about ........... % of
the foreign tourists visiting India, visited Maharashtra.

1) 31.75 2) 72.24 3) 24.72 4) 15.24

AT e PCU e fandt a/aa 2

1) ¢ R) & 3) 3 8) %

What is the PCU value of a large bullock cart?

)8 2)6 3)3 4) 9

AR ST aTiR TS el ST el

9) Zhiel el R) T & 3) BRT @®IReR 8) ST
Transportation land use can be used for :
1) sports complex 2) service sector 3) BRT corridor 4) burial ground

AP TS IRIHE Faseican draaed Uit e dodd AT b HRT STeASUIaT aTg-iidl F¥edt
30T TehR AT AL SRAQT, WelicTieh! IV BIATael AFFId: FIhRa ST el ?

9) IRRRI a1fier <P IgqR (AADT) Q) W a1 soaeIr feawd geRt (AAWT)
3) TR b Ve (AWT) 8) SRRIT Fa e<RT (ADT)

A traffic volume study involves the measurement of the number and type of vehicles crossing a
section of road per unit time at a selected period, Which period is NOT commonly adopted from
the following?

1) Average Annual Daily Traffic (AADT) 2) Average Annual Weekday Traffic (AAWT)

3) Average Weekend Traffic (AWT) 4) Average Daily Traffic (ADT)

YARIIAAT IReT AN Wletlel AT TR Higut BRUIRT G oo

P) oot =T Q) gl At R) ddhed =T S) AT el
gt SR :

9) Q-P-R-S ?) S-R-P-Q 3) S-P-R-Q 8) P-Q-S-R

Identify the option that arranges the following road types in descending order of accessibility.
P) Arterial road Q) Expressway R) Collector road S) Local street
Answer Options :

1) Q-P-R-S 2) S-R-P-Q 3) S-P-R-Q 4) P-Q-S-R

WAl oKt g ST e Adeumdt dgd AT 2

9) Re Uk 31e uga R) AT Bl IEGRT A&
3) SHeHTgse Ugd 8) e gy ST .
Which of the following is NOT a method of origin and destination survey?

1) Return post card method 2) Roadside traffic survey

3) Trapezoidal method 4) Tag on the vehicle method.

TE § 9 TIC & QUSRS Sugeh TeTRE : srefeqaR / uy



)

1)

)

1)

For Private Circulation Only

SISZIRSCEI

I Serfaed &g
a) I i) oY Rt
b) W i) ggT

¢) U iii) iear
d) FERTY iv) SH1e
g I :

@ () (¢) (d)
1) (1) (@) (1) @Qv)
2) (i) (1) Q@Qv) (i)
3) (@v) () (@) (i)
4) (v) (@) (1) (1)

Match the following :

States Hydro-electric centres
a) Assam 1) Shabari giri

b) Kerala i1) Pawana

c¢) Punjab ii1) Kotala

d) Maharashtra 1v) Umiru

Answer Options :

@ (b) (¢) (d)
D@ Gy (i) Gv)
2) (i) () (@v) (id)
3) Gv) (1) (i) (1)
4)  (v) (i) (i) (1)

IBUERY — 23N, e, SevAe
TIRIT AR JdT IR RIS
a) TRS] TR <IAdH ARPRI WdiHed Salel HdT gRau.
b) Tl I ISR el fHior @,
¢) T AT Ha T (¥iS URe) HaT gRau.
d) TR TR [T I qTohd 28N W s (SifEdt oo,

I S
q) (a) 3T () fIUF RISR 3 ?) (a) 3T (b) UM R amed
3) (b), (c) T (d) fau™ SRR 3med 8) (c) M R am

Advantage of the Panchayat Sanchar Sewa Scheme :

a) Providing Postal Services to needy area with less government expenditure.

b) Generating employment opportunities in these areas.

¢) Providing speed post services to the Urban area.

d) Generating saving through The Panchayat Sanchar Sewa Scheme in Urban areas,
Answer Options :

1) (a) and (c) statements are correct

3) (b), (c) and (d) statements are correct

2) (a) and (b) statements are correct
4) (c) statement is correct

e T 9 1C & JAURISRITS! SuYeh FIE : Srfegawr / 4
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)

1)

Q)

2)

3)

3)

8)

4)

4)

5)

&)

6)

Teffecd

R PRI g 9 " ERIS AT 3 Ay’ wgud St e,

) A%¢Y Q) 9%¢L 3) IR¢¢ 8) 9%¢R

United Nations had declared ............... sear as "International year of shelter for the Homeless".
1) 1985 2) 1987 3) 1988 4) 1989

Rt sece (M= o7iftr faerT) @rIgT, 209 T ARAGIIAR, Haddien fofed aRR 7 =T TEre
Schiegd, T fEhIATdl, sTcHe, weiic fbam SHR=AT fahmeiiea ........... % V&I SR e 3T, UHe
U WISRUI™ 715 37T,

)Y R) 90 3) R0 8) 4o

As per the provisions of the Real Estate (Regulation and Development) Act, 2016, a promoter is
prohibited to accept a sum more than % of the cost of the apartment, plot or building as the case
may be, as an advance payment from a person without first entering into a written agreement for

sale.
15 2) 10 3) 20 4) 50

3 IS I MM Pell ARRGST HR PRV Ufgel 5 B

) IR Q) HERIE 3) TIfEesTg ¥) ITR U
The first state to submit State Annual Action Plan under the AMRUT scheme was:
1) Rajasthan 2) Maharashtra 3) Tamil Nadu 4) Uttar Pradesh

PMAY (9&<) PIorca] SATGHRITGR &R det STl ?

9) TR AP HATC R) TEFHIT i R PR HAe™T

3) 3l HATeT 8) TS BB HATR

PMAY (Urban) is implemented by which Ministry?

1) Ministry of Urban Development 2) Ministry of Housing and Urban Affairs
3) Ministry of Finance 4) Ministry of Parliament Affairs

&G TRBHRA FATBC g4 Uhed (LHP) N axvIRe! fovcdt Isaril Fas et 2

) 03 Q) oY 3) 0% g) Q0

How many states were selected by the central government for implementing the Light House
Project (LHP)?

1) 03 2) 05 3) 06 4) 10

EWS 31T LIG |1et TeiFmir diomdiel Rivel HA<dT AHadiial @leiid fBhA &t 31T 3 ...
amfor ... 3.

9) v.8 @, ) Ry HR, 3@ 3) Q.4 HR, g Al 8) &4 @1, 2.9 4t

The minimum area and width of a room in a single-room tenement in a housing scheme for EW'S
andLIGis......and ......

1) 7.4 m? 2m 2)12.5 m? 3m 3)9.5m? 2.4m 4)6.5m? 2.1m

e § 9 7T & YEURISRITS! SUYh FeHIg : sifedawen / 4o
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MHUPA, 2099 =7 WRISUTRIT eI ARiGHD TR EWS HaraemRad! fbHr 3fepr fbdt
3Me ?

q) ¢o IR Fe IR fiee 3w g ?) 300 IRA % IR fee 3 wRar

3) Yo IRA %e R fiee o1 wRar 8) 33Y FWPOR HT IR fdec 31 wRar

What is the minimum size fixed for an EWS dwelling unit as per the Affordable Housing Guidelines
of MHUPA, 2011?

1) 280 sq. ft. of super built up area 2) 300 sq. ft. of super built up area
3) 250 sq. ft. of super built up area 4) 325 sq. ft. of super built up ar

Tefietieh! IvRT afdrses '/Arse AT [T ok 3ferial A ATl ?

9) g IISHT T HIH-I9 I Ieied] PeaRIIo! [$sTg dhetell 3R

Q) IT Y AT IR AR T

3) STIR BRI iErdp™ kg0

8) RIS AARID RTeledT A IR FAUT Suey ot <l

Which of the following does NOT fall true under “Site and Services” Scheme?
1) This is usually designed/ made for middle- high income families

2) All these sites fall in the fringe of the city

3) To prevent illegal construction on a site

4) Providing minimum infrastructure needed for habitation

Rarer geee (Frme 31T faerT) BrIer, 2095 T Wiciieldd! PIVAT BHIaId aIey BRUMIT Rchiell
A MU THEM TRUTSHIS! e STEEGR 318 ?

) B 9¢ R) P 9% 3) DM A9 8) P 93

The promoter is liable for the return of amount and compensation to allotee under which of the

following Sections of the Real Estate (Regulation and Development) Act, 2016?
1) Section 18 2) Section 19 3) Section 11 4) Section 12

T IUICHE HIGThM HERTY 3MUIcHe MR 3ide, 4%Wo T Hetd Y Iidid Wieflelddhl HrI oy
3TaLTD 37Tg ?

9) AT IR €0 e o1 8o

R) SISl fAfRd dheied UG AT JUICHEIT AT JUICHE SIS U7 Ul

3) HemTaRIe 4 e AR

8) H& HTUepIITehg quicard HHTOMTS fHoseor

Each apartment owner is required to do which of the following under Section 5 of the Maharashtra

Apartment Ownership Act, 19707

1) To get the registry of the property done within 60 days

2) To execute a Deed of Apartment in relation to his apartment in the manner prescribed for the
purpose

3) To pay all the levies on the property

4) To get a completion certificate from a competent authority

e § 9 7T & YEURISRITS! SUGwh HeHug : srfegawr / 4¢
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HERTY 3UICHE HIGTh! PRIGT, 9R60 BT TRAGHYT Wd JAUICHT HieThid! Hiel Pefl Preet ST
STl ?

q) T FHETAT AR AR T 0T ) Peted] BINUGR

3) ORE U H g) forfad errIgR

How may a property be removed from the provisions of Maharashtra Apartment Ownership Act,
1970 by all the apartment owners?

1) By an instrument to that effect duly executed

2) By declaration made

3) By passing a resolution

4) By agreement in writing

Yl dT AMISd T ST fAaRid dhell STisel M7 HERTY SMUICHE HIGhl HRIg 9%90 Jiarfd
9) rforiora IR cgrart Q) INSHTT aTeT
3) Il CeRaRt RISEIEIEI]

The common profits of the property shall be distributed among, and the common expenses shall
be charged to, the apartment owners according to the _ in the common areas and facilities under
the Maharashtra Apartment ownership Act 1970.

1) percentage of the undivided interest 2) share of contribution
3) percentage of the interest 4) share of ownership
1 ) e R ) K

AAY Y AERTY FEMRYIeinT SR, 9]8R erad gERGInie digg uqritY wana e
faegare SaugrITSt fdhar 3aR erhraT IHEeT Bl

q) ACHE T R) YRG! €Tt 3) PRARRRUT Tl 8) I ereht
‘Cesspool’ includes a ................. or other tank for the reception or disposal of foul matter from
buildings under the Maharashtra Municipal Corporation Act, 1949.
1) settlement tank 2) temporary tank 3) permanent tank 4) standing tank

JRRY g fAreqor F=on

URDPFI ATiEeie T 2094 TAR, T AHRI DRI (TR HaT L) Wieldl Al Hal o
AP

9) 4,00,000 ?) R,40,000 3) 9,00,000 ¥) 40,000

As per the URDPFI Guidelines 2015, one General Hospital (Health Care Facilities) can serve a

population of :
1) 5,00,000 2) 2,50,000 3) 1,00,000 4) 50,000

...... g 200 WERAT BiUcaed giice BERIINTS 3Ma9Tdh ITeiell ST 3TTg.

q) 9200 Il HE ?) &30 Tl FT 3) 204 Tl FT ) 820 . |
___1isthe space required for a hospital pharmacy in a 200-bedded hospital.
1) 1200 sq.ft 2) 630 sq.ft 3) 205 sq.ft 4) 420 sq.ft

e T  71C & JEURISRITS! SUYth g : Srfegawer / 4
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ATeST TR BRIGH 3T RIS e hHlhI R ST Wieilelddh! DI st Tl e,
31 ?

9) ITTAT JIfFERT Jex Q) sfeae wHiPIfRT B

3) ARl HHEPIfRNET HAeR dARS g) AR 3RecTe 3 ufeetd god

Which of the following is the WHO Collaborating Centre for Pharmacovigilance in Public Health
Programmes and Regulatory Services?

1) Uppsala Monitoring Centre

2) Indian Pharmacopoeia Commission

3) The Netherlands Pharmacovigilance Centre Lareb

4) Norwegian Institute of Public Health

aiter mfcdt Jar/dhgrean wurTelt et WiefietidT Hivr faum gh 3 ?

q) O SR S TR [THAIRIT R 3N, Q) O BT [THETSE® 39T,

3) T MR fAUeR Sfaes 3R, Q) T DUAITT JATATSTdS AT

Which of the following statements related to the location of drug information services/centre is
INCORRECT?

1) It should be away from inpatient and outpatient departments.

2) It should be near the pharmacy department.

3) It should be near the operation theatre.

4) It should be near the hospital library.

TSI+ DI Jedieh-TRIS! Faid AT Ugd, St eh faeny ATerm 31g, df SRieT :

q) fo™T U ) I Higdell Igd ~ 3) PACCRIT Ugd 8) qorcHD Ugd

The best method suited to valuation for a public hospital, which is a specialised property, will be:
1) development method 2) income capitalised method

3) contractor’s method 4) comparable method

AR} AR HrRiskT 9 RS

Wil PV IR TR ARDPRGR JSIvITd Ad SRAcicd] TATND & Ao 3T R fSRie
RISERICII BN IR I

q) TR Q) X 3) fargem 8) SR

Which of the following cities is NOT a pilot city for the Local Area Plan and Town Planning

Scheme being implemented by the Government of India?
1) Mysore 2) Indore 3) Shimla 4) Jaipur

...... g U AR R PRI Uit 31 31foT WRaTel aid SiHd AR UTfeeasur 31 St AgRTY
ARBRA FATT Pefl gl T ff rgR B deft I
9) Riset Q) Rye@r 3) T ¢) DICO

...... 1s an Indian city planning agency and the richest government authority in India that was formed
by the Government of Maharashtra and is controlled by the same.
1) CIDCO 2) SIDCO 3) AIDCO 4) DICO

TE g g TIC & JAURISNITS! SUGeh HeTRg : SAedaeT / £0
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Il RIS FaRgs giHe RIgHrl HepeyT WieileyH i gl

q) ER gFise ?) FoR=T T O 3) Ufem ed 8) T g
The Neighbourhood Unit Theory in urban planning was conceptualised by :
1) Homer Hoyt 2) Clarence A Perry 3) Patrick Geddes 4) Von Thunen

UHRI ST HepeU-IaR UG AFRI SHI AR Aleel FeUd 3ie@al SN

q) gRT 3nfor S ATt Q) TS Hisal

3) SO AT ) BFR gacd Aledt

The Urban Land Use model, based on the concept of concentric zone, is known as :
1) Harris and Ullman model 2) Hagerstrand model

3) Burgess model 4) Homer Hoyt’s model

IR I TCHT B o T IERT 318

9) Urefires AT ?) SEIBH ST 3) Ay ST ASHT ¥) IS AT
A city mission statement is an example of a/an:

1) regional plan 2) perspective plan

3) special purpose plan 4) annual plan

g —3MUTRT faepr (GThicH, GAdeRT STl gRa & feRT) onftr o R4t o g T a1
9) & R) e Ryt fwe 3) 3md ) fefStea Sfear e

Area-based development (retrofitting, redevelopment and greenfield development) and pan city
development are part of :
1) HRIDAY 2) Smart City Mission 3) AMRUT 4) Digital India Mission

URG IRERAT W1E R e sianfa [ifs foum e gecan ™ Higeicdl URUIKHS Schid

gt SRR W e,

q) AP — Qi — fithics faar R) FPRT - UHfthes Segadvc — gifthfem
3) QR - gHfdeN - fihics fawm g) FHfthes fGpRT - GAMART - QhicT
Identify the option that represents strategic components arranged in ascending order of specified
minimum area under the Smart City Mission of Government of India.

1) Redevelopment — Retrofitting — Greenfield development

2) Redevelopment — Greenfield Development — Retrofitting

3) Retrofitting — Redevelopment — Greenfield development

4) Greenfield development — Redevelopment — Retrofitting

STATEReTe g 3 Regared e (JNNURM) T Wiefied! PIud IU-HeM 3ig SamEr Sed a8
TREFT M AcledT TeRimed JfAuT UgH ool M ?

1) IHSDP 2)RAY 3) ISHUP 4) BSUP

Which of the following is a sub-mission of the Jawaharlal Nehru Urban Renewal Mission

(JNNURM) that aims to provide facilities to the urban poor in non-Mission cities?
1) IHSDP 2)RAY 3) ISHUP 4) BSUP

e T 9 71C & JAURISRITS! Sugth g : Srfegawr / €9
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‘GIS 3MUTRT ARCR wid Aol g IU-AISHT 37T

9. BRITheY AT TR IRGTRITS! 3eeT e 2. we RIS e

3. STATEReTlel -g% 12l 3 Regafel oM 8. QM7 G grasit ve e
‘Formulation of GIS Based Master Plan’ is a sub-scheme of :

1. Atal Mission for Rejuvenation and Urban Transformation

2. Smart Cities Mission

3. Jawaharlal Nehru National Urban Renewal Mission

4. Shyama Prasad Mukherji Rurban Mission

w1 Rich fieM sicid FAre R4t o (SCP) afot AMRUT &iaifa 9T &R GUR JioHT (SLIP) &
ISR 3T

9. G JRSFT 2. TGRS A 3. faem A g. faew S5 oM
Smart City Plan (SCP) under Smart City Mission and Service Level Improvement Plan (SLIP)

under AMRUT are examples of :
1. perspective plan 2. regional plan 3.developmentplan 4. special purpose plan

RATHS AR AT T HIPRUIRIIC! @leAeTieh! IVl Teehrdl R el S Tel ?

9. I TRTT G 2. APEEIE AT 3. YA AT 8. DRI

Which of the following factors is NOT considered for the classification of urban settlements in
India?

1. Urban infrastructure 2. Population density

3. Administrative boundaries 4. Populations

GTefieTidh! PIvr) derfies AT 3R ?

9. TP ST 2. IR IRATASHT 3. BB AT 8. faepry ST

Which of the following is a statutory plan?
1. Local plan 2. City heritage plan 3. Perspective plan 4. Development plan

ARG IRBRAT T 37T USRI At Aot BiRjele e sftamice™ (URDPFI) 209y ARiGef®

TR, W-3F Acemcd R Wieflerddl PIurd 3MTg ?

9. QTERY SATOT T fRreh <y SATIOT YTHHIOT TRV STel FRATG AT ST RIS JTHIOT HRTIG erest ST
ATRTT AP &

2. T SMOT I RITT &l 3RAciell Y ; HTGfTh Aleet haRig AT SR —gaTs AT SURTER
3Nesegel STt

3. IU-ISeT e IIGUIRT UUT T TATllel M s / Asol dheran e prigmqaeft Secicdn 8RR
SRTetedT TR

8. STaes fohdT aTorel! STaRTeR R, WY TS fohar Agifere RIS aTggehiean JRI IiTel STiSetel STTOT
HIGAT FHIUN SRR WY ISR faeig
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As per the Urban and Regional Development Plan Formulation and Implementation (URDPFI)

2015 guidelines, Government of India, which of the following is the characteristic of a peri-

urban settlement?

1. Zones of transition from rural to urban land uses located between the outer limits of urban and
regional centres and rural environment

2. Towns having potential for investment and development; identified on the basis of their inter-
aerial relationship with the regional nodal centre

3. Settlements that are growing sub-nodal centres but located out of the direct functionality linked
areas of the growth node / nodal centre in the region

4. Located near or within reasonable distance, well connected by transportation route of the
growth node or metropolitan city and dependent on growth node largely for employment

foiear oRRT TR AT Wiettew™mor fAfdyr HRUMTS ST ared d=a:
a) JMRIDPTIIT Gl TSHIATS! 0T HHT IeT= TSRIST 0%
b) i) IR 0%
i) JE, SISO, I M7 YT SHNTST 90%
i) AT IR GRS 0% S Pl ATDT, SARAT, FALHT Go 30T ATSIeh IUARTT
ST
iv) fardt, creaRie fhar Sienfies araRmITd) s JTftieugR fashirdt 90%
ATefIeTidhl ot faa W 3R ?
g IR :
9. TSHT PRIENA TRIGITR 38
2. B JISHIT PRIETAT TRYGIAR ATal BRU aRIel (7). AT ey elell S fa=IDIUET HHI 318
3. 8 AISHT PRI RAGEIR ATal PR eIl (9) AIST aCT dhetel! STHIA STaSRIDhAUET ST 318
8. B IS DRI ARAGIITR ATal PRYT (37) M7 (&) TSt a1ey dhetetl S TaRIBAUET ST
3R

A Town Planning scheme of a given town allocates land for various purposes as below :

a) 10% for economically weaker section and for lower income group

b) 1) 10% for roads
11) 10% for parks, playgrounds, garden and open spaces
11i1) 10% for social infrastructure such as schools, dispensary, fire brigade and public utility

place

1v) 10% for sale by Planning Authority for residential, commercial or industrial use

Which of the following statement is true?

Answer Options :

1. The scheme is as per provisions of law

2. The scheme is not as per provisions of law since land allocated for (a) above is less than
required

3. The scheme is not as per provisions of law since land allocated for (b) above is more than
required

4. The scheme is not as per provisions of law since land allocated for (a) and (b) above is more
than required

e 9 9 7T & GEAIRIEIS! Sugeh He-RiE : i / €3
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Gl PIUIT SFHE SRR IRy SifpRIT aTaR aRUIRT URaTll ATgt ?
9. T &= 2. ARG 8 3. fardt &= 3. 3l &=

Utilisation of Transferable Development Rights is NOT permitted in which of the following zones?
1. Agricultural zone 2. Commercial zone 3. Residential zone 4. Industrial zone

TOD =1 g% qedrdT HIoTdT AT A8 ?

9. I Gl I 2. %1 S AR

3. S 39 9o 8. UIGIRI AP
Which is NOT a part of the core principles of TOD?

1. High density development 2. Mixed land use

3. High value of land 4. Pedestrian oriented

I RIS Heosidl T HERTY Uefird offor SiRa T JifSf i, 4R&& T Wefleldd! vt
PRI el ST 2

9. dcH ¥ R. PeH W 3. PetH R 8. hetH R
Constitution of Regional Planning Boards is done under which of the following Sections of the

Maharashtra Regional and Town Planning Act, 19667
1. Section 4 2. Section 7 3. Section 9 4. Section 12

IR TSR gas Al Med RS Hebeuria @iefler TIET FHTEeT il

9. U WISRIT ATeThied] R Faa:< qelet 3Tfoy ATfiel 97T 31me

R. TR &l Alepedell ieid faReenfUa e SOl g Sueted] STHIA fRRENR FgUd Arsdrd

3. feReam ueea it daetett sl Hicar qeuadt ergvieft Sisclell el Bt IR

8. TRYT SATS, Tl AT ATGST+1eh ST STAetedl Te’id e

The Garden City concept by Sir Ebenezer Howard consisted of :

1. each privately owned house having its own front and rear garden

2. tower blocks displacing the population vertically and leaving most of the available land as
greenery

3. six small towns surrounded by green belts and linked to a larger central city

4. planning cities to have plenty of trees, flowers and public gardens

HedTse TR guie 3 Rl Il

q. K &R IR ST T T AR ATe

2. SicHia R i Sl |- anfies gwstian

3. I TR PRIHD S 3elell JRd: THCHE AcaHe
8. TR W ATRY &3 Wi 37for AT -3 grosiiad

A satellite town can be described as :

1. ahaphazard and low-density outward growth of urban area

2. a physical and socio-economic revival of the inner city

3. a primarily dormitory settlement with functional dependency on the parent city
4. a physical and socio-economic revival of the peri urban area of the city

TE § g T & JAURISRITS! SuGeh UeTHE : Sifeawr / 3%
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WTefleTidh! DU ST HIGHRITG! JRIoT agh Sordids fe ¥UE &% ead ?

9. SR IR Aol 2. DI I EEid a6

3. S fpadia are 8. e JRAGIGR FSIRIA a9 PR 3MTg

Which of the following could explain a shift to the right of the supply curve for a land property?
1. The imposition of a tax on the land 2. Arise in firms’ wage costs

3. Arise in the price of the land 4. A new supplier entering the market

ST AT IISTRIC WG —IshT Bia ATe! 31T HIeHRTe! JedHTdTd! SIv Ugd dTaRel! ST 3Tfr
i hacs i fohdl WTedTedl Jel el ST ?

9. IR ggd 2. I ugd 3. PACIRE Ugd 8. JorIcHD Ygd

Which method of valuation is generally used for those properties that are not bought and sold in
the market, and valuation is done for technical or accounts purposes only?

1. Residual method 2. Development method

3. Contractor’s method 4. Comparative method

AE WA IFelell TS, SR Wlell IRIelall, Jedid-redl dF Yecamed faumelen o, o=
Jecatie Wil HATR Jed 300 UiT HieR  31R. dfedt UgdaR (MU ST HedHIo 3fdeisel
3R, Jed Tfl Hex ? ufgedn ol g ueediel YRIFET SfshH ... 3T ... 3R,

9. B. 00 3T B. Yo 2. . 840 3T B. 00

3. . £00 3 B. ¥0O g. 3. 800 3T ¥, £00

A plot situated in an urban area, having a greater depth, is divided into three belts of valuation. The
value of the portion of plot in the third belt is 300 per m2. As per the belting method (if valuation
adopted in our country), the value per m? of the part in the first and second belt would be ...... and

...... , respectively.

1. Rs. 600 and Rs. 450 2. Rs. 450 and Rs. 600

3. Rs. 600 and Rs. 400 4. Rs. 400 and Rs. 600

IO JHAfTE UG .. 3RAE! FEUIICl.

9. P Ugd 2. dfeeT ugd 3. fdprT ugd 3. PACSRE dgd
The residual method of valuation is also called ......

1. profit method 2. belting method

3. development method 4. contractor’s method

(&) WISF-AESIS SRS HFNGRT, THSIT 9 STHRCTTR SEaUHe

&G ARPRT T &AL ISRl YRIGRT BIVIRATS! IV Tdvel Fdetet ?

a) AXPRA YT G fo o< FATOT e

b) YRS JALTaR HRUITT ATeied] WalR PR 3! UATT 3Tell.

¢) TR U] IBRIRTG! T STeled] HU-Ie] ATHINGR R I QUaTd 3TTet!.

d) IThY 1

IR IR :

9) %eh (d) faem a_IeR 3me Q) () 31T (b) fau™ RIeR MmRd

3) eh (c) fau™ SRR 3mg ¥) (a), (b) 3T (¢) faem sRIsR 3med
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Which steps were taken for private participation in the infrastructure sector by the Central

Government ?

a) The Government set-up Infrastructure Development Finance Company.

b) The Government announced tax-holiday on the expenditure which was done on the infrastructure
facilities.

¢) Tax exemption was given on dividend of the companies which was set-up to develop infrastructure
facilities.

d) None of these

Answer Options :

1) Only (d) statement is correct 2) (a) and (b) statements are correct

3) Only (c) statement is correct 4) (a), (b) and (c) statements are correct

Senfiep fpraract Id At T Wonfl HAXIHed PIUdT 9T 10 TRord 3Me ?

q) Y M7 ey R) HIFa AU Al Hferer

3) ToICR ST 8) ITH ST

All public and private sectors, should have, which section for Industrial Development ?
1) Research and Development 2) Human Resource Training

3) Quality production 4) Good Establishment

.............. STRINTTE i JfgaTel URTG AR SIS ddbd 4833 AL ARGR ITRIGR THeuNL
3ITIeT 3 Pig Tdel.

q) AR ) WY 3) QR g) foar

The World Bank withdrew from the Sardar Sarovar Project in 1993 after the publication of

independent report of the ........... commission.
1) Morse 2) Growth 3) European 4) Pearson

TR AreTedr AeHid Ta-IgRATAIG FgurST

q) eIl AR FABRAITS dhdes ARpRavg el e St

R) T [IPRT SFeheT AT — TR YRIIGRIA dhefl STTal ST et FefeR HR e Sl ames 2’
AGURPIRATST FaET hRelld

3) AR AR FIBPRIRIS! e @ISHiT &b et feetm Sl

¥) ERICT ANRY fIrT hdes bR IRATGR pedl STl

Neo-liberalism in the context of urban plan means :

1) urban development in the city is solely funded by the government

2) urban development is often done in public-private partnership and urban competition is
emphasised so cities compete for investment

3) urban development in the city is solely funded by the private sector

4) urban development in the city is solely funded by the cooperatives

TefieTdehl PIUI ATdSTh TRt YRMIGRT (PPP) Afeet TR GfaeT HehedRis! ariRel ST ?

9. 9 2. dlce 3. BPOT 8. TH-al

Which of the following is a model of Public-Private Partnership (PPP) used for infrastructure
projects?

1.BOOT 2.BOLD 3.BPOT 4. Turn-Key

TC 9 9 7Te & GEIRIEIS! Sugeh Te-RAME : Rfeqaedl / &%
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dididt Afeemed), g onfdfes SiRdi AMGR FeT deft ST -

9. g TBR R. I WBR 3. QR ggr 8. HTeSTi+eh T8y
In PPP Model, the major financial risk is borne by :

1. central government 2. state government

3. private party 4. public party

FoHTeT FPRCATR TsUalis 2020-203Y (NIP) o s3] HRIC B 3Ted ?

a) St d. g are . b) AR fAfEch

c) AUl <ed arImg AU d) e |4

IRt ST

9) (a) 3T (b) U™ SRR 3Med ?) Hh (d) U™ SRR 31

3) b (b) 3T () frermm aRIsR 3fed ¥) Beh (b) fIUM sRISR 3

What are key benefits of National Infrastructure Pipeline 2020-2025 (NIP) ?

a) To increase GDP b) Job Creation
c¢) Creation of the infrastructure across the country d) All of the above
Answer Options :

1) (a) and (b) statements are correct 2) Only (d) statement is correct

3) Only (b) and (c) statements are correct 4) Only (b) statement is correct

Gantt T g fIpRIa UGS Uhed IO aTUReT STUTR ATE 3118

9. UehoUrd Jo3II=Dh 2. Uhey WY I

3. Uhed daIIsd M7 @ fer=or Q. HeheU HHCTHD HRT]

Gantt Chart 1s a tool used in project management for developing :

1. project schedule 2. project cost control

3. project schedule and cost control 4. project organisational structure

Uehel RIS, 19 W UK (BCR) T 7o SR Uehed PpRIifad dhell Ulfgol:

9. 9.4 Q. 0.94 3.0.4 8.0.74

In project management, a project should be implemented if the value of Benefit Cost Ratio (BCR)
1S :

1.1.5 2.0.75 3.0.5 4.0.25

(4) 3nfies guRom - & a1, TIStol, Wepl SHImaT

YR e STTffes FerRom

QIO ERUT-BGRITRUT — STATfCIehIehRUT

faer 3nfor a16 - 9mead AR - TS - emead fawrira BrRispd
o ufghar- dearfie Qo

TE g g TIC & JAURISRITS! SUGeh HeTRg : SAedaeT / 0
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q) YR 3ffen GeRom

WISBUHT BIURT AL aRIER 3R ?
a) ST UTceslar 3ATfefep GURUIAT 990 URIT FodId SIS Bk,
b) HRAM o5 9R%9 IR 3Rk JURUTHT Joard B3l gle.

WﬁﬂW:
9) (a) TR 38 ?) (b) IR 3R
3) (a) 2T (b) SRR MM ¥) IRIAUDT Pl SRR ATet

Which of the following statement is correct ?

a) Global Economic Reforms had begun since 1970's.
b) India had begun Economic Reforms since July 1991.
Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct

Tl anfefer UROM ............ g1 STUNET T RAT IE PROITd 37T,

q) PHIIS IR R) HIfE—TAeT I 3) IJUHRY G I ) RN T
Under the New Economic Policy import licensing was abolished in case of industries.
1) Textile industries 2) LT. industries

3) Consumer goods industries 4) All the above

......... g 939 =T Hehed U DRV BN,

q) AIS! Rt ) WA AS are  3) A ol e 8) HI TSI &
The was the major cause of crisis in 1991

1) Large export 2) High tax rate

3) Large fiscal deficit 4) Low interest rate

q) SrefpTos IU R) NI RAGITAT IS GURUM
3) 3MRieh arcicles TS X BRI Q) NS Tqd

Structural reforms mean ...........

1) Long term measures

2) Improvement in the supply side of the economy

3) Removal of growth bottle necks
4) All the above

AT Tl FEUST I ?
a) SIICATd SRTeIedT FIIHTET AR d GRIET UL,
b) IRl THSTHRT AR FHee AR BrRiem T GRUMIHERS .

C) AR ARG Sau,

d) TR TSIV Sau.

g SR :

9) (a) 3T (c) & foum SRR 31Rd. ?) (c) 3mfor (d) & fIum R 3.
3) ¥h (b) g fIuM IR e ¥) (a) 3MT (b) & fIu™ sRER 31md.

TE g g TIC & JaURISNITS! SUgeh HeTRg : TAedaeT / §¢
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What does the Ease of Doing Business mean ?

a) Making the existing rule simple and rational

b) Using of information technology to make governance more efficient and effective
¢) To make business profit-oriented

d) To make business Social-welfare-oriented

Answer Options :

1) (a) and (c) statements are correct 2) (c) and (d) statements are correct
3) Only (b) statement is correct 4) (a) and (b) statements are correct

?) WISFIHRI-SERIGRUT — SRTfCIehIhRUT
giet fATidh o g 1R ?
a) STATfIhIEARUTTT W 37ef 3T 3fTe Pl URur f|ie= Sfces Feuld erter M) amfor waw=n
IR IR0 AT faaR hel dTge.
b) U STl YRV G, Hal, *R1e AT GAuTHT A7 SATTRTERT 371fRfeh ThIGR IR dhetel YR
Hey AMIRID AT,

Rt S
q) % (a) Q) & (b)
3) S8l (a) 9 (b) SRR 3ATE %) PR SRISR AT

Which of the following statements are correct ? oy

a) The implications of the notion of globalization are that policy-makers must consider agenda
formation and problem definition within a global context.

b) The policy-makers in each country share a policy context formed by the international economic
cycle of prosperity, recession, depression and recovery:.

Answer Options :

1) Only (a) 2) Only (6)

3) Both (a) and (b) are correct 4) None is correct

4) Only (d) alternative is correct

STTfcrehTaRxuTraT farerepiasiar OO ... g 3R,
a) frerpions Pral Iy dlerey g BRI MDA 3MTe.
b) 3Rl SRR HaTe ATUTIRITS! e AR freipioide SRIU RO 3.

¢) frere farameafaT Suctsyr 30T RO 3R,

d) fererepi=t FHEHE B RO TRoTd AR

AT I :

9) (a) 3P 3R ?) (a) 3T (b) 3GF 3Me
3) W (c) YD 3 ¥) T 3D e

Impact of globalization on Teachers is ..........c.cceueeu.c.

a) Teachers require some specialized skills and strategies

b) Teachers need to communicate with learners in new ways

¢) Teachers need to be accessible ‘to students®

d) Teachers need to work in teams

Answer Options :

1) (a) is correct 2) (a) and (b) are correct
3) only (c) is correct 4) All are correct

T 9 9 7T & GEIRIENIS! Sugeh HeE : e / €3
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9) wh (a) A AT

3) Beh (c) I M

............. 1s/are the demerits of Globalization.
a) Increase in foreign Trade

c) Negative impact on Agriculture

Answer options :

1) Only (a) is correct

3) Only (c) is correct

JJ-3QR WU\T Hd: dlar TR dId
a) SNIR IrRferawell

c) 81 qrefegawen

g SR :

q) (a), (b) SO () T AT 7.
3) (a) &M (d) Wl I aied.

For Private Circulation Only

b) TSR SUGUdT dTefIor
d) el 9o Jreaa dare g

?) B (b) AT 3R
%) (a),(c) 3T (d) I 3rmed

b) Increase in availability of Technology
d) Increase in foreign currency

2) Only (b) and (c) are correct
4) (a), (c) and (d) are correct

b) HABRT Ifeieawer
d) R &3Tcliel Jdavh S+ L.

?) (b), (¢) 3T (d) Wl I 31ed.
%) (b) 3T (c) YT TR 3Ted.

The neo-liberal policies mainly emphasises on :

a) Market Economy

¢) Mixed Economy

Answer Options :

1) (a), (b) and (c) alternatives are correct
3) (a) and (d) alternatives are correct

a) PYT IIgR FATT
¢) 3ienfies fomrsr T
g IR :

9) ek (a) 31T (d) Q) Wh (b) 3T (c)

b) Welfare Economy
d) Diminish public investment in critical areas

2)(b), (¢) and (d) alternatives are correct
4) (b) and (c) alternatives are correct

IR 3T
b) IR Rereg 9
d) fo1 93T

3) &h (b), (c) SN (d) 8) (), (b), (c) 30T (d)

In India, the responsibility of controlling the activities of multinational corporations rests on

a) The Ministry of Company Affairs
¢) The Ministry of Industrial Development
Answer Options :

1) Only (a) and (d) 2) Only (b) and (¢)

b) The Reserve Bank of India
d) The Ministry of Finance

3) Only (b), (¢) and (d) 4) (a), (b), (c) and (d)

SUST AN e AR AMDIAT SR UeeledT GROTHIETET Jeietudh! BIuf e aReR 3ed ?

. it g W AR el
i IR :

9) 31, § AT & Beh Q) § 3T &P Feh

. IR A uSalt
8. TS IASTEACIGR ST JURURT TR STl

3) §, & 37T & Feh ¥) & 3T § Heh

TE § 9 T & YEURISRITS! SUYh FeHIg : sfedawen / 9o
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Which of the following statements are correct about the impact of British imperial power on the
lives of Indian People ?

a) Indian Industrialization was increased b) Decline of cities

¢) Agriculture became the main occupation d) British rule attempted to social reforms
Answer Options :

1)a,bandconly 2) band c only 3)b, cand d only 4) cand d only

WSRO FeheUrid WUl STerar JHQ aidl ?

37) AR HISuCea™ Ol ) TR UM a0

P) AR FHYT ) YUl fd-RTERARU (denationalization)

i SR :

9) has I Q) HIB T 3) NS |d ¥) TRIGUDhT PIUEl ATal
Which of the following Is/are included in the concept of privatisation ?

a) Leasing of business b) Grant of autonomy

¢) Liquidation of business d) Total denationalization

Answer Options :

1) Only a 2)Only d 3) All of the above 4) None of the above

3) fAr 31 a1 — 9medd AT — THSIS - 9mead AR HrRishq

Sicols DM dlefleT MEIN Ffrd amg
q. 37 IENATST STy 3TN Q. STRTICRp T —IGRATaTE! GURUITER STAIfIEh SR
3. TfaRur SMfoT fAeprATeRic STRTfores ST . SR AT {ABRATERIT STRTfcieh TR

The Bruntland commission is associated with :

1. the world commission on economic growth

2. the world commission on worldwide neo-liberal reform
3. the world commission on environment and development
4. the world commission on trade and development

AT dheurft 3gd, ‘030 MAd RHre e fasgufier’ T (UN) 9w Iyt @t
PRSI ?

q) FCR, 094 Q) A1, 9%%Y — World Summit for S.D

3) S, 000, e UNGA Session ¥) qRIhT AT

When did the UN member states adopt ‘2030 Agenda for sustainable Development’ which put
people at the centre of efforts ?

1) September, 2015 2) March, 1995 - World Summit for §.D
3) June, 2000 , Geneva UNGA Session 4) None of the above

HYh Y AP PRI T & diod &3 A

a) AMdT g8 9 faxia faesT b) I G AT A fADa

¢) ANPATEN ITRIT & i fHor d) megq faerT

R SR :

1) B (a), (b), (©)  R) Wb (), (b), (d)  3) B (@), (c),(d)  ¥) Fh (b), (c), (d)

e § 9 7 & YEURISRITS! SUYh FeHug © srfegawen / 9
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The United Nations Development Programme (UNDP) concentrated main focus areas are ............
a) Human Rights and financial development ~ b) Climate and disaster resilience

¢) Democratic governance and peace building d) Sustainable Development

Answer Options :

1) Only (a), (b), (¢) ~ 2)Only (a), (b),(d) ~ 3)Only (a), (¢),(d)  4)Only (b), (c), (d)

I 2 S o e I S
HRAR ORI Jaaiies ASHT Wiellel Aiseler JMUTRA Bl

9. FIF ST . We-SHR Algel 3. HEloMIfe Alsal 8. Gl Hisel
The Second Five-Year Plan of India was based on the model of :

1. Bombay plan 2. Harrod-Domar model

3. Mahalanobis model 4. Consistency model

3G UEdTes AIoral BISE ... 2.

1) 9%%9-%¢% R) 9R¢R-CV 3) 9%%2-%0 8) 9R&R-€U
The period of VIII Five Year Plan was

1) 1991-86 2) 1982-87 3) 1992-97 4) 1962-67
Ufeed] GEalte AT ... ST |aifeiep arey HRudTd S &k

q) STeRFE 3Tfor g R0 R) PIeR MM FYIEN

3) TTED AT ST Q) Foll &

The highest allocation was provided for........... in First Five Year Plan.

1) Irrigation and flood control 2) Cottage and small scale industries
3) Transport and communication 4) Energy sector

HRATAS TS I IAIGT AT X ... IS SFatd AT g,
9) Ufgeh TaaTes AT Q) dieht Taarer aoFT 3) st deaiie AT ¥) gred) dearSe A

The GDP growth rate was lowest during plan in India.

1) First five year plan 2) Fourth five year plan

3) Third five year plan 4) Fifth five year plan

U UedTNep Aioral W I8 ... gl 2.

q) 3fESTe I 1@ R) AN =IRIRIE a1

3) PicR I a8 ¥) SYIUNE! aS

The main aim of fifth five year plan was

1) Growth of heavy industries 2) Growth with social justice
3) Growth of cottage industries 4) Growth of small industries

ST TFafieh ISFHE Yelesueh! iUl SfEEaR HR SUATT ATH ?

NS UINEIEI q) 3IRI Jfar @) BIHAET G bT

gl SR

9) e 37 IMIfOT & ) had 2T AT § 3) Beh § 37f0T & 8) NS Jd

e § 9 7T & YEURISRITS! IUGth TeHUg : IRfeawT / 0
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Which of the following objectives were focused in Vill Five Year Plan ?

a) Employment generation

b) Health facilities

¢) Reducing population growth

Answer Options :

1)Onlyaandc 2)Onlyaandb 3)Onlybandc 4) All of the above

.......... & el SRR e 3.

a) FEPR 3N Fqufcad Feur M b) I BRI g Efo.
c) fafea M 1o o, d) TS ST TR PROT

I g faeT

9) (a),(b) 30T (c) TR 3R R) (a),(b) 30T (d) T TRt
3) (b).(c) 3T (d) TFT 3MMed 8) e [ A S

............ are, the functions of NITI Aayog.
a) Cooperative and competitive federalism b) Shared National Agenda

c¢) Decentralised planning d) Network of Expertise
Answer options :

1) (a), (b) and (c) are correct 2) (a), (b) and (d) are correct
3) (b); (c) and (d) are correct 4) All above are correct

RIS 3o PRIvEe JieaTd PIvdTE! TI¥ e ATer 8 fRiga ol diger?
9. gt fiicetent 2. TRIheT qIeR 3. fiecT hemd g, TR &8

Who propounded the theory that “There is no discernible link between planning and performance’?
1. Henry Mintzberg 2. Michael Porter 3. Milton Friedman 4. Gory Hamel

feE-19s SefReT BIRSR TSI 2 IR SR 3. .
9. IR FISHT 2. fder gisHT 3. UMD &F ASFAT 8. GEDH JIoFT

The Delhi-Mumbai Industrial Corridor Plan is an example of a ......
1. regional plan 2.developmentplan 3. local area plan 4. perspective plan

e g Slagic g I IeRUT 37TR

9. G JRSFT 2. TGRS AT 3. faemt A 8. TP & AT
State Vision Document is an example of :

1. perspective plan 2. regional plan 3.developmentplan  4.local area plan

URDPFI ATige® a 2094 AR, AR TRGR, Qlered] d I¢ sHHadd ol I Sofishr s,
9. &R AT - Py AT - UfTes AT - SRl JiomT
2. faerT IIomAT - &l AT - el AT - HIGRih JiomT
3. &1 AISHT — Uiued ST — Ay ST — TIeRie ST
8. UIGRIB ISHT — gRed AISHT — faer aiomT — &3l e

TE g g T & JAURISRITS! SuGeh UeHg : sifegawr / 03
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As per URDPFI Guidelines 2015, Government of India, choose the correct hierarchy of plans
from lower to higher order.

1. Zonal Plan — Development Plan — Regional Plan — Perspective Plan

2. Development Plan — Zonal Plan — Perspective Plan — Regional Plan

3. Zonal Plan — Perspective Plan — Development Plan — Regional Plan

4. Regional Plan — Perspective Plan — Development Plan — Zonal Plan

9. IR IS 2. &l IroFT 3. dIfes IS 8. SRl AT
Urban redevelopment plan is an example of a.......
1. regional plan 2.zonal plan 3. annual plan 4. perspective plan

UIfIeh AT TIR PRUIRATS] GTetleTiehl PIUT TGl hel ST 3 ?

q. Mot Adjerm 2. TPARATATENRT Aerm
3. v R S e iR el 3. R e
Which of the following surveys is NOT to be carried out for the preparation of a regional plan?
1. Geographic survey 2. Demographic survey
3. Statistical aspects of major facilities and resources 4. Trigonometric survey

(g) feeft TUR - PRy, 39 3nfor wo=

faeeh AR - FheuqT, FagRAIs, AURAY T fageh Te- ATer

SIRIfor SR WA ~ axgal, GUROT o 4R sRferawda’iss srufar aRum, wew g wwa
WRATT SRS ATIRTL {91, SMARA™ =T

YR TR ATIRR &Ry, Fafdidia are

WRET (AU ~ ARRTEIT AR faceft wisaoran siavarg, 391 9 a6

TEITRRIERT HTSTS GRIAUTAT TRAT — IRITATD, STRTIID deb, SIS eI T

q) fAesft TR - HeheudT, FaERdIs, AR g fAeeht Te= |

SNTRRTERT ATIRTAT IR -3 RIGId9R |

a) SRR AIRTE FTHT IUTG €T fAgesdl MU IS €cdh UG Jrear gR Fufia g
b) I NI UG T YT MU IUTG Teeh UM Ty 956 gul e A,
RISUHT P fFer= /o™ sRER 3R /d ?

9) (a) 37T () fu™ SRR 3ME ) Hax (b) RIR 3T

3) P (a) KR AR ) RIBUD PO T8

According to the Heckscher - Ohlin theory of international trade -

a) the pattern of international trade is determined by factor endowments and factor intensities.
b) changes in factor endowments and factor intensities is not possible over time

Which of the statement/s given above is/are correct ?

1) (a) and (b) are correct statements 2) Only (b) is correct

3) Only (a) is correct 4) None of the above

TE § 9 7T & YEURISRITS! SUYh HeHug : srfegawen / vy
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) diofe Tater RGAER FARET AUR 97 Idl SR .........

a) e C{?Ii"il AU Iood] q{'ﬂj\'OQ—II SUTGHTT dIITed A3TH IATATd.
b) TR QAT FHM TN IUIGATT dHICHTes B IR
C) ITCTGAT ST AHM RN IUTGAHE T B IR,

WﬁﬂW:
9) (a),(b) fau™ A 3 ?) (a) R 2w oM
3) (b) Ry a7 ame 8) (b), (c) Rur ar ameq.

?)  According to the theory of comparative costs, International Trade takes place because
a) different countries have different advantages in the production of different commodities.
b) different countries have different advantages in the production of same commodities.
c) different countries have same advantages in the production of same commodities.
Answer Options :
1) (a), (b) statements are correct 2) (a) statement is correct
3) (b) statement is correct 4) (b), (c) statements are correct

3) TP CER VUMl Sit 3Fe ARAMATST HEaul SRictedT Ui JNeswd, HedHIa v 31T Hafid aw.

9) ISO ?) HACCP 3) FSSAI 8) BIS

3) A monitoring system that identifies, evaluates and controls hazards that are significant for food
safety.
1)ISO 2)HACCP 3) ESSAI 4)BIS

?) SIRIfCih IR WIS ~ ARJa!, GURUT T RN SRfqaedesic IR

) e Sit WTO 31 3ifc gt S S,

q) 9 TS 9%%Y R) 9 AR 9384 3) 9 STMERT 9883 8) 9 UM 9%%3
1) The final act of WTO was established on

1) 18™ April 1995 2) 1 s January 1995  3) 1% January 1993  4) 18" April 1993

Q) WTO=A .......... I faamaaefies ot @i e o TFaI BHT IR AT .

9) <&l ?) SO 3) arstfe 8) fifeer
2) The developing countries agreed to reduce their tariffs by 40 per cent in round of WTO.
1) Doha 2) Uruguay 3) Argentina 4) Geneva
3) WTO=A ............. YU P SFEH dg IRUIEEd AR &fFHg s,
9) 3rffesr R) fifaean 3) g ¥) AR
3) The agriculture subsidy phase out was discussed in declaration of WTO.
1) Argentina 2) Geneva 3) Doha 4) Mauritius

8) HRA SINRIp YR HECTd AHIOE SR, WTSIGd! DIV AT JRING  SHTG!
WRATH Sifed Fuel PR TS ST T8l ?
9) g R) ST i 3) A (gfess) 8) FeIeT

4)  After India signed into WTO, India’s traditional knowledge of which of the following commodities
was not granted a patent ?
1) Turmeric 2) Basmati Rice 3) Neem 4) Potato

TE § 9 7 & YEURISRITS! SUYh FHUg @ sifeaawern / vy
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WTO =T g16did @it Do/t e /= aRieR 3mg/d ?

a) WTO SNaRTERT RTINS HGHTETdT JRIIhIea] JECTRIGS! Bl ard.

b) WTO 3NUcT AR ST Sredblo AT SgRa JRad.

¢) WTO Sy Irgderdn fcrf-reft =g,

i SR :

) &b (a) ?) (a) 3T (c) 3) &h (b) ¥) TS AN
Which of the following statement/s is/are true about WTO ?

a) WTO works to eliminate discriminatory treatment in international trade.

b) WTO provides long term developmental assistance to its members.

¢) WTO is not an agent of the United Nations.
Answer Options :

1) Only (a) 2) (a) and (¢) 3) Only (b) 4) None of the above
o 91T SIS B 3T RaM, < fgEer anfr L oft wEfa g,

9) Seereieh Q) 3IfaSTe IEMT

3) AdHIT Pol Q) G

The Blue box subsidies were related with food security, disease control and

1) Entrepreneurs 2) Heavy industries

3) Farmers borrowings 4) Research

PO BTG BHT FRUIT! ST IR HESTH AT TTofes] ARo [AeBiRIc <o T BN AT T
CUIRATS! ATHIT ... 3R < 3T
9) HTeST GIehT Q) fexar @ 3) fogesr @ier ¥) SIS Gl

The developed countries are offering subsidies to support their agriculture, trying to circumvent
the stipulation of WTO to keep the agricultural subsidies at lower level.
1) Black box 2) Green box 3) Yellow box 4) Red box

SR T BT /G A detl R gLl TR d ... " e B

q) M U R) @ Ut 3) &a Ul g) et uch
If the Government makes direct payment to farmers, this is part of as per WTO term.
1) Blue Box 2) White Box 3) Green Box 4) Red Box

WIAIGUD! DIV g9 ST AR Feed! FEfd gl ?

S EICRECIRUNCEI| R) WUR YRV GRIEBIHT &R
3) faffmr o} =g faumr ¥) AT AR IR
Which of the following is not related to WTO ?

1) Dispute Settlement Body 2) Trade Policy Review Body

3) Exchange Rate Management Body 4) Council for Trade in Services

TE 4 g T1C & JaURISNITS! SUgeh HeRig : Tfedaer / ug,



)

1)

Q)

2)

3)

3)

8)

4)

“)

For Private Circulation Only

3) MRS JERRIER AMIRTE {2911, SBRAN g =T
gTefedd! DUt a¥ 9%8%-40 T 098-20 TT M IR fAghIdt HHRIHS BIclt ?

a) IRV-13 b) R09&-949 ¢) R009-0¢ d) 9R9E-VY
i SR :

q) W (a), (b) 37T (c) R) & (b), (c) AT (d)

3) Wh (b) 3T (c) %) Wb (a) 3T (d)

Which of the following years trade balance was positive during 1949-50 to 2019-20 ?
a) 1972-73 b) 2016-17 c) 2007-08 d) 1976-77
Answer Options :

1) Only (a), (b) and (c) 2) Only (b), (c) and (d)

3) Only (b) and (c) 4) Only (a) and (d)

9R¢0 —¢9 T 2099-92 IT BB =T TG g IFcid ST Terd (FJUTT) WRATAT STRITHEY DIoTeT
IRTIE e ST el ?

9) IFUTT ?) Ueifosad I 3) HicaRd! I ) g

Which of the following items is highest in Indian import during 1980 — 81 to 2011 — 12 in raw
material and intermediate manufactures group ?

1) foodgrains 2) petroleum products 3) capital goods 4) fertilizers

9%9 T AR SANERAS WSIAUD! PO Teeh HRIfiies BROT grar ?

9) fRRct (H9aTe) SR PHI ) ST &N R

3) Jo fhadia are 3nfor Jwor ot IR IERSHELE!

Which of the following factors was one of the primary cause of the balance of payment crisis in
1991 ?

1) Low rate of inflation 2) High interest rate

3) Rising oil price and lower remittances 4) Surplus budget

Wl PIur /e /= a_YER e /3med ?

a) 9%%9 T 09§ IT TIF YR JAqrdt Frafa ot smef.

b) 09—y T WRATAT UG afd Het anfor el e arer 92.3% 2.

it ST :

9) Heh (a) ?) (@) T (b))t 3) Fh (b) 8) ARIeihT PO T
Which of the following statement/statements is/are correct ?

a) During 1991 to 2016, India’s export of services decreased.

b) In 2016-17, the share of agriculture and allied products in total export of India was 12.3%,
Answer Options :

1) Only (a) 2) Both (a) and (b) 3) Only (b) 4) None of the above

4R HEY, DIV I TR HMisde UaRIUIC Segaqye SIREM SNaRRIET SR ™ FRITa
el MY IMOT IeuTe IRy fawRTiana AR .

a) MSAeT WhsT b) o= 3T fcTaciel s

¢) Ue=T YR dlovdt d) Moaeter faeioRT

gt SR

9) Bh a Q) Bh b 3) B ¢ ¥) Bh d

e § 9 7 & YEURISRITS! SUYh FeTHIg : sifedawen / v
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In 1979, which product is introduced by Marine Product Export Develop[ment Authority in
International Market under newly established research and product development division.

a) Frozen crab b) Raw and cooked head-on-shrimp
¢) White leg shrimp d) Frozen tilapia

Options :

1) Only a 2)Only b 3)Only c 4)Only d

¥) RGN RS AURE 8o, [Hafdids e

a) SleR Hehe b) ghIes

¢) YT I fopmrch) d) Fgh IEET gfcey

i IR :

1) (a), (b), (¢) R) (b) and (¢) 3) () 8) (d)

Oil for food program was result of .......

a) Dollar crisis b) Drought c¢) High food prices ~ d) U. N. sanctions
Answer Options :

1) (), (b), () 2) (b) and (c) 3) (a) 4) (d)

RAS dfget Pt Fafa Gfaen &g TeRmIT FAGT $77el, SR ...

31, < eI Fafd AIGHT IATCATIDT U 37TR.

g, J SIORAT UG JATETSIER 3778,

. d IRAK ARIEE g A/ Faid 7 Sc1eh 59 3.

i IR :

9) Heh 3T, § Q) Fh F, B 3) Beh 3, B ¥) TRITUh T
India’s first Agriculture Export Facilitation Centre is established in Maharashtra, because
A. It is one of the largest producer of onions.

B. Itis leading producer in pulses.

C. Itis largest producer State of Soyabean and Sugar cane in India.

Answer Options :
1)Only A, B 2)Only B, C 3)Only A, C 4) All of the above

GTefia! Do Hig=aTd HERTE TR Fafd WIcATEATaRaT Iamss Tfod det ?
9) STFER, 9R€0 Q) e, 2099 3) AR, 98%9 8) S, 9%&Y4

The Government of Maharashtra constitute a State Board for export promotion in the month of
1) January, 1960 2) August, 2011 3) November, 1991  4) June, 1965

e § 9 7T & YEURISRITS! SUGth Heug : srfegawr / u¢
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Y) IR [ - ARSI AR fAeh Hisaoran siauare, I941 9 a8
9)  R020-39 FY YT et YIquhrd AeHid Wieflel ST I&edT $HHM HIUT I

a) PHICH b) HERTE ¢) ORI d) TIferesTg
LUILICONE

9) (a), (d), (c) 3T (b) ?) (b), (c), (d) 3 (a)

3) (d), (a), (b) 37T (c) 8) (c), (b), (d) 37T (a)

1)  Arrange the following states in ascending order in respect of foreign direct investment during
a) Karnataka b) Maharashtra ¢) Gujarat d) Tamil Nadu
Answer Options :

1) (a), (d), (c) and (d) 2) (b), (¢), (d) and (a)
3) (d), (a), (b) and (c) 4) (¢), (b), (d) and (a)

) U SNEBH M AARER HiSde! FGAGRIS! DIV DRU A AT ?

D IISENRICEEE || R) BN
3) Nqfifep AT Fuxi SYheerdn ¥) NS dqd
2)  Which are the suggested causes by Prof. Ohlin for International Capital Movement ?
1) Difference in interest rate 2) Taxation policy
3) Availability of Natural Resources 4) All of above

3)  HRA WRBRDGT ...... 78 900 T UAT focelt e [AAURhIeT URAT QUATT SfTeft TR

a) farae b) PR Fa c) Bical SMfoT Wies & d) deT YEIhur
it SR :
q) h (a), (b) 3T () R) eh (a) 30T (b)
3) B (b) 3T (c) 8) (a), (b), (c) 3T (d)
3) Foreign direct investment upto 100 percent is permitted in by Government of India.
a) Airports b) Courier Services
¢) Hotel and Tourism sector d) Oil refining
Answer Options :
1) Only (a), (b) and (¢) 2) Only (a) and (b)
3) Only (b) and (c) 4) (a), (b), (c) and (d)

&) TEIMRRIENT Hisaes JRIAUIAT AT — RIS, SARTRISD g6
9) Tl PIURAT S AT THART 033 A AT Il fabrIRTg Hicar e e
TR gH et ?
9. grsfier onfor arffear 2. smefier onfr 0% 3. 3roifesTT onfdr o 8. Afedd! 3nfor o

1)  Which of the following two countries began preparation for greater economic integration,
including the development of a common currency, in January 2023?
1, Brazil and Argentina 2. Brazil and Peru
3. Argentina and Uruguay 4. Mexico and Peru

e § 9 7T & YEURISRITS! SUGth FeIg : srfegawr / 0]
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GTefietidh! Pl ™ a_IsR 3med ?

a) 3% (OPEC) ¥ Jarerd gus 39 3.

b) 3% (OPEC) off TuHT IcaR 9R€0 HEY PRuATT 3Tet,
¢) TET M ol AR 9Y 3TR.

¢) YRT NPT AT 3R,

T I :

) (), (¢) (d) R) (b), (d) 3) (b), (©) 8) (¢), (d)

Which of the following statements are correct ?

a) The headquarter of OPEC is at Dubai. b) OPEC was established in September 1960.

c¢) At present membership of OPEC is 15. d) India is a member of OPEC.
Answer Options :

1) (@), (©) (d) 2) (b), (d) 3) (b), () 4) (), (d)

fyg (BRICS) deHid Wiefieiidh! v e e 3 ?
q) foaFdt T 2099 HE FRUITT STet. R) fooRTd qreaTery Hip! A SR

3) R BT ST A 3. 8) fie, M g o Ao med

Which one of the following statements is correct regarding BRICS ?

1) BRICS was established in 2011. 2) The headquarter of BRICS is at Moscow.
3) India is a member of BRICS. 4) Britain, Russia are members of the BRICS.

ARSI Aol Wit 9 T BRf BTt ?

a) eI Qe fafmy X T @Rul.

b) AR CFT WD TS MR TSN JNARTERI AT SUBY Ho U,

c) ST AT ST TR GfauT fAPprArTe! Agd vl

d) IS Pl HaaTe Tegeul fRE=ung Sau.

PIRS IR CKI

q) (a) 3T (c) ?) (b) 3T () 3) (a) 37T (b) 8) (c) 3T (d)

Which of the following are two important functions of IMF ?

a) To control exchange rate of member countries,

b) To provide International Liquidity to member countries in inadequacy of foreign exchange
reserves.

c¢) To assist for infrastructural development to undeveloped member countries.

d) To control inflation directly in member countries.

Choose the correct options.
1) (a) and (¢) 2) (b) and (c¢) 3) (a) and (b) 4) (c)and (d)

e § 9 T & YEURISRITS! SUYh FTHIg : sifedawen / ¢o
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() SFHT - T YRS, shise MfOr i+t diferdt

e 9eh- Re1eg 9

Hifgres HROT T YRR WM — T RaaT
Jopra TERITERT

ot / IAYRASATI! ITAT, ST SATeies RO
YisaadoIR, |el g fauas

q) HeIeci! dh— R 9

AR Reteg qbT ... ST SUAT $-FaR HUMIeR Iaddiord -39 MM FI-3He JfauT Jo
et

q) R affdeleR R0 Q) 9 UK 030 3) & 3MRT 020 8) 9 ef 2020

The Reserve Bank of India introduced the automated sweep-in and sweep-out facility on its e-
kuber systemon ....

1) October 2, 2020  2) April 1, 2020 3) August 6, 2020 4) July 1, 2020

209R HEY T HRUITA JAeled] A —shfecHNel STEEGR ot dAfed (CRL) <1 e Afcf ufgel
3TEE PI0T Bl ?

q) [T peuigpe! ?) & sfara 3) fifEr 994 8) TR @H

Who was the first chairman of the steering committee of the Code for Responsible Lending
(CRL) in micro-credit established in 2019?

1) Sonia Krishnankutty 2) Harsh Shrivastava

3) Srinivas Bonam 4) HR Khan

YRR TFR U8 BRI I ST fSHaR 209% HEY WeiicTidh! Pl M Selagld cid
BAFI Tl AR dheft Mg 2

9) FASTag Q) e-Pass 3) E-ZPass 8) HashTag

Which of the following is the National Electronic Toll Collection System implemented by the

National Payment Corporation of India in December 2019?
1) FASTag 2) e-Pass 3) E-ZPass 4) HashTag

30 FCaR 029 oA Rereg dopedl FRIHIAR ddher faT ARIi=T Jeeal AeHia @lefiel ™
EEIRGRZINE

a) TS & Ueh SchaR o T 318,

b) TeREToT R chuma SR Rl <R oM.

o) T EFIT 5 & e bR R T I,

RITUPT Pivrt/aft e/ A s /a?

g SR :

9) &b (b) AT IR ?) Wih () T 3R

3) Weh (a) 3TIMOT (¢) T 3T 8) Wh (b) ST (c) A 3R

TE § 9 7 & YEURISRITS! SUYh FeHug : srfegawen / ¢9
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Consider the following statements in the context of structure of Non-Banking Financial Institutions
under Reserve Bank’s Regulations as on September 30, 2021 :

a) NABARD is a Non-Banking Financial Institution.

b) Housing Finance Companies are Banking Financial Institutions.

¢) National Housing Bank is a Non-Banking Financial Institution.

Which of the statement/s given above is/are correct ?

1) Only (b) is correct 2) Only (c) 1s correct

3) Only (a) and (c) are correct 4) Only (b) and (c) are correct

?) Hifees €RYT 9 yGfE=vmE AN — T YRAa
PSR T WA R TR<T Reieg doh ... SURUIRE Hifed YRV ATEH AR e,

a) SR AT TR~ b) eI AT TR
¢) Afera Sedrel AT SR d) ST Yot 3iTRI=T
g IR :

9) Pass (a) AT (b) ) HaH (a) AT (¢)  3) Hass (a) 8T (d)  8) TRt |

In the wake of the COVID-19, Reserve Bank of India introduced Unconventional Monetary Policy
tools in terms of

a) Long Term Repo Operations b) Reverse Repo Operations

c¢) Targeted Long Term Repo Operations d) Payment System Operations

Answer Options :
1) Only (a) and (b) 2) Only (a) and (¢) 3) Only (a) and (d) 4) All of the above

3) Jebi IMERAEHROT
ARSI TS SebT eI PROTAT STl el

a) 3TATRETE S i) U 9T S
b) 3MRice §& 3MTh BT i) T d® o Sfeam
¢) PIARIA Fh iii) PRI §B

d) fifsde 9@ iv) sf&a 5@

g SR :

@ () (© @
1) (@) (@G @) @Gv)
2)  (v) (i) (i) (1)
3) @Gv) () (@) (i)
4) (1 @Gv) @Gv) (D)
Match the following Merger of Public Sector Banks :

Transferor Banks Transferee Bank

a) Allahabad Bank 1) Punjab National Bank
b) Oriental Bank of Commerce 11) Union Bank of India
¢) Corporation Bank 111) Canara Bank

d) Syndicate Bank 1v) Indian Bank

e § 9 7T & YEURISRITS! SuGwh FHUE : SRfEawT / ¢
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Answer Options :

@ (b () @
@ @) (@) @)
2)  (v) (i) (i) (1)
3) (Gv) () (i) (i)
4) @ @Gv) av) @G

HERTY ATdSIe [G9awd IfITRM, 9RYo 3fcHid, AT creedT Yere aav[e WietieTih! PIuraiTe
el STet ?

9) aifenfies foprpea Q) URed sad g 3) T eI ¥) RBI feft

Under the Maharashtra Public Trusts Act, 1950, investment of public trust money shall be made
in which of the following?

1) Industrial activity ~ 2) Postal Savings Bank  3) Community welfare 4) RBI funds

8) &t/ TagRaSHTd! ToHT, SfehT SIS R

ST A e e PR TEER $ & 2

a) I AEHRN BN Mfer grefior AR da b) IR FEHRT b

c) Wfie FEhRl Sy Sftr grfior o s d) It AT

Jm R fRasT

9) =T (a) MM (b)) (¢) 3) T (a) MM (c) %) (d)
Which Cooperative Bank gives long term loan to the farmer ?

a) State Cooperative Agricultural and Rural Development Bank

b) Urban Cooperative Bank

¢) Primary Cooperative Agricultural and Rural Development Bank

d) None of these

Answer options : .

1) Both (a) and (b) 2) (¢) 3) Both (a) and (c) 4)d

CICICREBISRELINC R

a) UICfAres T b ATIRT ShgR TR dedl Sl

b) Ui aTHoT FopT fohvaT shfee I AT et ATald.

¢) ATETET Tl S T FERISHIR ANTTed] AFcssTauiiared PRI SRGrAT T TTeier T
JepHT STRI e 3.

RISUD! DU fIem /fau™ SRR sme/d ?

9) (a) ST (b) AT ST ?) (b) 3T (c) I STeet

3) (a) 3MfT () AT 3rmga ) NSUDH A T IR

Consider the following statements :

a) Regional Rural Bank is sponsored by a commercial bank.

b) Regional Rural Banks are not implementing Kisan Credit Card Scheme.

c¢) NABARD has issued operational instructions to Regional Rural Banks with regards to
implementation of Swarnajayanti Gram Swarozgar Yojana.

Which of the statement/s given above is/are correct ?

1) (a) and (b) are correct 2) (b) and (c) are correct

3) (a) and (c) are correct 4) All of the above are correct

TE § g T & JAURISRITS! SuGeh UeHg : sifegawr / ¢3
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............. YT AT AR TSI S WIITd SHT gid.

q) d1Eh R) 3Ty

3) @it 8) Xifdhd Fprhe Ut
Amountof .......... the cheque is directly credited to payee’s bank account only.
1) Bearer 2) Order

3) Crossed 4) Crossed account payee

9) HT Q) drer 3) T ¥) I
Interest on investments is .......... for a business organisation.
1) Profit 2) Loss 3) Expenditure 4) Income

4) HisaaEoTR, Wt g fammes
YR IR 30T AT e sreia A ufeear AfeaT areder guamr 39 BN forer Mg ?

9) 3ROYUl AR ?) forar e

3) Hrerdl O g 8 9TiclY TepTeRH

Who is the first Woman Chairperson of the Securities and Exchange Board of india (SEBI) ?
1) Arundhati Bhattacharya 2) Shikha Sharma

3) Madhavi Puri Buch 4) Shanti Ekambaram

39 fauT Snftr uq gt Heris® (JURUM) HIIGI 2039 T AT Wieflet g R = -
a) 39 foHT 26T 94 fomTeRe duiD fHTeRe ThcicdT Shrardl Ifarf 3e.

b) S fwaren g1 SefiqRIpgT a¥fet hefl SiTd Tal.

¢) 39 fomT BET TPigR HReAT STTal.

PRI I /ot e /= arg 3 /d?
9) Pass (a) T (b) AT 3T ?) Hass (b) M7 (¢) TR M
3) Pass (a) 3T (c) AT 3T ¥) Ppdes (a) AT AR

Consider the following statements in the context of the Deposit Insurance and Credit Guarantee
Corporation (Amendment) Act, 2021 :

a) The deposit insurance premium is compulsory for all insured as well as non-insured banks.
b) The deposit insurance premium is not recovered from the depositors,

¢) The deposit insurance premium is paid by banks.

Which of the statement/s given above is/are correct ?

1) Only (a) and (b) are correct 2) Only (b) and (c) are correct

3) Only (a) and (c) are correct 4) Only (a) 1s correct

e § 9 7T & YEURISRITS! SUgh FeHug : sifegawer / ¢¥



)

1)

?)

2)

3)

3)

8)

4)

For Private Circulation Only
(¢) ANPIRET — ANBEE] Ieh, ANBAEIT LRI

BT aTG ST 37 fIeprT ITclies FTUrieHid Widie U™ R &

a) BIHFRIT A1e B PHI-HT JHUHEY ©¢ Tegd 3N prrg @i e

b) BlpEEdT dle fiedn Wigae Mfdleris ufige dRmMS e fprmr drer <.

RIGUDT DU faum /U ReR ame/d ?

9) Teh (a) SRR 3N ) T (b) SRR 3N

3) (a) 3T (b) eI TR AR 8) (a) 3T (b) e HIT e

Consider the following statements regarding the relationship between population growth and

economic development .

a) Population growth retards economic development by reducing land-man ratio.

b) Population growth promotes economic development through its adverse effect on capital
formation.

Which of the ‘statement/s given above is/are correct ?

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) Both (a) and (b) are incorrect

BT HhAUl RIGITAT AU WIBIBUD! DIV AU @R A8l ?

q) e SO IF STHR ¢ I& Hogari2i Jobes ST

R) ST COATT SPHER HIST FHIUIT AT Bl

3) =T eoiTa e’ AIGHT THTONT Rt I,

¥) UfgcdT ST SIpaT alerdT &) IR HHT Tl

Which of the following is not true for demographic transition theory ?
1) In stage one, high birth rates are matched with high death rates.

2) In stage two, there is a substantial fall in birth rates.

3) In stage three, death rates fall significantly

4) Population growth rate is very low in stage one.

TNDARIAT MR AR PRAT HEFIRTET Alehaedr el Jr=amdt ?

9) 40,00,000 IATMOT ARIT ) 90,00,000 3T G

3) 3,00,000 30T ¥) 9,00,000 3T I

When classified on the basis of population, what should be the population of a metropolis?
1) 50,00,000 and above 2) 10,00,000 and above

3) 3,00,000 and above 4) 1,00,000 and above

YRATAT 2099 T SFIVHIAR, JUTd R THur e fclt a7g ?

9) Q0¢A9 ?) 3203 3) €0¢A 8) 8089
As per Census of India 2011, what is the total number of statutory towns?
1) 2081 2) 3203 3) 6081 4) 4041

e § 9 7T & JEURISRITS! SUYh FeHIg © sifedawern / ¢y
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209¢ ALY el ST QTERIBRUN HHTGHT SIRITATAT SGRIIR, 040 Tid fohet T elfeeaT agst
3R ?

) 8&% R) 4&% 3) &&% / &% 8) V&%

As per the projection by World Urbanization Prospects study undertaken in 2018, what percentage

of population will be urban by 20507
1) 46% 2) 56% 3) 66% / 68 % 4) 76%

SR 5T GRS m8o = 0.2 3R, TR 80 T 89 FANCIIS hied Jogdl FHTI WIHTHHIN 3ATg:

) 9/99 ?) /99 3) 3/99 8) ¢/99

If the central mortality rate m40 = 0.2, then the probability of dying of a person between the age
interval 40 and 41 is:

1) 1/11 2) 2/11 3) 3/11 4) 4/11

SR 099 A A XML ST ABEET 3€ 3T 039 ALY §8 ™A R 098 T A AR
ST eRiRedT 3T 3TTR

) Yo Q) 8¢ 3) 8% 8) Y

If the population of a tribe in town A in 2011 is 36 and 64 in 2021, then estimated the population

of the tribe in town A in 201618 :
1) 50 2) 48 3) 46 4) 52

UepT fafdE ufRERTE Qacel SIFTUMT Siheedl 90%3 3R, fSeledn dlemaeiidicl TRIRMITST IR,
= 307§ ST A 8, 0, 43 3AZ. SR [T FAIDPAEIT 40€9 RIS, TR FAATIRAE FEIT

3MTe:

DRE! R) I 3) 94 8) 9%

The last census population of a particular locality is 1043. The emigrant, birth, and death data for

the locality in a given period are 4, 20, 13, respectively. If the current population is 1061, then the

number of immigrants is :
1)13 2) 14 3) 15 4) 16

THUT I X Wlefiel Jalahid’ ST 3.
1) PIUKIEr AfeeT Tel SIHTel VAR qaTet BHlel Hiel TMowid FRd ATaKd.

1) TR SRITE! Afgerdt e fRR ST,

1) JeT AT JUITeA] HYYT DIATaeid TEAT HoF <R BrRIH Irgal.

Tt S

9) Q= (1) 3nfor (10 R) qr=t (1) 3mfor (1)

3) g (1) 3ffor (I10) g) 79 (I), (II), 37for (I10)

The gross reproduction rate is based on the following assumptions.

I) No female children die till they attain the upper limit of child bearing age.

IT) The female population remains stagnant in spite of migration.

III) The current fertility rate continues to hold during the entire period of child bearing age.
Answer Options :

1) Both (I) and (II) 2) Both (I) and (III)

3) Both (II) and (IIT) 4) All (I), (I1), and (IIT)

TE g g T1C & JAURISNITS! SUgeh HeRig : ifedaer / ¢g
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90) SR 92 ARG ANPIRAT 3RTeTel STl HATd AIS MR 37 3T g g Hald A1 2R 3T, R b ST

10)

99)

1)

Q)

12)

3)

13)

9%)

14)

94)

FRIATIAR, oeR @ o A sy
9) 8 ARG ) & oG 3) ¢ TG ¥) 90 oG
If A 1s the largest city in the country having a population of 12 lakhs and B is the second largest

city, then according to Rank Size Rule, the population of city B shall be :
1) 4 lakhs 2) 6 lakhs 3) 8 lakhs 4) 10 lakhs

SIcgT Xeh MR I TeRIeT AN 21d g, Jegl O ... TR 3fiesede] ST

q) srfaepfia R ?) I € AR 3) FHI e TR 8) T I
When the Rank Size Rule is NOT applicable to a city, it is known as a/an:

1) underdeveloped city 2) high dense city

3) low dense city 4) primate city

0,000 FANHACITAT AR TR Pedl IAHRAM ¢ 3MME. eled] HaraeIH=idr AT <400 3ATg
TIHT 0% ST 3ATg. AL ERTE HHARAT 3Te:

9) 9400 ?) %940 3) Yo 8) &40

A town with a population of 40,000 has an average household size of 4. The number of occupied

dwelling units is 8500 out of which 10% is dilapidated. The present housing shortage is:
1) 1500 2) 9150 3) 2350 4) 650

q) TH R) TeHAlT 3) 3IRN HAt %) YRAR PRER SR
The National Commission on Population is headed by the ......

1) Prime Minister 2) Home Minister

3) Health Minister 4) Registrar General of India

SIFAftheh 3RY Ui dhel TGS el

) T I APAIAE HHI IS IRTeIedT Ifganent Iceit
R) WITERUT=AT G¥N Hdeeliel SiFHe Tt faerT

3) ol ereRra wifce snfor AT -anfie gosfiar

Q) Rl STt SrafRRIT MY S¥ T T

Gentrification can be described as :

1) replacement of low-income residents with high income population
2) restricted development in an environmentally sensitive zone

3) physical and socio-economic revival of the inner city

4) haphazard and high-density growth of urban area

GIeieieh! PIvRT SRR ATel ?

q) ARA T ;. HUD AU AT SAlbdT TeThgd AT Bl Sl

Q) BT AfenT : FAmaverd Ufififtica aRuraT eghiar FHTaer SRielell T
3) FAEier Frufent « Wil o

8) FRIGd AGedd FHAT : ADAET v TeHe f9mTe ST

TE § 9 T & YEURISRITS! SUYh FeHIg : sfedawern / ¢
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Which of the following is NOT correct?

1) Convenience sampling : sample is taken from a group of people easy to contact
2) Quota sampling : sample involving individuals that represent a population

3) Snowball sampling : recruitment technique

4) Stratified random sampling : population is divided into heterogeneous groups

1) Araforme Ao elbee@myd Hfead siavTer FHasu JwIfae a1me
IT) ARt Fpaa TeMe [T aRd, FaR Tid Foleexieyd Algedd FHAT od

11T SeafenT & aTgfetsds Sueda g 3R
g SR :
9) %k 1 Q) ek 11 3) 1 37for 11 Sre ) 11 3nfor TI1 <t

I) sampling involves selecting fixed intervals from the larger population

IT) sampling divides the population into groups, then takes a random sample from each cluster
IIT) sampling is a random probability sampling

Answer Options :

1)Ouly I 2) Only IT 3)BothIand II 4) Both IT and I11
CeledT Alhaeel Hd SHEIRHT Ue faRul wgura :

) T ?) ety diet 3) STRTORT g) e aiffec
Questioning to all candidates of a given population s called :

1) Sample 2) Gallup poll 3) Census 4) Nielsen audit
USRI

I) Squl Spaeeea TSGR AIaST e Hlid e
IT) ufcifrelt =TT UsIgR Srdsi-h Hare Jedid

i IR :

9) 3t (I) ) wh (1)

3) Qel (D) 3mfor (1D 8) Qi (1) febar (ID) et
A gallup poll means :

I) an assessment of public opinion by the questioning of a complete population
IT) an assessment of public opinion by the questioning of a representative sample
Answer Options :

1) Oaly (I) 2) Only (II) 3) Both (I) and (II) 4) Neither (I) nor (I)
2099 T SIFHUHTNR, Faid P SUEhTiel G &R 3etel 5 37T

q) TRIerS R) HHeR 3) IR® g) IR U
According to census 2011, the state with the lowest decadal growth rate Is :

1) Nagaland 2) Meghalaya 3) Kerala 4) Uttar Pradesh

THUT TG R Wiefiel fgdepiar MR 3.

1) PIURHEr AfGET Hel SFHIeT JvardT Jard HHTe Fiel Mowid AR ATgid.

1) ¥RITICR IRETE! Higelrd! ciicboiver R 3.

1) 7o SHTCT AUITeAT HYOT DIATaeid HEAT Jod X BrRIF g,

i SR :

Q) Q= (D) 3T (1) R) = (1) 3nfor (1) 3) <t (1) 3mfor (AD) ) 5 (1), (1), 3nfor (11D

e § 9 7 & YEURISRITS! SUgth HeHug @ srfegaw / ¢¢
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The gross reproduction rate is based on the following assumptions.

I) No female children die till they attain the upper limit of child bearing age.

IT) The female population remains stagnant in spite of migration.

III) The current fertility rate continues to hold during the entire period of child bearing age.
Answer Options :

1) Both (I) and (II) 2) Both (I) and (I1I)

3) Both (II) and (III) 4) All (I), (IT), and (IIT)

SO UG WIAIeSHTOr 31T,

) aR<fa® ggd

IT) < SR ved

qIRit ST

q) ek Ht ?) Bk HI 3) 1 amfor 1T ggt g) 1 fobar 11 gt
The method of census is (are) as follows :

I) De facto method

IT) De jure method

Answer Options :

1)Only I 2)Only I 3)BothIand II 4) Neither I nor 11
PRRA AT aTed! ATHaReT

a) anfdfep arcdiear Feft femfor aa.

b) ISR ) amegm fFoior axa.

c) 3T et FeHid 3egr fHfur s,

d) AT ST ATpaveddn He FHiur .

qIRit S :

1) (a), (b), (c) MM (d) F SRR I 2) (a) 30 (b) SIS AR

3) Eh (a) SRR 3R 8) e (d) SNISR 37T

A growing working age population :

a) provides opportunities for economic growth

b) creates challenges for job creation

¢) creates challenges for economic growth

d) creates challenges of population dependency

Answer Options :

1) (a), (b), (c¢) and (d) all are correct 2) (a) and (b) are correct
3) Only (a) is correct 4) Only (d) is correct

e § 9 7T & YEURISRITS! SUGth HeHug @ srRfegawr / ¢
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() TRe — Jepear, TR Aiomm, IR e HriA

q) TR HepeanT, FROY

) RS AT 3foT SigrsT
3) e e Rdens

) TR e wrig

q) TR« i1, BRI

?) SRR Ao 3T sigrt
9)  sft. SIpeETST AN TRCIRISENAT AT IRBRST BEft AR HAT BT ?
9) R0 ?) 9]R9 3) AR 8) 9%%3
1)  When was the report related to poverty by Shri. Lakadawala Committee submitted to the
government?
1) 1990 2) 1991 3) 1992 4) 1993

R) SR T WEOAR 03 HEY SHRNIEY SIRERSTT (SMiftis e XuT) Fey e ... ot

Rl Tt fesrar VaStt L Tl R Tt o geepT areae.
9) 9 SieR, SR Q) ¢y SleR, Wo TieR
3) 9.9Y SIeR, 2.3Y SR 8) 9.0 SleR, .94 SIeR

2)  The World Bank updated the (extreme poverty line) international poverty line from to per person
per day in September 2022.
1) $1,$2 2) $1.85,$ 2.50 3) $1.75,$2.25 4) $1.90, $ 2.15

3) SIRGY AT UG GRIGAIPT HRUIRISH §9 093 At RS SARHIhG FT0T T

ST qo T STeTel ... 2 8.
9) BT, W. qeG <@ Q) o &t IRH
3) 8. 7. dgean Q) Sf. 9. b. I3

3) The expert group set up in 2012 by the Planning Commission to review the methodology for
measurement of poverty was chaired by
1) Dr. S. Mahendra Dev 2) Dr. C. Rangarajan
3) Dr. S. Tendulkar 4)Dr. Y..K. Alagh

8)  CIRGETAT RIS Heidies WRIGUd! HIurdt Fe Adt T 3fgdTs — 2090 HL Aige Tt ?
9) 7Y eRey fFére R) TIRGmT SgamRIET e
3) fo5 Femar g ) fou fowwar fdene

4)  Which of the following concepts of poverty measurement was introduced by the Human
Development Report of 2010 ?
1) Human Poverty Index 2) Multi-dimensional Poverty Index
3) Gender Empowerment Measure 4) Gender Inequality Index

e § 9 7 & YEURISRITS! SUYh FeHIg : sifegawen / Q0
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el SR TepIfTe eted] IER FgamAE IRt & 2029 AR, Wellelic! Dol IISdTd
afieh T Al fUugTedT YToauRET dfRid 3Tt (3FRidlS gedrec: Uaeid) ?

9) AR Q) HYTeH™ 3) I ) OV T
According to National Multidimensional Poverty Index 2021 published by Niti Ayog, which of
the following states has the highest percentage of population deprived of drinking water

(Uncensored Headcount: Drinking Water)?
1) Manipur 2) Meghalaya 3) Assam 4) Arunachal Pradesh

3) g9 AN Adera

GTSIBUDH! PO T SRR 3R,

a) HAa faepr Fcaie 3TgdTs SITfie UIdeier 9330 URIT UehIiRId 8id 3.

b) T 9]RY HEY SIAIfI UIddiaR BRI S3ST AT BRI e B fomigriset giar.
iR S

9) (a) SRR AR ?) (b) TSR 378

3) (a) SfOT (b) el SRISR AT, ) RIBUD! DIVl SRISR 18!

Which of the following sentences is correct ?

a) The Human Development Index Report is being published globally since 1990.
b) The Human Development Report, published globally in 1995 was on gender differences in the

population.
Answer Options :
1) (a) is correct 2) (b) is correct
3) Both (a) and (b) are correct 4) None of the above is correct
g) TiRet feer Srisma
EIGICREHIERECINE R

a) it Medt JrHior T GUrRd Tisir-11 & SR uETelier ATHIAMNT B8R SIUuIIehRdT eI .

b) st e gEfior ARt Ui -1 3fcria JicT BRPpe . T oig @ (UfiRa axuard e,

Riedeht s /<t fum /7 arg eg/d?

9) Hh (a) TN IR, R) TR () 3TN (b) X 3R,

3) W (b) IR 3T 8) TRISTUD! PIVRTE! ATE.

Consider the following statements :

a) Revised Rajiv Gandhi Gramin Niwara Yojana - I is being implemented for below poverty line
beneficiaries for construction of houses.

b) Under Revised Rajiv Gandhi Gramin Niwara Yojana - I, the cost of each house is fixed at % one
lakh.

Which of the statement/s given above is/are correct ?

1) Only (a) is correct 2) Both (a) and (b) are correct

3) Only (b) is correct 4) None of the above

e T 9 71C & JAURISRITS! SuYeh g : Srfegawr / ]9
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EWS a1fdr LIG =7 Fgarrd! Termesft st demr (a8s)) siciia R qiuvgrre 5 des &
S ST MR
9) 30 m?, £0 m? ?) }Y m?, 4o m? 3) 30 m?, 4o m? 8) 32 m?, &8 m?
The minimum carpet area for construction of house under Pradhan Mantri Awas Yojana (Urban)

for households of EWS and LIG is and , respectively........
1) 30 m?, 60 m? 2) 25 m?, 50 m? 3) 30 m?, 50 m? 4) 32 m?, 64 m?

HRA IRBRAT TN S et qIRET e JATeraredr STHaR! 099 R BH Ica= TerTa!
(LIG) shfee fofars FaiRis TehiHeriel 3TuReMe ARIGeid aw, LIG HgaT anfties Icu= 3RTeiedT Peard!
IRT IR, ... (YR BuaTa).

q) §,00,000 ?) 3,00,000 3) ¥,00,000 ¥) &,40,000

The operational guidelines on Credit Linked Subsidy Scheme for Low Income Group (LIG), as of
January 2017, by the erstwhile Ministry of Housing & Urban Poverty Alleviation, Government of

India, defines LIG households as those having an annual income up to ...... (in Indian Rupees).
1) 6,00,000 2) 3,00,000 3) 4,00,000 4) 6,50,000

(90) ISR fAfch PRl

ISR FISHTY 3TfOr 3iarsT
AR fAffet prfspy
DI g SeAoTehdT AT

q) SRISFRIA AHeIT, THR, HRU
U] dide, 9%8¢ AR TWhl AT Ul @Rhret fobell T TRy ST ?

9) g¢ d™. Q) ¥& dMN. 3) 4y dM. ¥) ¥ A

As per the Factory Act, 1948 how many working hours are there in one week for an adult ?
1) 48 hrs. 2) 46 hrs. 3) 54 hrs. 4) 42 hrs.
Qe HIvRT U aRIER 3R ?

a) T YT TS PRI SR NS, b) UTe BRI AT ST TR 3G,
LUILIECONE

9) (a) RIR 3 ?) (b) SRIR 37

3) (a) 31T (b) IR 3Med 8) aRIcTUh! PIUCE! IRISR ATEl

Which of the following statement is correct ?

a) Open unemployment is mostly seen in rural areas.

b) Disguised unemployment is mostly seen in agriculture sector.

Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct

e T g 71C & JAURISRITS! Sugeh FeE : Srfegawr / ]
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PR JRIFRIH, R8¢ T PIVAT HSHMEY 5T BrAGHIdS HFRIRAT da-TE18d A9 hed Mg 7

) D ¢3 (PREMT AT, 9%8¢) R) P o (BPREMT AUFTH, 9%8¢)

3) BAT ¢Y (HRET IMfIFTH, 9%8¢ ) 8) P ¢& (PRGN M, 9%%¢)
Which Section of the Factories Act, 1948 deals with wages of workers during leave period ?
1) Section 83 of the Factories Act, 1948 2) Section 80 of the Factories Act, 1948

3) Section 85 of the Factories Act, 1948 4) Section 86 of the Factories Act, 1948

) SRISMRI HISHY 3foT 3ieTsT

TRAM ........ AT SMARTERT BETR FESAT 98¢ Y AT €0 THHIBIAT iR Fefeeea™ dregarel
(819 FifReTeh! TRRIAT) AT et

9) 9%Y4Y ) IREY 3) I’ ) 940

The Labour Statistics Convention, 1985 (No.160) of International Labour Organisation was ratified
by Indian.................

1) 1955 2) 1964 3) 1992 4) 1950

YRA TRPRA 9830 A .............. 3 ST ofaR FRIAT FATGHT .

9) Ryge ) fegt 3) g9 (31) 8) PIABIAT (THetan)
The Indian Labour Bureau was established in 1920 by Government of Indiain............

1) Shimla 2) Delhi 3) Mumbai (Bombay) 4) Kolkata (Calcutta)

IET T FAEIUT TR HiSsed] QBB Aelieh! DIurh Fell ‘e (spifep) sRISWRI’ qeifed 2
9) <frep R SRS Q) T Rl RISy
3) e Rt RIew_t ¥) WSUDT T

Which of the following concepts developed by National Satnple Survey Organisation intlicates
chronic unemployment ?

1) Daily Status Unemployment 2) Current Status Unemployment
3) Usual Status Unemployment 4) All of the above

3) IR FAffR Sriwa
SESTahdT faerT ufdierr fardt wrisy fohcdt P 3t ?
9) 90 T R) R Raw 3) 94 faw 8) R foa
How long is the Entrepreneurship Development Training Residential Programme ?
1) 10days 2) 12 days 3) 15days 4) 2days

TRIHAT ISR A BRI iomiaia da ST Hut IUHATAIST M0 IUTeH TehReAT IUhHICH
ey et sicifd sHRa w@afdt Tafer foncht amg 2

) 4% R) 0% 3) WO% 8) aIcTch! hratel gl
What is the limit of building cost under project cost for service and agricultural activities and

manufacturing type activities under Chief Minister Employment Generation Programme Scheme?
1) 5% 2) 20% 3) 70% 4) None of the above

e § 9 TIe & USRS Sugth UewE : sifegawRn / ]3
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fencht ame 2
9) B. Y ARG ) . ¢ AG 3) ¥, 94 TR ®) T. 40 G
What is the maximum cost of the project admissible fer Margin Money subsidy under

manufacturing sector in Prime Minister Employment Generation Programme (PMEGP) scheme?
1) Rs. 5 lakh 2) Rs. 8 lakh 3) Rs. 15 lakh 4) Rs. 50 lakh

ST STaT I 3Maedes fpa deifores araar.

ST fasa SYerfore urrar
a) T IASAR et Rl 1) ¢ &t S
(3. Y AGIARIS Thed )
b) daue™ JAsR At HrRimT IV) ©% it
(3. 90 ARGIARISG I Hdhed)
¢) QuIRd ST Higds TIomHT II) S gt
d) dave AsmR Mt wris IV) 90 U=t
(3. 90 RG] WIS UG Uhed)
IR I

@ () (¢ (@)
nH v I 1 1
2) oI v I 1
3)) m o v 1
4) I W I v
Match scheme and necessary minimum educational qualification.

Scheme Minimum Educational Qualification
a) Chief Minister Employment Generation Programme I) 8th passed
(Project Cost above Rs. 25 lakh)
b) Prime Minister Employment Generation Programme IT) 7% passed
(Manufacturing Project Cost above Rs. 10 lakh)
c) Revised Seed Money Scheme IIT) Not applicable
d) Prime Minister Employment Generation Programme IV) 10" passed

(Project Cost below Rs. 10 Lakh)
Answer Options :
(@ (b (© (@
1 Iv 1 oI I
2) oI IV I 1
3)) I o v oI
4y I I I v

TERTE ISR gH AT ... I RIGRATIR & FR0ATT 3.

9) RS YIR ?) MU §3 3) . | um RSP RISNIES
Employment Guarantee Scheme was started in Maharashtra on the recommendation of...

1) Sharad Pawar 2) Gopinath Munde 3) V.S. Page 4) Dhananjay Gadgil

e § 9 T & YEURISRITS! SUYh HeHug : sifegawe / ]y
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grert el T wrir ISR g Ao Heuidiel Wiefierid! ot faer /fum gl amea 2

a) g, AXPRA 004 ALY AT Meft IETT TN ASAIR gHT AT AR be.

b) IT AT IFRHIT e, APR TRD PedTell 900 fCadredn JASHIRIET gHt <.

¢) 900 fEadTeRle Uid ASRIAT FoRied] @ardl AR 5T AT IFed.

i SR :

q) %h (a) ?) Weh (b) 3) B (c) 8) aRietueh! el

Which of the following statement(s) regarding Mahatma Gandhi National Rural Employment

Guarantee Scheme are incorrect ?

a) The central government enacted the Mahatma Gandhi National Rural Employment Guarantee
Scheme in 2005.

b) Under this Scheme, the central government guarantees employment for 100 days per family.

¢) Above 100 days the state Government bears the additional burden of the labour cost of each
labour.

Answer Options :
1) only (a) 2) only (b) 3) only (¢) 4) None of the above

refetidt o/ e/~ ghrr /<t amed ?

a) g IRBRA X0 SR FT—IR Ao HUTaRoT IERT Jrefior Iushifder fHeM e bl 3TTe.

b) T 3R Tel TH AT g, ARFIhgT GRahd (T 9Y% ) 3TITOr 15T IR = 4% 31T,

¢) ST Faerd JIRE XSEele] Iehiedl T -IISHRIATCRI]. AR FoR dhell STTga.

d) T 3R UeT UH JoI3 aes HeRTEIiel 9d feiid Jefiell Srse.

i SR :

) (a) R) (@) 3) (c) 3Mfor (d) 8) (b)

Which of the following statements is/are incorrect ?

a) The Union Government has converted the Swarn Jayanti Self Employment Scheme into the
National Rural Livelihood Mission (NRLM).

b) The NRLM is sponsored by Union Government (share 75%) and the State Government's share
is 25%.

c¢) Interest subsidy will be granted to institutions of self-employment for BPL section.

d) The NRLM will be implemented in all of the districts of Maharashtra except Mumbai.

Answer Options :
1) (a) 2) () 3) (¢) and(d) 4) (b)

¥) DI g IeNSThdl fAprNT

a) TERT AT NS0T Hews AT AT T AR dHleTedTd Horeior o= \eery fhar sitenfie
Tforeror SRR R det ST,

b) TR TACRATI FRAT & SENT TGATIT &1 HNEI0T STIRATS! TRATI PHRUTT AT

¢) Jenfires Tfdrerr T & URATAT e T SieNfies fprIBRar Jaeded 1 eRTRId IRt
P IS (T FRUGRATST 9340 T RITI hRUAT 3Te!.

RIS Do T/ fum™ b Mg /3med ?

gl S

) h (c) ?) (b) 37T (c) 3) (a), (b) 3N (¢)  8) AT &l

e 9 9 T & TSRO SUYwh TeTRUIE : refegawen / ]y
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a) Institutions Providing vocational Skills Training to workers or Industrial Training Institutes
are regulated by the National Council for Training in Vocational Trade (NCTVT).

b) Indian Institute of Management was established to provide training in the field of Industrial
Management. ¢

¢) The Industrial Training Institute was established in 1950 to produce skilled manpower in trades
required for the technological and Industrial development of India.

Which of the given above statement(s) is/are incorrect ?

1) Only (c) 2) (b) and (¢) 3) (a), (b) and (¢) 4) Nome of the above

T, w4, & 3. g9a gl ot fJue '@ TR ?

a) T Py e Tgmes (W w7 St ) Araife oot @mnft yrfieRieT medrg <ot

b) I Dlered e et TRT ARBRGR 00% T FATUT FROATT 7.

¢) 39 9™ 030 RId NSDF o 8849 didhar feft iy e qemssen e ore.

d) T I AT FRIGRT DI [ABRIRTC! HRravT, e, bRy afor UeRE & PRt el
NINIGH

i SR :

q) (a) 31T (b) R) (b) 31T (c) 3) (d) 3mfor (e) 8) (c) 3Mfor (d) weh

Which of the following statements ‘Are Not True’ about NSDC ?

a) National Skill Development Corporation encourages public-private partnership.

b) National Skill Development Fund was set up in 2009 by Government of India.

¢) Till 31st March 2020 NSDF has released 4951 crore to NSDC,

d) National Skill Training Institute is ran by Ministry of Human Resource and | Development,

e) Training, Research, Development and Publication for skill development is the work of National
Instructional Media Institute.

Answer Options :
1) (a) and (b) 2) (b) and (c) 3) (d) and (e) 4) (c) and (d)

EICICACISRCEIN R

a) 3-99 g AHIND GRETT ST YRAKIS SRTHC &S PIFTRIHIT UIRafdudRy o1 SUARIe!
TIR RO NS UIcad A1 3e.

b) § 5 9& - YR TINCRIS! 3Te.

RGB! PIURT fIem /fau™ SRR sme/d ?

9) Wi (a) SRISR 38 R) ih (b) SRR 3MME

3) I (a) (b) MM SRIGR 3R g) RIS PIUITE! ATE

Consider the following statements :

a) eSHRAM is a name of the portal launched to facilitate delivery of social security schemes to
the unorganised sector workers in India.

b) eSHRAM is for age group between 16-59 years.

Which of the statement/s given above is/are correct ?

1) Only (a) is correct 2) Only (b) is correct
3) Both (a) and (b) are correct 4) None of the above

e § 9 e & USRS Sugeh UG : Sfeae / Qg
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(99) fAFRT FRIPH

HAEAHTATERT G FATALNE Jot - fAxi g I HRIsHT
fafae afer e warfteor- afger, qot, gasw, Theuanfea, S8 TR
% WIS GR&TT-fafde gewmTd! waerd g s g™
SRR STTciTen [RET SATfoT faepreT

SRR STHTCHTSN [RETT SATOT farepre

AT T GRETT JAT1oT fdemra
IR FRET o7 faemre

SIS AN Y& AT
Rzt gRem anfor A
HITTIRTE [REIT 30T famr

TR T QTSR FRET SATIOT fImre

3 fRr8101, IR, it TefFmion &aman fawr

farerur ST SUHH, AISTHT

TRITT &AT<HeT SUsHH, ATSTT

Ht g ITHOT faeT IisTHT, BRI
rIRgR & 3MTfor fasrT

TeRmTvIYTS JrotT, HRIFH

q) WEAHTALIRAT 9 AHIALD Tt Aty AT BRI
TERTE T IRFH ... a1 feaeht 'germe 5w oFa ARy e < e e,

q) I} S 009 R) R ST 00% 3) 3R S 004 8) RQ ST 00§

On...... ‘Maharashtra State Human Development Mission was constituted by state Government of
Maharashtra.

1) 29June 2001 2) 29June 2002 3) 29June 2005 4) 29 June 2006

TERTY I5aTd e foclt ot aRce sRida! eahl Fenfieh eahl U Sfideget! ST ?

9 A ) 3o 3) 9y 9N 8) aietieh! Barel el
A person who has lived in the State of Maharashtra for at least how many years is known as a local
person ?

1) 2 years 2) 3 years 3) 15 years 4) None of the above

anfdfer faerT anfor gg fART T WRed 3T, & Jd PIvl J/es e ?
9) ule feeed Q) M 3) UI. UE99 S®-8P  ¥) qioaR 9 YU

Who has expressed this opinion that, there is a difference between economic development and
human development ?

1) Paul Striton 2) Amartya Sen

3) Prof. Mehaboob Ul-Huk 4) Dandekar and Rath

e § 9 T & YEURISRITS! SUYh FeHIg : sifedawen / ]u
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g) '3 fIprT TRUN SRels IcuHd dre giul 3.’ B anfdie faerardt curet aoft Aiedt sme ?
9) B3R T Sresfad Q) WI. eI
3) U 3fdd ¥) 3N g Rasa

4)  Who stated the definition of economic development as "Economic Development means, increase
in per-capita income."
1) Mayer and Baldwin 2) Prof. Williamson
3) Prof. Lewis 4) Okan and Richardson

?) fafdy afRa e werawur — Afger, Joi, Jab, TheddIied, SU8 ARRSG

9)  grRF 9juw T REIITS! Qe Ufder ... =T AedM dIR el
) FSY SMARTET I STRIBRY Q) INCRIET HifFep FeeT
3) 3MRPT HIIeT PR BRIH ¥) (9) 37T (Q) Sl

1) InMarch 1977 Women'’s vocational training was formulated with the assistance of .............
1) Swedish International Development Authority (SIDA)
2) International Labour Organization (ILO)
3) American Skill Development Programme
4) Both (1) and (2)

) N Aol &, R AlgeR 209y TAR TR 5Tl o Reaneft 9t qareii-adt el drisha
REIRRISI e
q) SRS Q) PR 3) dfis g) AR

2)  According to Govt-Resolution Dated 2 November, 2015 which district in Maharashtra state 1s
not related with Beti Bachao-Beti Padhao Program ?

1) Aurangabad 2) Kolhapur 3) Beed 4) Solapur

3) a) UM e 9 AfGET I1et [ART YRS Jusd digel sud kAT Sl IR AEeeH! ueelH

TRl S

b) AT FhoIR IR Al HEFIAROT & AT HAfeeT Fad Tl I Teh ATSIE ot QUIATS!
g pell 3Te.

TR proret e/ fum RieR g /3med ?

i SR :

q) & (a) R) &h (b) 3) (a) 3T (b) 8) AR TR

3) a) The Saras Mahalakshmi exhibition of the products of women’s self-help group is held in Mumbai
every year by the department of rural development and women and child development.
b) Suman Suklikar udyogini Mahila Empowerment scheme has started a scheme to provide loans
to women self-help groups at zero percent interest rate.
Which of the statement(s) given above is/are correct ?
1) Only (a) 2) Only (b) 3) (a) and (b) 4) None of the above

e § 9 7T & YEURISRITS! SUgth HeHug @ srRfegawl / Q¢
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S T Heftear Rreona F9F gaoRt @ET B A HIATRUMTAS] et STTger.
9) anfefew ) MR 3) INTHIT ) Sferforep
Equal access to education for woman and girls will be ensured for ............. empowerment of
women.

1) economic 2) social 3) political 4) educational
Ta frem SRR e e ... BIEEEI IR I T

q) g e TR Q) Hrefte fArer STl

3) YRR farem SR ) emery farer IR

Sarva Shiksha Abhiyan is subsumed under the .................

1) Samagra Shiksha Abhiyan 2) Madhyamik 5 Shiksha Abhiyan

3) Indian Education Abhiyan 4) School Education Abhiyan

a) el GIuT UIdesl YR g AETg HIoM dioFd Sfe¥ 3%,

b) HeITE WIS & AT SIS Faid qid) el JMER AT 3T

¢) TIRE NETelle] GG & AISHT 3.

IS PIoRT e/ fRu™ SRR R /Smed ?

1) (a), (b) 3T (c) ) (a) 3T (c) 3) (a) 3T (b) EAGECAEIN]
a) Improving nutritional levels in children 1s the objective of midday meal scheme.

b) Midday meal scheme is the world’s largest school diet scheme.

¢) Midday meal scheme is for children below poverty line .

Which of the statement/s given above is/are correct ?
1) (a), (b) and (¢) 2) (a) and (¢) 3)(a) and (b) 4) None of the above

TpIfciiep STetfdeprd Ao (STR.H).$1.09.) Feyid Wiefiefid! diva e /AU sRisR a1me/3med ?

a) B AT R TSR 9]0 URET o PRUIT 3Te!.

b) & AT HereHT Ml Jiear qo¢ T S & g aRuard ST,

¢) T AT I SABIT AT JHRID, ARING T ARG fIBRIRIIS YR g1eror & 37Te.

d) STET auRaTelieT STt dTefdhieal Ul g TR RRICHES GURUI T8d7 AT,

i IR :

) ®h (d) R) wh (b) 3) (b), (c) &l (d) ) (a), (c) S (d)

Which of the following statements is/are correct regarding Integrated Child Development Scheme

(ICDS)?

a) This scheme was launched from 2 October 1975.

b) It was Launched on the 108" birth anniversary of Mahatma Gandhi.

¢) The objective of the scheme is to lay the foundation for proper mental, physical and social
development of children.

d) To.improve the nutritional and health status of children under six years of age.

Answer Options :
1) Only (d) 2) Only (b) 3) (b), (¢) and (d) 4) (a), (¢) and (d)

e T 71 & JEURISRITS! SuYeh g : rfegawer / QR
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I Y 3ol

a) HERET Meft a1ferent e & Gean Jfariear gefiard! Fardt S mfie o 3.

b) PRRET et FTforenT e g STeuiRedTe d qIRGY NdTeliel Jaotlras! Farit S mfie o 31,

¢) PHERET el FrferT e’y g SN NuaTeliel Peariial Gt 4% ITRET <.

i SR :

) h (a) T (b) R) Beh (b) T () 3) % (¢) g) a¥ieT Hd

Select the correct statement.

a) Kasturba Gandhi Balika Vidyalaya are residential upper primary school for girls from open
category.

b) Kasturba Gandhi Balika Vidyalaya are residential upper primary school for girls from minorities
and below poverty line.

c¢) Kasturba Gandhi Balika Vidyalaya provide 25% reservation to girls from families that live
below poverty line.

Answer Options :
1) Only (a) and (b) 2) Only (b) and (¢) 3) Only (c) 4) All of the above

@refler fau™ foaRma &

a) 90 3IIMRE 2039 ol YR IRBRT TUTH] ST AT 2.0 T Pell 3MTe.

b) ST 2.0 IR Sah TAUTSIT SiIoN Hgera ATHTRIAT Ufgel 03 Afg Riclex 9 719 el Alhd quard
I

0 iy
q) A (a) AT TR R) T8 (a) 3T (b) AT 3Ted
3) % (b) A A o) e PR T

Consider the following statements :
a) Government of India has announced Pradhan Mantri Ujjwala Yojana 2.0 on Jo August, 2021.
Which of the statement/s given above is/are correct ?

1) Only (a) 1s correct 2) Both (a) and (b) are correct
3) Only (b) is correct 4) None of the above

3) SFRIfE STttt |Rat Jfor fawr
AR foarg dieares ao dewld -

a) SRR fIaTg HRUTT NER™HT 40 IR U AR <uaTd A,

b) fdaTg PRUTIMHE Teb SRR St /STl fogeh STicft @ Hedam SHTied] echiden! g guRl adeh
Aqul FH T ST

R DU U /U™ RIsR 3R /3Mmed ?

g SR :

) Hh (a) ) & (b) 3) D T ¥) TR AT

e § 9 7T & JEURISRITO! SUYth FHE : ifedawn / 900
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Regarding inter-caste marriage promotion scheme :

a) Fifty thousand rupees financial assistance is given to inter-caste couples.

b) Among those getting married, one person should belong to Scheduled Caste/ tribe Denotified
caste and Nomadic Tribe and the other person should belong to upper caste community.

Which of the above statement(s) is/are correct ?

1) Only (a) 2) Only (b) 3) All of the above 4) None of the above

¥) e ST [R&t Jfor fawr

Gefletidhl BIor e /fem SRR amg/amed ?

a) FIATYRY FABAIYET AMSIRT T SATSTRUV SIO7 HUINUT AT LRI TR Fd! e, i1
AdSIfep 3reraT fieeT SIRFY hemed TMRRITATAGST 04 o ¢o fb. . T 3iaR Pue anr,

b) HYUT HRAT AESID R houdd RTINS SAlbi AR 93.44 fh.AY. TR Tary o
IRTA.

i SR :

9) (a) Bh ?) (b) Hh 3) (a) M (b) Beh  ¥) aetueh! ATl

Which of the following statement/'ss is/are correct ?

a) Tribal Groups that are more vulnerable to disease and malnutrition than the rest of the population
have to cover a distance of 5 to 80 km. to reach a community or district health centre.

b) Across India, people have to cover an average distance of 13.55 km. to reach a community
health centre.

Answer Options :
1) (a) only 2) (b) only 3) (a) and (b) 4) None of the above

4) HRTRIGATITET RET ST fadrT

TERTY AT SR AN, [ SIcii—yeaan SHIdt g faes AT demrrean Steiforn, e afor
AMTNG ABRITST ETefieidh! BT AR FATTHT ¢ JMRE 098 ISiT ef.

9) 91t Q) AR 3) TSt Q) ARG

Which of the following organization was established by the Government of' Maharashtra for the
educational, economic and social developing of other Backward class, Denotified Castes-Nomadic

Tribes and special Backward class on 8 August 2019 ?
1) BARTI 2) SARTHI 3)MAHAJYOTL 4)NAYAK

RS FEERETelIel dlepAdielie ARGHAT FaIepRal JATfIehesea Goel HeehiTS! SREUTT CehaRy
fepett 2

9) 90% ) V% 3) 4% 8) ’%

What is the percentage of reservation for economically weaker sections for direct entry into

public services under state control?
1) 10% 2) 20% 3) 5% 4) 9%

e § 9 7 & JEURISRITS! SUYh Fewg : sifedawen / 909
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§) IICURIEIIDIG! [R&TT IfOr faprT

SICURIREITeD AR HATTI fSHaR 2032 ALY ITS Bedg™IR, TedT 3 uid, Fgurel 209330 o 2039-
R, I ... AUl HRAWR HfgeA =1 Felt ALFT JioFaiaia TfIférd PRuam 3fet 3.
9) 30,000 ) 34,000 3) 80,000 8) 84,000
As disclosed by the Ministry of Minority Affairs in December 2022, in last 3 years, i.e., 2019-20
to 2021-22, approximately ...... women have been trained all over India under the Nai Roshni

Scheme.
1) 30,000 2) 35,000 3) 40,000 4) 45,000

©) SAS AR FRET T AT

HTUTETe AT BRI Wletioldeh! HIudT JaTdle] SIS ARG [Hosdl ?
9) FF Y¢ Rl Q) T o Ty 3) 9 &Y aNTaRIe 8) T Y JufatT

Which of the following age senior citizens get benefit of Shravan. Bal-Yojana de
1) Age above 58 years 2) Age above 60 years
3) Age above 65 years 4) Age above 75 years

a) S8 TATNG Jrr 31ef €0 a¥ Yot dhetedT HIVTEl GO JefaT S 3T g,

b) BIC Pgd d IEVANIC! BICI SN AT HRUTS KT ARRBAT FHRIT dIed 3MTed.

¢) A, FTARITIES BIVIT TR SAEFAT [T FH{0T 77ed 3.

RIUDT PO U /UM RISR 37/ 3 ?

i} ST :

) Wb () R) (a) 31T (b) 3) (@), (b) 3T (c) &) ettt el

a) Senior citizen means any man and women who has completed sixty years.

b) The problems of senior citizens are increasing due to small family and small living space.
¢) Migration due to job, business has created problems of senior citizens.

Which of the statement(s} given above is/are correct ?
1) Only (a) 2) (a) and (b) 3) (a), (b) and (¢) 4) Nome of the a

I JFfaeeadl e aar! facdt as quf detean SUS ANRGHT HERTY 50 URagT a1 7Y7
AIhd HaT &= Al ?

q) 97 a¥ 4¢ qul R) 9T I§ g0 Ui 3) 97 oy gy quf 8) a7 a¥ vy gof

On the occasion of Amrit Mahotsav of Independence, Senior Citizens who have completed how
many years of age can travel for free in Maharashtra state Road and Transport buses ?

1) Completed 58 years of age 2) Completed 60 years of age

3) Completed 65 years of age 4) Completed 75 years of age

¢) T e 3nfor fawrT

e § 9 T & YEURISRITS! SUYGth HeTIE : SRfegawl / 903
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Q) HRTTRIE FREM 3Mfor famrT

S HUTeH, GAEE SMOT g BrIGT, 2093 HEY "R A WRUTS AT IRGLfbcar 3ifRipR
............. 30T GAGAATAS] Ueh Wehlchel PRIGT 3T

q) WRUTS, AT ?) TR, YR

3) TRUTE, oo 8) SSifadret W=, foreema

The Right to Fair Compensation and Transparency in Land Acquisition, Resettlement, and
Rehabilitation Act, 2013 is a unified legislation for ...... R and rehabilitation.

1) compensation, resettlement 2) displacement, resettlement

3) compensation, displacement 4) compensation of livelihoods, displacement

faeprarardl SR Taer exugR daTe gl P SR ?

) STH HTeTh! R) YU 3) S SrfcRHor g) ST Ao
What are the different ways to access land for development?
1) Land ownership 2) Land acquisition 3) Land encroachment 4) Land leaving

90) ITHY T ATHSRIE FREAT MfOT fAmRT

q9) fRr&Tor aATciier SUsHH, IS

FANE 94-3Y FRhinelel fFReRd guid: I PROIRR ............. 7 JaaTies AHHE R e e,
q) ORI GEATND AT (9]4E—9R50) ?) eredl YaaTie JSHT (9%%3-9%%)
3) ured! GRETe AIoFT (9898 —9R1R) g) Tl GEETien AT (4]¢Y—9%%0)
Complete eradication of illiteracy among the people in the age group 15 to 35 years was mainly
focusedin............... five yearplan. .
1) Second five year plan (1956 - 1960) 2) Eighth five year plan (1992 - 1997)
3) Fifth five year plan (1974 - 1979) 4) Seventh five year plan (1985 - 1990)
NPTEL & MHRD 3T & Hdhed 318, Al .o Jefiet YR darsie |wrT (IIT) 3mfor IISc STAR
JieaT Yh YT 003 HE g el el g,
a) gt b) TR ¢) BAR d) gor e) PITepTel
LUIDIRCH S

) B (a), (b), () R) Hh (b), (d), () 3) &ch (a), (d), (e) ) Wb (c), (d), ()
NPTEL is a project of MHRD initiated by Indian Institute of Technology along with IISc Bangalore
in 2003.

a) Delhi b) Roorkee ¢) Kanpur d) Pune e) Kolkata
Answer Options :

1) Only (a), (b), (¢) ~ 2) Only (b), (d),(e)  3)Only (a),(d),(e)  4)Only (c), (d), (e)

fareror 3T STRIY &=ed FefF 3RaeT WRaT HaT IrATet RRThRef Hioft dhear ?
q) TTRIHRI YR SN (9R€R) R) TRSINAT AN (98¢3-¢C)
3) Tl 3T (009-2090) ¥) TRIAUh T

TE g TE & JaURISNITS! SUgth HeRg : fegaer / 903



3)

8)

4)

4)

5)

&)

For Private Circulation Only

The new All India Service in the field of Education and Health are recommended by
1) Administrative Reforms Commission (1969)

2) Sarkaria Commission (1983-88)

3) Punchhi Commission (2007-2010)

4) All of the above

DIUAT DGR A AgIeAT Meft IET Bl (MGNF) g detl ?

9) fareror HaTeRT Q) P fABrT 3T IeNSThdT HATT
3) grior fdpT Harer™ $) TARIC ST H3lTerT

Which Union Ministry launched the Mahatma Gandhi National Fellowship (MGH)?
1) Ministry of Education

2) Ministry of Skill Development and Entrepreneurship.

3) Ministry of Rural Development

4) Ministry of Panchayati Raj

Telietch! Pprort /ot faer /= amg emg/a 2

a) ATE Wisaer M, forar, SR il SR BRIAIIT U3 Fafdel i ISTT FHI&T Alebra
faepry PRUIRT ST GIRET Pl PRUTATS TRoTel AT,

b) TFa AT IR gaiaidTeiter Wfdreror, €3 ffegcdt, Sadie BHm oD, A1y AedTficd I
IHTGhdR HhRIHD UHIT 3.

¢) e SYHET HicTeh SEGT HIFd ATE fehTd eI SRAC AT HURI & fAehrRiTe HebRTeHeD
afRur oAUl T BHY 3.

Tt S :

?) % (a) ?) % (b) 3) (a) 3T (b) 8) % (c)

Which of the following statements is/are correct ?

a) Human capital formation through education, health and other programmes suggest-state
interventions are needed to develop people and alleviate poverty.

b) HRM interventions involving training, goal setting, flexible work schedules, gain sharing have
positive effect on productivity.

¢) The owner usually is HRD manager in a small enterprise so chances of positive outcomes of
developing employee competencies are low.

Answer Options :
1) Only (a) 2) Only (b) . 3) (a) and (b) 4) Only ©)

a) FFE TR YS! SUIRM 3MUel SR €cdh Fg0rel ATeH g,

b) AT fafder FehReaT TR Jul GRUIRAIS! FRATiier fehdl TRifeRUTlict ST Scdh SR 3TI0TeT ST
¢) AME! AT U TgU] HRATHD J UICHSD AAhRisl B

d) TSI e Sl ST, DIeed ST I gt P! Uil Fguist 7 FATee [GRT 8.
eI v faer/faur ghra e /smed ?

i ST :

9) AT e ?) (b) 3MfOT (c) 3) (b), (c) amfOr (d)  ®) (a) 37T (b)

e § 9 7T & JEURISNITO! SUYh FeHg : sifedawen / 908
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a) Resources are the factors used to meet human needs,

b) All the elements of nature or envigonment which are used to meet various need of human
beings are called resources.

¢) Human resources are numerical and qualitative population,

d) Human resource development is the process of increasing the knowledge, skills and abilities
of all people in the society.

Which of the given above statement(s) is/are incorrect ?

1) None of the above 2) (b) and (¢) 3) (b), (c) and (d) 4) (a) and (b)
T 3T TR 379 ... SURUIE RIGRA I S SRR defl 38

9) ST R Q) TUTCRITeR RTERT BRI

3) W -faemienn 8) R At

National knowledge commission recommended the setting up of an independent and
autonomMOUS...........c.eeev..

) National institute 2) National commission on libraries

3) National e-journal 4) National committee

TG AU TR SEARE ST JeIHT et ST,

a) PRI HTOFARI GRTT b) FHIERT ARG GRIT

¢) geTgT GRTaT d) FLTS oIS U

gaRft SR :

9) (a), (b) faum Iy 3R Q) (a), (b), (c) fau™ IrT 3MrRd.

3) (d) faum amg sme 8) (b), (c) faerH T amea.

The performance of human resource departments is evaluated based on ............

a) Measurable evidence of efficiency b) Measurable evidence of effectiveness
¢) Anecdotal evidence d) Qualitative Measures ‘of Success
Answer Options :

1) (a), (b) statements are correct 2) (a), (b), (¢) statements are correct
3) (d) statement is correct 4) (b), (c) statements are correct’

a) FERTY AT 99y e dRifer g deledl ‘e’ PRipHIGR Aedfies 9 99 "redfis
TR et R T el Jued! Ta dl el husilad AT dRR hell 3.

b) PNt WIITAT AZPII Qe YINUT ER AfeIeh e STET, JefiT il e AT cgrell e
"IRAGNT HAHeTT FERIY IR JEAUR TR,

R PR Ry /R T o/ 2

gt IR :

9) Th (a) ?) a¥feriicht el 3) (a) ST (b) 8) % (b)

a) Maharashtra state office of comprehensive Education has entered into an MoU with HCL
Company to provide new career opportunities to secondary and higher secondary level students
through the ‘MILAP’ programme.

b) In collaboration with the Department of Agriculture, the Maharashtra Government will
implement the "Paras Bagh’ concept to make school nutrition more Palatable and to instill
interest in agriculture among children.

Which of the statements given above is/are incorrect ?

1) Only (a) 2) None of the above  3) (a) and (b) 4) Only (b)

e § 9 7 & JEURISRITS! SUYh FeHIg : sifedawen / 904
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TINIEe [der FAEATE Ufsd "ed AigT A AT ... a3

q) YUl cermed fEdh e TR Q) ARpfcrs Rrarr I o

3) "EIfernery g fedis wR1eRier frermrar fdprT  8) Awpd fremomclier demed

Pandit Madan Mohan Malviya Scheme of Ministry of Human Resource Development is for ...........
1) Spread of Hindi language throughout the country

2) Promotion of cultural education

3) Faculty development of colleges and universities

4) Research in Sanskrit education

faemdic framor M %8¢ AR -
a) geraT e o fiie Sfiae SRIoATR ST & STRI v,

b) SpITERATS Tt <0,

¢) ARG awdT SfEFmed derfies o U Aniqeld dw et uTfeo.
d) S frerond enfifes MefAT TIH AT,

g SR :

9) (a), (b) AT (d) R ?) (b), (c) 3T (d) SRIR

3) (a), (b) 3T (c) SRIK 8) (a), (c) 30T (d) SRR

According to University Education Commission 1948.

a) To Awaken the inborn ability to live the natural life by developing wisdom.

b) Training for Democracy.

c¢) Education system must find its guiding principle in the aims of the social order.
d) There should not be place for religious things in higher education.

Answer Options :

1) (a), (b) and (d) are correct 2) (b), (c) and (d) are correct

3) (a), (b) and (c) are correct 4) (a), (c) and (d) are correct

T A (A%%3) Pivre fOrpRef dedm giean ?
a) frere fomelf UIRR fha 9 : 30 9T it et TIfS.

b) SACIE HIETHET IR

C) BT AT ST GRcIch QMMoscl AT Achl TAT!.

d) feremr TRt 3R difgs.

Tt S

1) (a), (b) 3T (d) SRISR 3T ?) (a), (b) 3T (c) SRR SfTed

3) (b), (c) 3T (d) RIS 3MeT 8) (a), (b), (c) 3T (d) RIS 3T

What were the recommendation made by the Yeshpal Committee (1993) ?

a) The teacher Pupil ratio should be reduced to at least 1: 30

b) Use of electronic media

¢) There should be no compulsion for schoo] children to carry heavy bags to school
d) Education should be joyful

Answer Options :

1) (a), (b) and (d) are correct 2) (a), (b) and (c) are correct

3) (b), (¢) and (d) are correct 4) (a), (b), (c) and (d) are correct

TE g 9 TIC & JaURISNITS! Sugeh UeTHg : SifegawaT / 90§
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I B ATl

a) 31Raet YRR difen fareror aRweh w=T axuaRITS AICTE $RIST IR RuaTd 3Tl

b) YUl <erTd difen fRrerr gumetta IR e @ | ey exuarar Jge AICTE =t FToT
PRUIT AT,

¢) difrep farerumrear SRR Heuid AICTE =it YfHenT SHuaRITd! IIERT R T FATIHT RN 3Tell.

i SR :

q) &b (a), (b) R) @ (b), (¢) 3) Wh (a), () 8) it |

Select the correct statements.

a) AICTE Act was made to provide the establishment of an All India Council for Technical Education.

b) AICTE was established with a view to proper planning and co-ordinated development of technical
education system throughout the country.

c¢) National working groups was constituted for to look into the role of AICTE in the context of
proliferation of technical education.

Answer Options :
1) Only (a), (b) 2), Only (b), (¢) 3) Only (a), (¢) 4) All off the above

Wleficidh! ARG HAUT /7 3ol

a) WISIARUT SO T Ul © S freumeaNiet g™ 3R,

b) Jafches 1810 § TadheuT T Forefiardr T Ui & S IeumHRIe g SurT 3.

Tt S :

9) Fh (a) ?) th (b) 3) ()@ (b) I 8) RIeTHT e

Select the correct statement/s from the following.

a) Privatization and quota system are challenges before higher education.

b) Personalize the education and encourage innovation and creativity are solution for challenges
before higher education.

Answer Options :
1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

ARG P 3Nesddl. (S fei0r MIser 209%3-20)

a) TRAT Fahel AUl THT0T af 209%-20 HEY 1.9 Tde 8Kl

b) TR i Fehel AlGUT FHIUN a8 09320 HL 3.8 TS Bll.

¢) SR S el AUl FHT0T g 209%-230 HEY 9¢.0 T K.

qIRit S

1) @h (a), (b) R) ®th (b), (c) 3) ®h (), (¢) 8) it \d

Select the correct statements. (Higher Education Profile - 2019-20)

a) Gross Enrolment Ratio (GER) of India in the year 2019-20 was 27.1.

b) Gross Enrolment Ratio (GER) of Scheduled Caste in the year 2019-20 was 23.4.
¢) Gross Enrolment Ratio (GER) of Scheduled Tribe in the year 2019-20 was 18.0.

Answer Options :
1) Only (a), (b) 2) Only (b), (¢) 3) Only (a), (¢) 4) All of the above

e § 9 7T & JEURISRITO! SUYth FHE : ifeaawen / 900
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GTeliedehl I Tcdh RIS WISHIIERU BRUTY 3MTed ?

a) Tufcad HrRigmad! IR b) ARG <RI R
¢) AR a1 d) IRpRaI i S
g I :

) (a), (b) 3T (c) ) (a), (c) 3N (d) 3) (a), (b) el (d) ) T 7
Which of the following factors are responsible for privatization of education ?

a) Need for competitive efficiency (b) Need for Social justice

¢) Growth in population (d) Financial burden on government

Correct Options :
1) (a), (b) and (¢) 2) (a), (c) amd (d) 3) (a), (b) and (d) 4) All above

9?) IR ST IUHH, ANSTHT
STGSHM WRA 3fcHic SIS WRA R J B! CRIC (S&) T fobell 3 ? (02R)
q) 9 A Q) 9.4 IG 3) _Y Bg 8) 4 AR

What is the target of Number of Ayushman Bharat Health and Wellness Centres under the Ayushman
Bharat ? (2022)
1) 1 Lakh 2) 1.5 Lakh 3) 2.5 Lakh 4) 5 Lakh

ST 2032 A, SN dcbr WRATEAT TRFI &A1 UIfcsT SUaTATe! STfU arefauamd Tt Yoo
QTS SleRTd! G TR ol HoR hell, TTUh! Ueh WeiicTueh! vl IISTTAT U 5T ?

9q) A ) IO Tl 3) HYTeR g) AR

In June 2022, two complementary loans of $500 million each were approved by the World Bank
to support and enhance India’s health sector, one of which will prioritize which of the following
states?

1) Assam 2) Arunanchal Pradesh

3) Meghalaya 4) Manipur

T WRART STH3TEeft aRISHT (diogeiond)), 9IRd IRGRT . ... ... fAURTHThT =6 el Tefl TR

q) IRRY A Pga BT fHRT Q) AMEISTR = 3Mfor HerHtexor foramr

3) 31T ufehar e AT ) HHRGCheT faHmT

Pradhan Mantri Bharatiya Janaushadhi Pariyojana (PMBJP) is launched by .............. Department,
Government of India.

1) Department of Health and Family Welfare

2) Department of Social Justice and Empowerment
3) Department of Food Processing Industries

4) Department of Pharmaceuticals

e § 9 T & JEURISRITS! SUgth FeHIg © 3RfEgawT / 90¢
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EISIGEIRGRIRISERISED
"ol AoF E U AehedT 317, STt HEATg HISHIST JAfUDID ol AR GAfead uamet
fomioT et ST

@) (r=3) D (Fma)

a) TR i) et wr

b) HERTE i) ST AT
¢) 3™ iii) g 9o
d) goTe iv) St aor
IRt SR

@ () (¢ (d)
1) (@Gv) (i) (i) (1)
2) (1) () (i) @[v)
3) () (i) (v) (ii)
4) (1) (i) @[v) (1)
Match the pairs (Tithi Bhojan Scheme)
‘Tithi Bhojan’ is a concept designed to ensure greater public participation under the mid day meal

program.

(I (State) (IT) (Name)

a) Rajasthan 1) Priti Bhoj

b) Maharashtra i1) Utsav Bhoj

¢) Assam 111) Sneh Bhojan

d) Punjab 1v) Sampriti Bhojan

Choose the correct pairs from the following.
@ () (¢) (@)

1) (@Gv) (@i) (1) 1)

2) (i) (1) @{i) @Gv)

3) (1 @i @Gv) (i)

4) (i) (i) @Gv) (1)

GTefierdehl PIU ARIRD aTerd A e Feid ST Helredn qiyur R aui e ?

9) 3ferhyUT R) TFAR 3) SIS o ¥) TIIAR TS
Which among the following is not the standard indices of physical growth that describe the
nutritional status of children ?

1) Anaemia 2) Stunting 3) Wasting 4) Underweight

HEHR! AR AT Udel! gl ?

9) IERT Pt BRI faqu AgRTE (NAFED)

) I HepR! fap™T "gmes (NCDC)

3) TET PIRITREIE AT 31 3fsar (NCUT)

8) TR AEDRT Pl 30T FTeHIOT BT b thewe™ (NAFCARD)
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Amid Covid Surge, the Union Health Ministry has sought the help of which cooperative
organization to provide crucial medical supplies to upgrade health-care infrastructure ?

1) National Agricultural Cooperative Marketing Federation of India (NAFED)

2) National Cooperative Development Corporation (NCDC)

3) National Cooperative Union of India (NCUI)

4) National Cooperative Agricultural and Rural Development Bank Federation (NAFCARD)

DU 3y faaRor Tumeted sifvert ga-FufRa e s’iciean RiTd-sM gz udid iy aifek
ell ST, Yeb dhefl ST, EIATeet! STTawd, aTd et ST AT e BRI ?

9) Faferes Ofepeem Ries ?) Al FAIeR ¥cid RiweH

3) gfic S faRoT uga ) et fIaRUT HoTett

In which drug distribution system are medications ordered, packed, handled, administered and
charged in multiples of single-dose units containing a pre-determined amount of drug?

1) Individual prescription system 2) Complete floor stock system
3) Unit dose dispensing method 4) Centralised distribution system

Wrefleh! DI AFRANTST PIST Tureiar hrIer ATel?
9) g gTaC 3T INSGUIRT Hed Bl ) g NPI$ SauIT Hed PR,
3) 3 AR SNoswuart o <. 8) 8 IR SfCeIhTdl STaRIeT G .

Which of the following is NOT an advantage of the coding system for materials?
1) It helps identify spurious drugs.

2) It assists in keeping records.

3) It facilitates quick identification.

4) It eliminates the chances of duplication of items.

NI HASHT ... TEUA 3flesedel ST,

9) HALE ?) QALY 3) DFLE 8) DALY
The measure of overall disease burden expressed as number of years lost due to ill health, disability,

or early death, is knownas ____
1) HALE 2) QALY 3) DFLE 4) DALY

GTefletddhl PIvT MR fSermra eneel dfdrer A ?

q) foroaa Q) fafdre 3) dadid ¥) Fafed
Which of the following is NOT an ideal characteristic of health indicators?
1) Reliable 2) Specific 3) Resilient 4) Relevant

e § 9 7T & JEURISRITO! SUYth FHE : ifedawn / 990
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93) it g Artor RAeRT AT, HRE

q9%) ITERREM Ifor fdpra

............. JSf IMET 3 FRET BT 093 (NFSA) MR a=vand sl

) 94 IAMRC 093 ) € SIMARI 093 3) 90 TR 093 ¥) IISUDI AR
National Food Security Act 2013 (NFSA) was notified on ......

1) 15" Aug. 2013 2) 26" Jan. 2013. 3) 10" Sept. 2013 4) None of the above

TERTY AR ‘IR SFeId A faRur AioMT eft go AT et g ?
q) 9]%0 IR R) A%%9 AegeR 3) 938 g’ 8) 9%%3 STHARI

When was the ‘Special Granted Public Distribution Programme’ started by government of
Maharashtra ?
1) 1990 January 2) 1991 November 3) 1992 November  4) 1993 January

RGTeAIcTUeh] PO TRATAT AL ARIGeh TR T Jedrsal rdl ey gl ?

q) PITCHE FTAISY <eh R) anfeey srfeardt Terdler w1 =R

3) STAThS PIVIE STHIF T8 o ddeR @) FRIUR 3Rfelel f&laR STV ed

Which of the following is not the eligibility criteria of the priority Ration Card by the Government
through inclusion guidelines ?

1) Any transgender person

2) All households belonging to primitive tribal groups

3) Agricultural labourers who don’t own any land

4) Household with destitute living on alms

3T JRIETICN T SToflg ehegt et ?

q) 37 g Pl FESTAT 908 T SITfD 37 GRS
Q) 31 g Pl FESTT 9R6R T SIATfD 37l IRY
3) 3T T PNl FECTAT 98¢ T ST 3 giRsed
8) 3= & Pl FecTeAT 9% T STRTfcIeh 3Fel TR

When food security issue was first time realised ?

1) In the 1974°s World Food Conference of the Food and Agriculture Organization
2) In the 1979's World Food Conference of the Food and Agriculture Organization
3) In the 1981’s World Food Conference of the Food and Agriculture Organization
4) In the 1994°s World Food Conference of the Food and Agriculture Organization

R 3T FRET BRIGI, 093 TR, HeH 30 ... R 31T,
q) SRS FeA SAOT GI§0T JR&T

R) g, SR ST SATfCERAT HIIIG TBUIRAT SAIBIATS! 3Fef FRET
3) IR PANBRI AT

) fofr e orhy

e § 9 7 & JEURISRITS! SUgh FeTug : sifegawen / 999



5)

&)

6)

7)

)

For Private Circulation Only

According to the National Food Security Act 2013, section 30 deals with
1) Advance food and nutritional security

2) Food security for people living in remote, hilly and tribal areas

3) Other Welfare Schemes

4) Power to adjudicate

Elefier U™ feRd =i :

a) TR 37 JRe IR & U bRy o 3.

b) T 371 JReM PRI MRT 000 ALY Jeo PRUAN 3ol
¢) MERT 37 JREM ST el AT IRRT Gadl aRul 377,

R o /Y e /3 sRIeR 3R/ 3Ted ?
q) S (a) 3T (b) ISR 3MTed ?) %aw (b) 3T (c) R M
3) Pde (b) IR 372 3) TRIAIH qF R MM

Consider the following statements :

a) The National Food Security Mission is a crop development scheme.
b) The National Food Security Mission was launched in August 2007.
¢) The National Food Security Mission aims at restoring soil health.
Which of the statement/s given above is/are correct ?

1) Only (a) and (b) are correct 2) Only (b) and (c) are correct
3) Only (b) is correct 4) All of the above are correct
Tefier fae™ R = ¢

a) FEATg HISH AT 9389 HE Jo e,

b) 3fFcieR 009 ALY & AISHT I HTHe auidier (af VI VIIT)) AT FHIGE aRUINIC! arefauard
3T,

Tt S

q) %h (a) IFT AR R) Weh (b) TG 318
3) Tl (a) MM (b) ARG AR 8) Qval (a) ST (b) SR 3Med

Consider the following statements :

a) Mid-day Meal Scheme was launched in 1997.

b) In October 2007, the scheme was extended to cover children in upper primary classes (class
VIto VIII).

Answer Options :

1) Only (a) 1s correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) Both (a) and (b) are incorrect

94) TewUIfdYTs Jre=T, HRidEH
RIS o HTfeepvunel ST ....... T RIGITIR el S

9) vy dt TEAGORIT PRI Q) HERTY WfRId TRIAAT S, 9%¢&&
3) YHUIGH BRIGT, 9¢RY ¥) HERTY HEFTRUTfetent IfFRM, 9]8%

TE § g 7C & JaURISNITS! Sugeh UeHg : sifegaer / 992
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Development authorities in Maharashtra are established under the provision of ......
1) 74th Constitutional Amendment Act

2) Maharashtra Regional Town Planning Act, 1966

3) Land Acquisition Act, 1894

4) Maharashtra Municipal Corporations Act, 1949

(93) 3mffep amfor faxikr €ROr - IR HEge

T aftid @ (VAT) & &l ......... AREURLT HRATT SR A3l

q) 9 A& 00¢ ?) 9 U@ Q004 3) 39 A/ R00¢ ) 9 3MRE 090
Value Added Tax (VAT) has been introduced from in India.

1) 1%t March 2008 2) 15" April 2005 3) 31t March 2008  4) 1%t August 2010

GST =1 FoaTied] SRR 3 AR X ... T e,

) 4% Q) I 3) 1% 8) 9%

Atinitial stage of GST rate was percent on food.

1) 5% 2) zero 3) 12% 4) 1%

%39 HEY .......... TN JALTLIEIST IR YR ATl TG FROTTT 3.

q) T g ?) 3G g 3) A R %) TH. RRE
The Tax Reforms Committee was constituted under the Chairmanship of in 1991.

1) Raja Chelliah 2) Abid Hussain 3)Manmohan Singh  4) M. Narasimham

Teliedeh! Do ARl T foxfia SeTeeR! 3ol sifhedld e HRIGT 003 T
IRIAAIPAIIG! HRUIT 3ATedl Bl ?

9) IR, <@l g A 093 Q) Y. IR™H A 000

3) AEER nf |l 2004 ) U. . R At 2098

Which of the following Committee was established to review the Fiscal Responsibility and Budget
Management Act, 2003 ?

1) Y. V. Reddy Committee 2013 2) C. Rangarajan Committee 2007

3) Mahaveer Tyagi Committee 2005 4) N. K. Singh Committee 2016

AR A AT PRI WISIBUD! AT FHEY ATE ?

q) xgfrer groft Q) W IS 3) WTe ¥) oftqua
Which of the following is not covered under GST ?

1) Mineral water 2) Edible oil 3) Petrol 4) Cold drinks

ST PRI ST DHRIAT ANOMRE faummoft .. gehlaR TR 318

a) ST AT ST IS & b) TSI IR ST TG

c) erfrep Jaereh Iueteydr d) JISATR Fefrar prror

PLILTECESEE

q) (a) 3T (c) Q) (a) 31T (b) 3) (a), (b) 3T (d)  ¥) (c) 37T (d)

T 9 71 & GEURISATS! Sugeh HeHIE : fegavr / 993
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The share in central taxes is distributed among states based on

a) State’s Population and State’s Area b) State’s contribution in tax yields
c¢) Availability of education facilities d) Proportion of job opportunities
Answer Options :

1) (a) and (c) 2) (a) and (b) 3) (a), (b) and (d) 4) (c) and (d)
EISICRERIERCCINR= T

a) SRRAC <o IS 09 7 aifirs Fuiferiet aTcliel |g 3R aefi @ oaet.
b) SRRACT T PIS 09 T 5T o WIS IR Je Mg qefia are] Saefh.
C) SRREC Cac PIs 09 7 SMUHR g AeffOrep R Mg A= dlef, Saal.

It SR
q) %k (a) AT 3R 3) Weh (b) AT 3T
3) Wh (c) TN 3TTR Q) et dd

Consider the following statements :

a) Direct Tax Code 2012 has continued tax exemption on Education loan.

b) Direct Tax Code 2012 has continued tax exemption on leave travel allowance.
c¢) Direct Tax Code 2012 has continued surcharge and education cess.

Which of the statement/s given above is/are correct ?

1) Only (a) is correct 2) Only (b) is correct
3) Only (c) 1s correct 4) All of the above
QTefter faem framra & ¢

a) 9 Sef 2099 URIT TR STHS! SIR] ST 3.

b) T IRBR TSI MBI TR

¢) ATt g FRBR M el

d) SIS Y ARDBR TAT e, ARDR ST BRI
Ricieht DU/t e /= AR SR /a2

I IR :
9) haes (a) AT (d) SRR TR ?) Has (b), (¢) 3T (d) SRR 3T,
3) Ha (d) SRR 3R ¥) Pass (a), (b) 3Mr(c) sRER TR

Consider the following statements :

a) GST has been implemented in India from July 1, 2017.

b) SGST, collected by the State Governments.

¢) CGST, collected by the Central Government.

d) IGST, collected by State Governments as well as Central Governments.

Which of the statement/s given above is/are correct ?

1) Only (a) and (d) are correct 2) Only (b), (c¢) and (d) are correct
3) Only (d) is correct 4) Only (a), (b) and (c) are correct

TE g 71C & JaURISNITS! Sugwh HeRig : rfegaer / 998
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ISP U e ... 3R,
a) 9¢R et b) 3&¢ fea=mdt c) 3¢9 feawmdt d) /9 feart

i IR :

) (a), (c) T (d) ) (c) 37T (d) 3) W (a) 8) eh (d)
Treasury bills have a maturity of ......

a) 182 days b) 368 days c) 364 days d) 91 days
Answer Options :

1) (a), (c) and (d) 2) (c) and (d) 3) Only (a) 4) Only (d)

IT&] ATAST+p Dol Iedid 9 Pol IRAths—§dd YA aTef — 3rT gial.

q) 3icRid wieas Mffdmed e R) Sidid wWisas Mffdme are

3) fafd Scoamed ge ) fFRIfa Sca=mMed are

In case of external public debt, a high debt service - savings ratio implies

1) Fall in domestic capital formation 2) Increase in domestic capital formation
3) ‘Fall in export earnings 4) Increase in export earnings

Bl f{UF R AR deuidis simed.

a) PRIAT JifH ST T chleRk TSdl St @hl R IR,

b) AL PRFAT AT BRIT FIST AT JATETT Tehel chi SFTHA.

¢) TS IR I Ulqesd! safdepdl .

d) e RMYT U= AegaEEd AT R,

RN YD Bl [UF @ sed 2

9) (a) AT (d) ?) (a) 3T (b) 3) (c) &mfor (d) 8) (a) 3T (c)
Following are the statements related to taxation.

a) Incidence of a tax is felt by a person who pays it.

b) In case of indirect tax, the incidence and impact are felt by the same person.
c¢) Direct taxes have high degree of elasticity.

d) There is uncertainty related to the collection from indirect tax.

Which of the above statements are true ?
1) (a) and (d) 2) (a) and (b) 3) (c) and (d) 4) (a) and (c)

TS, 30T ARG PRI, 9RRE TT Bt 9 e IRWING BeaTvHI0, '3aG IRR’ FEUNT TehRIAT
dhetel T4 fdhar BrEl foaTe daTcrds AR IRV IRR 3N fhaT S IRRIGER fdhar =ral a1 et
I Igg AN

q) Prar faarg R) Ta gRMINT PrIceliR Fder

3) uRwIfYa ey g) faia dhetet faarg

As defined under Section 7 of the Arbitration and Conciliation Act, 1996, ‘arbitration agreement’
means an agreement by the parties to submit to arbitration all or certain disputes that have arisen

or that may arise between them in respect of .............. whether contractual or not.
1) certain disputes 2) a defined legal relationship
3) defined relationship 4) contemplated disputes

e 4 g 7C & JaURISNITS! Sugeh HeRg : sfegaer / 994
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hefelT (HTHdT U Ifed) Jedid-rdl AT & ARATde Jaid o ... IR

q) faendiis wRER i IS R) heN fEneR) aTuRa SRelel! Hedihd IS
3) UTE IR GURIT 8) TR qUN gLl

The Faceless Assessment Scheme is one of the biggest ............... in India.

1) University Level Assessment Scheme 2) Assessment Scheme used by central schools
3) Direct tax reforms 4) Criminal Investigation system

AR qgih IRUFRM, 4¢RR idid USH hedl IR, BRI Pleel 3Nel oa]l, Jaidh Jedr
STSTECR RTEUR T,

q) TICTHERI TCHAT JTaedT Q) §Y

3) st 8) TG famT iferdt

As provided under the Indian Stamps Act, 1899, notwithstanding anything contained in the Act,
shall not be liable to stamp duty.

1) negotiable warehouse receipts 2) bonds

3) debentures 4) sea insurance policy

R 51 PRIGT, 9¢]Y 3R, AR DIUATE! AThIGR DTS SR STUMAT 37O ST
MU AU e ATUTaR f2repl AR STige.

9) ISSIIuHaR Q). emctsoaufiear ameft fhar Jobt

3) TaTeRIT Jot ®) T PRAT

Under the Indian Stamps Act, 1899, all instruments chargeable with duty and executed by any
person in India shall be stamped

1) after execution 2) before or at the time of execution

3) at the time of signing 4) at the time of entering into

AR 51 PIIGI, A¢]R T Wleledehl DIVT Pt icHIc Agec el I el UG hel ST ?
) P W3 R) P ¢ 3) D Y 8) e 1

Valuation in case of annuity is provided under which of the following Sections of the Indian
Stamps Act, 18997

1) Section 23 2) Section 18 3) Section 25 4) Section 21

(93) 3rKIhe

grefid faum foarma =i

a) 209¢—9R TT Pl IFRRTBIIT IR H=T AT SR PRUATT 3Tt B,

b) 99-0§-2030 URH IARLM F=T AT SeTedred SUR™ISH! mH ed (TOP) IR
clcd (TOTAL) (&9 NIRRT Hhes AT HioaT) Wid aTefavard et g,

g IR :

9) % (b) IR 3R R) TRl (a) 3T (b) SRIR MR

3) Wb (a) SRR 3R 8) QeT (a) M7 (b) b M
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Consider the following statements :

a) Operation Greens Scheme was announced in the Union Budget for 2018-19.

b) The scope of short-term measures under the operation Greens Scheme was extracted from
TOP to TOTAL (61 notified fruits and vegetables) with effect from 11-06-2020.

Answer Options :

1) Only (b) is correct 2) Both (a) and (b) are correct

3) Only (a) is correct 4) Both (a) and (b) are incorrect

HRATHS fsenTRa sriieedrd! Rt a1 Feuid géile faum foamma =

a) 2000 — 09 T IMRIP FLUMEY YRAT fsmenRd rRRiwreard TRl aRTearar a9y ey <vard
3T I,

b) fosmenRa sreiRierey T 37fRies affervur a1 FEHTT HAHF SR R TS S, 372 STkt
JFeAT STeFeRaTe! Al AT S g,

¢) ARAT 3ENve! fSaTRa sriidhedrat HihdT o PR 3! Tal.

WﬁﬂW:
9) UM (a) TP IS R) faum (b) g 3me
3) faum (c) TP o g) faum (b) 37fr (c) b amed

Consider the following statements related to status of gender budgeting in India.

a) The Economic Survey for 2000-01 made a specific reference to need for gender budgeting in
India.

b) Dr. Ashok Lahiri Committee was constituted to suggest general approach to gender budgeting
and economic classification.

c¢) The gender budget process is not yet initiated in India.

Answer Options :

1) Statement (a) is false 2) Statement (b) 1s false

3) Statement (c) is false 4) Statements (b) and (c) are false

HRA IRBRAT 020-39 T IRIFHAHL

a) AT HaT &I Earal Hego Gaidiies del Faiees 3.

b) 3N Waiaies WafaT Higae! Walkile diel qdiftd 3.

RIS P e /fAum sRIR e /d ?

) Heh AU (a) ) Beh faum (b)

3) (a) 3T (b) = SRR 3MET 8) (a) 3T (b) Qe U gh amea
In GOI Budget 2020-21 :

a) Social services expenditure accounted for the lion’s share of revenue expenditure.
b) Economic services;accounted for major share. of capital expenditure.

Which of above statements is/are correct ?

1) Only statement (a) 2) Only statement (b)

3) Both statements (a) and (b) are correct 4) Both statements (a) and (b) are wrong

e § 9 7 & JEURISRITO! SUYth FHE : sifeaawen / 990
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Qrelid faem oernd & ¢

31, ot foa erdigea ool fohar LN ol 1 SRR ISaaue T8t

§. SGRAHT G ARI0ATER HAIGH e 2Mehd Tg.

%, IoTTHT a1fies il faaromer =t 8 ord AT

RN RS Plord AT 3mg ?

9) %h 31 Q) IraMir 3) § 3ffor & ¥) Rt T4

Consider the following statement :

a. The Rajyasabha does not have the power to reject or revise the financial bill.

b. Rajyasabha can not vot on the demands of grant.

c¢. Annual financial statemen in the Rajyasabha may not be discussed.

Which of the above mentioned statement is correct ?

1) Only a 2)aand b 3)bandc 4) All above

Gletlolddh Il ITH ' 31iddhey’ SHfIuam awa 31gd ?

a) 3ISST el araR SRATa. b) 3T MR 3T,

¢) IITNT ST 3T, d) Hggell A1 Higaed! arel Tepfard

e) TP Heaes TRaray 3TATE], Fdhel Al

ggff S

q) (a), (b) 3T (c) ) (c), (d) T (e) 3) (b) 3mfoT (¢) 8) el T

Which of the following are the principles of sound budgeting ?

a) Estimates should be on a revenue basis b) Estimates should be on departmental basis

c¢) Estimating should be close d) Integration of the revenue and capital aspects

e) Budgeting should be net and not gross
Answer Options :
1) (a), (b) and (¢) 2) (c), (d) and (e) 3) (b) and (¢) 4) All above

HRAT ' PrRicer! (PRIFTIIGT) sreRidhey’ Irdt Foard Diumeal RIBRATHIR HRuATd el ?

q) TTRIPRI YR TR R) IiErT Al

3) et argaret §) RaTET w9 el wierd

The Performance budget was introduced in India on the recommendation of -

1) Administrative Reforms Commission 2) Estimate Committee

3) Appleby Report 4) Comptroller and Auditor General of India

GUTRT SIS © @] fa<iia aufear piurpiuret Afg=aiear Ueel MR JMUTRT SR ?

3) g q) ¢ ) R g) R

i IR :

9) Wh 31, §, B Q) Bh & 3) N |G ¥) IdhT ATal
Revised estimates are based on actual amounts for which month of the current financial year?
a)4 b) 8 )9 d) 12

Answer Options:

1)a, b, conly 2) c only 3) All of the above 4) None of these
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Tt fAwmTIrg TRIR ShRUIRT JUIT=IT J i Tep1eMTa Wieiietueh! Blured faeiia Heptera FHIAe 8id
el ?

q) 3RFpeUR ISRt R) HEErT AR AR 3RS i

3) IeRiplT fdeT ¥) PRIPH IISTITD

Which of the following financial publications is not included in the main financial publication to
be prepared by the Finance Department?

1) Budgetary estimates

2) Financial estimates of important business plans

3) Budget Statement

4) Program Budget

(98) AESING T

Teies FeTREel AT el ATdSIep W] Ul QU JASedl 3Med. AT STl el

e -1 gfe - 11
a) M. e i) fopracas PRIARIS T, IREVIRISG &
b) . 3= i) vemE @ Snfor AT W@
c) Y. st fResy iii) 3TIEM 3T o e
a) M. Slee iv) IUCH @Y g IIUIGD &
gt ST :

@@ () (o) (d)
1) @Gv) () @Gi) (iii)
2) () (@G (i) @[v)
3) (i) (i) @[v) (1)
4) (i) @Gv) @) @)
Match the following Economist and their ideas about types of public expenditure given below.
Unit - 1 Unit - IT

a) Prof. Robinson 1) Development Expenditure and Security Expenditure .
b) Prof. Adams i1) Administrative and Social Expenditure

c) Prof. Smt. Hicks  iii) Subsidies and purchasing value

d) Prof. Dalton 1v) Productive and Non-productive Expenditure

gift S

@@ (b) (o) (d)
D Gv) (1) G (il
2) () @) (i) (@v)
3) (i) (i) (v) ()
4) (i) Gv) () (i)
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[T T4 UBRIERI Td fdhcllal 3T JRTeAT TRl Y Wieflerdeh! DU HFIdT 3asdd RIA 7
9) HAHS® Q) fqurHE®s 3) forT ARG ) forT =it
Expenditure on a new type of service, no matter how small, will require the approval of which of

the following?
1) Cabinet 2) Legislature 3) Finance Secretary  4) Finance Minister

U™ deorT olichoidl AL SR ST et T 3RAATT ?

1) 4 ?) R0 3) 9% 8) 1
What is the maximum number of members in the Public Accounts Committee of the Legislature?
1) 15 2) 20 3) 19 4) 21

(94) oRET 3TOT SRATIRI&IOT

FEMSTST S SR I ... AT ST s STl

9) g9 ) T 3) Py ) TR AT
Payment of salary to the Accountant is debited to account,

1) Salary 2) Cash 3) Commission 4) None of these

WASUDT DT AU SRR 18l 2

q) SETHH Bl Hhed JRIITGAIET g 31T,

R) 1Y gruTes gl g diegl ST o gl

3) AT PRAMT 99N Dieed 9 T RS IR,

%) QUI 1 SRETBATET HRT AR, GRIdTees. Seerear Jfeie aRfRdidt a9 dedmr 3.

Which of the following statements is not correct ?

1) The concept of accounting is broader than book-keeping.

2) Accounting begins where book-keeping ends.

3) Accounting requires special skill and knowledge.

4) Book-keeping which is not a part of accounting, gives complete picture of the financial condition
of a business unit.

SR e T ... 3.

q) SUNTLTRT Beh THRITE AR <O,

Q) IENYETAT dieaTfast {ifg <o,

3) ST TR fiesdd /3= g gd st Arfacht <o,
¥) ST % fhar dier ava ofiie Rl mnfecht <o

The main objective of accounting is

1) To provide information about only profit of the business

2) To provide information about the loss of the business

3) To provide information about the general income and expenses of the business

4) To provide information about the profit or loss and the financial position of a business
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ARG BT 3T °IST GRS BT IRTAT ... 9d (Debit) @RUIT ITd.

q) 9L @I Q) IS @ 3) I @ ¥) dp @
A horse purchased by making cash payment shall be debited to

1) Livestocks Account 2) Goods Account

3) Cash Account 4) Bank Account

I GIRITET TR Ho WIS arad qut o,

Mo IRde fFeft

9) qreec YABME SeifdeT STar. Q) drdeg THHME eifdsT SId gl
3) AHhI-dleT YFApMed SeifdeT Sira g ¥) IR GApMed <effder Sar.
Complete the following statement using appropriate option. Secret Reserve .........

1) Appears in the Balance Sheet 2) Does not appear in Balance Sheet

3) Does not appear in Profit and Loss Account 4) Appears in the Trading A/c

Juft g <oft aTATd | Aps T dobd ST BIOTRY AUl g <ol L ot geffaedt STTard.
q) STt fafore aufelt Hefera ™Tard.

?) Sit Anlies a, =1ey a9 g Yelles asfelt it Srda.

3) Sit géies anfelt Hefera SrAdr.

8) i ek ARl aufell Weferd 3rdr.

Receipts and Payment Account shows all cash and bank receipts and payments .........
1) Related to particular accounting year 2) Related to current, past or future periods
3) Related to next accounting year 4) Related to previous accounting year only

"l TEHUIER UTRA” iG RUGFeA] TSI ... 3R FRUTC.

9) Thes W TUMSt ?) S @ Huiest 3) T i TSl 8) GaN g Jume!
The system of recording ‘dual aspect concept’ is called

1) Single Account System 2) Double Account System

3) Single Entry System 4) Double Entry System

WISIGUR PV Wi & ‘DT T HHARUIIT ALATT d1f¥ch T=hHed FHIAE b SId A8l ?
9) Joft g <oft <@ Q) SUF g &I @il 3) AW g dler @d 8) AP G

Which of the following accounts is not a part of ‘annual accounts of non-profit making

organisation"?
1) Receipts and Payment Account 2) Income and Expenditure Account
3) Profit and Loss Account 4) Cash Account

SiegT TRl ST RIS 3hod ST, dIegl d JIeHT d oI T—<ult &7 ... QA ... HeaTaR it

HA ST,

q) Py Wt — WS febwcht R) a YRR Wisde! @it — faght foelt
3) URYdf @ - SR fowct 8) ARG @I — Gl g bt

In case of dissolution of a firm, all assets and liabilities are transferred to A/c at ........ value.
1) Bank A/c — Purchased price 2) All Partner’s Capital A/c — Sales price
3) Realisation A/c — Market price 4) Realisation A/c — Book value price
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ABC fagemume, - 3fieH 3ied :

9) 90% - 0% T M V0% — 0% T

R) 90% - % TR M V0% — 0% T,

3) 90% — 0% T 3 0% - Y% .

8) 0% — % & M R0% - Y% .

In ABC analyses, the A items are :

1) 10% - 20% of items and 70% - 80% of the expenditures.
2)10% - 2% of items and 70% - 80% of the expenditures.
3)10% - 20% of items and 90% - 95% of the expenditures.
4)10% - 2% of items and 90% - 95% of the expenditures.

.............. g TP AEaTd $<ecdl gl o Mg of fhcll 3ITeX PRI g SRAVIMIGT Sugth 37Te.

1)ABC 2) VED 3) VEN 4)EOQ
____isanimportant inventory control technique that is useful in determining how much to order.
1)ABC 2) VED 3) VEN 4) EOQ

ABC fascisuma it Sofiged il 90% @ 0T 90% 3iTer SRATIT ?

DA 2)B 3)C 4)D

Which category of ABC analysis consists of approximately 70% of expenditure and 10% of
drugs?

DA 2)B 3)C 4)D

DIV ThRY 3T FIfRl FRATE ATHAfRT T SRl HaT Sichia Iara ?

9) grIHDH Q) AreAm® 3) Jeiren ) Tqfer

Which type of drug information resources do indexing and abstracting services come under?
1) Primary 2) Secondary 3) Tertiary 4) Quaternary
TRSNATS! 3lex QU AT IR U6 =0l I BIATGUIET ... TEUT.

q) IR I R) IMETEl I 3) GshAd d% g) Tcher d%

The time interval between placing the order for purchase and receipt of items is called __

1) buffer time 2) lead time 3) reorder time 4) waiting time

STRIPRT HHATITT TN TuT faieteefiver fobefl T IepHUa T el Sl Ieer wiasy fafg fef
aioft wgu fAfead axar A 2

1) 4% ) &% 3) 0% 8) 4%

An amount not less than what percentage of his gross earnings can be fixed as contribution to

provident fund by a government employee?
1) 5% 2) 6% 3) 10% 4) 12%

Yo7l HaIT aeicvaic] ITodieiaY Farared] SIaNTd] FaleT d e ?

9) 900 [&.4} ?) Q00 .47 3) soo .4} §) TeT I8l
What is the limit of travel distance outside the state for leave travel concession?
1) 100 km. 2) 200 km. 3) 400 km. 4) No limit
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T ST AT Facld RIS ISR TaRITdT iR qafer fondt e ?

9) qoo fd.Ht. ) Q00 foH. 3) goo fa.Ht. g) 9400
What is the limit of travel distance outside the state for Swagram leave travel concession?
1) 100 km. 2) 200 km. 3) 400 km. 4) 1500

TTEIT &FATcllel @dieh JIEOMH febam e aRfRrch darmd B9 ASR dhetell T FgURT ...

9) ST I ) TRYTS W ¥) AT ¥) TRATNH 9T
Allowance sanctioned in consideration of expensive living conditions or diseased conditions in a
particular areais ........

1) Leave Pay 2) House Rent Allowance

4) Honorarium 4) Locality Allowance

IRIDIT BHATIT HERIFI Dloa! SUIRT 3Feld HRUITT 3Meled] ‘HERTY G’ IS YA Sdefc Tt
Premaeft foedt s/ ?

q) I TehaT Q) QF Ui el 3) IR U Uhal  8) TR Nl S ol
What will be the duration of Maharashtra Darshan leave travel concession allowed to the

government employees to go anywhere in Maharashtra?
1) Once in a year 2) Once intwo years  3) Once in four years 4) Twice in four years

ST I febam JoTm A fAesd TTat 31eT T hHaT=ITedl feft ST ... & T fafg 9=
g

q) <P R) "RiP 3) aIfiep 8) ATHBT ATEr
Subsistence allowance is an amount of ....... paid to a Government servant who 1s not in receipt of
pay or leave pay.

1) Daily 2) Monthly 3) Yearly 4) None of these

fHgRIEaHTE Wiefleti<h! Herrar FHaeT gar ?

q) I Q) ERYRS ¥

3) S9CH ¥) TRIcTdh HIAMTE! ATel FHEY Bd Aral
Pension includes which of the following?

1) Salary 2) House Rent Allowance

3) Gratuity 4) None of the above does not include

faery o hegr SR 3 ?

a1) fao e waourdt e

g) pMmeY fhar SeegRigey fafdre are

%) erforp AT are

g I :

9) Weh 37 SRS Q) AT ISl W 3) T P NI ¥) 31 T P SIER
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When is special pay admissible?

a) Duties in the nature of special claims

b) Specific increase in work or responsibility

¢) Increase in educational qualification

Answer Options:

1) Only a is correct 2) Both a and b are correct
3) b and c are correct 4) a and c are correct

TR SRh ARTDT e fgel Fgeh! SIedoR 1 Sehiell IUN Ja fiied 2
q) FRIH! Bisal 1 yeredT FEIAvidie A 9o Hedd.

Q) Terd I9T Avfidiel FET I

3) ugren I Aufidie e adw s1ftes I aTe

8) aRICTIhT PIoTCrEr AT

What salary does a person get after his first appointment in government service?
1) Minimum pay in the time range of the post to be appointed.

2) Maximum pay in the time range of the post

3) Minimum pay plus pay increments in the time range of the post
4) None of the above

STRAEH I A SR SREHT SATele T 3TIAT 3971 UIRdeied QTRIDIY PHaTTel QUaTd AU FgfRiaere
.............. 3R FEUTCITCT.

q) BT FgRET R) WRuTg g

3) S fbe g9 MR ¥), 3rgear fgfiac

The pension given to a government employee who is injured or injured while in government
serviceis called ...............

1) Sickness Pension 2) Compensatory Pension

3) Wound or Injury Pension 4) Compassionate Pension
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